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���� ����& !��� ��� f : 〈a, b〉 → R ��A� ��"��%!��$ 01��/2��!�� !����3

 ����%!��: �� f ′ : 〈a, b〉 → R 01��/2��,

*�	��� D� f(x) = x2 (x ∈ R)& E�� %2����� f ′(x) = 2x (x ∈ R),


2 �2�G f : 〈a, b〉 → R3!�� %2�����3� F : 〈a, b〉 → R& !��� F ′ = f H

*�	��� D� f(x) = sin(x) (x ∈ R)& ���� F (x) = − cos(x) (x ∈ R) ����2�

F ′(x) = sin(x) = f(x) (x ∈ R) ��%���1%,

+� ��,�
&��� #����� ����� �� f : 〈a, b〉 → R 01��/2��,

� F : 〈a, b〉 → R ��A� ��"��%!��$ 01��/2��� �� f �������� �	

���
2���

/��� ������������ ����
�������� ��/���1�& !� F ′ = f ,

�� F 01��/2�� � ��

∫
f ��%8%2�� !�����%�6�,

∫
f ���!��� ������ ����� �3

%����� �����6�,

�� F =
∫
f 01��/2�� x !�%��� 0�%/��� 2 �2�2� F (x) =

∫
f(x)dx /���

(
∫
f)(x) ��%8%�& ��� ���� �� � � ����./ 01��/2��� I!��� ����%�� ����� �%�J

�� ��%����,

� � ����./ 01��/2�� I!��� ����%�� ����� �%J 2 ��%���!��: f : H → R

01��/2�� � ��& �!�% H ���� /�%%6��� �����.�2��,

*�	��� �� f(x) = sh(x) (x ∈ R) 01��/2�� ����2� � F (x) = ch(x) (x ∈ R)

01��/2�� ��%���.��& !��� F ′(x) = f(x)& .�� F (x) =
∫

sh(x) dx,

+� ����	� �� f, F : 〈a, b〉 → R, F ′ = f (F =
∫
f)� ��� G : 〈a, b〉 → R

����	 
� ���� ����	 
	������ �����
��� �����	������� �����	����� f �����

�� ∃ C ∈ R� ���� G(x) = F (x) + C�
�

�� �� ���
�����
������

��������	
�

�J D� G(x) = F (x) +C& ���� � 0�%�2��%�� ����� G′(x) = F ′(x) = f(x)
(x ∈ 〈a, b〉)& .�� � ��K�."�$ ��� ��� G � ����./ 01��/2��,

5J D�G =
∫
f & ����G �� � ����./ 01��/2��� f 3���& ���� G′(x) = F ′(x)

(x ∈ 〈a, b〉)& ��� ��/�/�%��� ����%& !��� [G(x)−F (x)]′ = 0 (x ∈ 〈a, b〉)&

.�� � ��A� ��"��%����.���5�� ���6%��� ��� ��� G(x)−F (x) = C (x ∈
〈a, b〉)& ���� G(x) = F (x) + C, �

-��(��!��
� D� �� f 01��/2�� 2 ��%���2�� �� ������� ��� ���� /�%3

%6�& ���� �� �%%.��� ��� ����,

#	�.�������	��/∫
1
x
dx =

{
ln(x) + C1 (x > 0)
ln(−x) + C2 (x < 0)∫

xμ dx =
xμ+1

μ+ 1
+ C (x ∈ R+, μ �= −1)∫

ax dx =
ax

ln a
+ C (x ∈ R, a > 0, a �= 1)∫

sin(x) dx = − cos(x) + C (x ∈ R)∫
cos(x) dx = sin(x) + C (x ∈ R)

∫
1

sin2(x)
dx = − ctg(x) + Ck (x ∈ ] kπ, (k + 1)π [ , k ∈ Z)∫

1
cos2(x)

dx = tg(x) + Ck (x ∈ ] kπ − π

2
, kπ +

π

2
[ , k ∈ Z)

∫
1√

1 − x2
dx = arcsin(x) + C (x ∈ ] − 1, 1 [ )∫

1
1 + x2

dx = arctg(x) + C (x ∈ R)∫
sh(x) dx = ch(x) + C (x ∈ R)∫
ch(x) dx = sh(x) + C (x ∈ R)



�� �������� ��������� ������
����� ���
���� ��

∫
1√

x2 + 1
dx = arsh(x) + C = ln(x+

√
x2 + 1) + C (x ∈ R)∫

1√
x2 − 1

dx = arch(x) + C = ln(x+
√
x2 − 1) + C (x ∈ ] 1,∞ [ )

∫ ( ∞∑
n=0

anx
n

)
dx =

∞∑
n=0

an
xn+1

n+ 1
+ C (x ∈ ] − �, � [ )

0� ����	�  ����� f, g : 〈a, b〉 → R ������ ���� �
�����

∫
f 
�

∫
g� 
�

p, q ∈ R �����!������ ����	 �
�����

∫
(pf + qg) 
� C ∈ R� ����∫

[pf(x) + qg(x)] dx = p

∫
f(x) dx+ q

∫
g(x) dx+ C (x ∈ 〈a, b〉) .

��������	
� #����� F =
∫
f, G =

∫
g& ���� F ′, G′ %2���2�� �����

%2����� (pF + qG)′ ��& 2�

(pF + qG)′(x) = pF ′(x) + qG′(x) = pf(x) + qg(x) (x ∈ 〈a, b〉) ,

��� ��� ��%����& !��� %2�����

∫
(pf(x)+qg(x)) dx 2� = pF (x)+qG(x)+C =

p
∫
f(x) dx+ q

∫
g(x) dx+ C (x ∈ 〈a, b〉), �

*�	��� D� f(x) = x3 (x ∈ R), g(x) = cos(x) (x ∈ R)& ���� %2�����∫
x3 dx 2�

∫
cos(x) dx I%��� �%������� �%��J& .�� �2��%1�� ��� ��� %2�����∫

(2x3 + 3 cos(x))dx 2� %2����� C ∈ R& !���∫
(2x3 + 3 cos(x))dx = 2

x4

4
+ 3 sin(x) + C .

1� ����	 2.��&��	�
 �������	�
 ����	�3� �� �� f, g : 〈a, b〉 → R �����
�

���� "����	���������#�� 〈a, b〉�� 
� �
����� ∫ f ′g� ����	 �
�����

∫
fg′ ��� 
�

��� ����� C ∈ R� ����

I-J

∫
f(x)g′(x) dx = f(x)g(x) −

∫
f ′(x)g(x) dx+ C (x ∈ 〈a, b〉) .

��������	
� � 0�%�2��%�� ����� �� f · g − ∫ f ′g 01��/2�� ��A� ��"��%!��$&

2�[
f(x)g(x) −

∫
f ′(x)g(x) dx

]′
= f ′(x)g(x) + f(x)g′(x) − f ′(x)g(x) =

= f(x)g′(x) ,

� �� ���
�����
������

��� � !��� ����%�� ����� �% ��K�."�$�� ����� ��� ��%����& !��� %2�����∫
fg′ 2� ��%���1% I-J, �

*�	����

+, #����� f(x) = x, g(x) = ex (x ∈ R), f 2� g ��A� ��"��%!��$� 2�

f ′(x) = 1, g′(x) = ex (x ∈ R)& ��/�55� %2�����

∫
f ′(x)g(x) dx =

=
∫

1 · ex dx =
∫
ex dx I%��� �%������� �%��J& .�� � �2��% ����� %2�����∫

x ex dx 2� C ∈ R& !���∫
x ex dx = x ex −

∫
1 · ex dx + C = x ex − ex + C (x ∈ R) .

', #����� f(x) = ln(x), g(x) = x (x ∈ R),

f 2� g ��A� ��"��%!��$� 2� f ′(x) = 1
x , g

′(x) = 1 (x ∈ R+)&

��/�55� %2�����

∫
f ′(x)g(x) dx =

∫
1
x · xdx =

∫
1 dx (x ∈ R+) I%���

�%������� �%��J& .�� � �2��% ����� %2�����

∫
ln(x) dx =

∫
1 · ln(x) dx 2�

C ∈ R& !���∫
ln(x) dx =

∫
1 · ln(x) dx = x ln(x) −

∫
1
x
· xdx+ C =

= x ln(x) − x+ C (x ∈ R+) .

-��(��!��
� D� Pn(x) ��� n3��0��E ��%����& E�� �� �%�55� ����� �%��

� �� "��%�� ����� �%�� �2��%2/�% ���!��� ��!��$�G∫
Pn(x)ex dx ,

∫
Pn(x) sin(x) dx ,

∫
Pn(x) arcsin(x) dx ,∫

Pn(x) ln(x) dx ,
∫
Pn(x) cos(x) dx ,

∫
Pn(x) arccos(x) dx ,∫

Pn(x) sh(x) dx ,
∫
Pn(x) arctg(x) dx ,∫

Pn(x) ch(x) dx ,
∫
Pn(x) arcctg(x) dx .

4� ����	 2"�	!����

��
�
 �������	�
 ����	�3� �� f : 〈a, b〉 → R,
g : 〈c, d〉 → 〈a, b〉 �������� ���� �
����� g′ : 〈c, d〉 → R 
� �
�����

∫
f �

����	 �
�����

∫
(f ◦ g) · g′ 
� ��� ����� C ∈ R� ����

IDJ

∫
f(g(x)) ·g′(x) dx =

((∫
f

)
◦ g
)

(x)+C =
∫
f(t) dt

∣∣
t=g(x)

+C

(x ∈ 〈c, d〉)�



�� �������� ��������� ������
����� ���
���� �!

��������	
� � 0�%�2��%�� ����� %2����� [(
∫
f) ◦ g]′ 2�

[(∫
f

)
◦ g
]′

(x) = f(g(x)) · g′(x) (x ∈ 〈c, d〉),

��� 2���� ��� ��%����& !��� %2�����

∫
(f ◦ g)g′ 2� ��%���1% IDJ, �

-��(��!��
� D� I� 0�������� �E%J %2����� g−1& ���� IDJ � �8/�����:

�%��5� �� . !��$G∫
f(x) dx =

[(∫
(f ◦ g)g′

)
◦ g−1

]
(x) + C =ID′J

=
∫
f(g(t))g′(t)dt|t=g−1(x) + C

(x ∈ 〈c, d〉),

*�	����

+,

∫
2x sin(x2) dx = ?

#����� f(x) = sin(x), g(x) = x2 (x ∈ R), ���� g : R → R+ ⊂
R ��/�55� %2����� g′(x) = 2x (x ∈ R) 2�

∫
f =

∫
sin(x) dx I%���

�%������� �%��J& .�� � �2��% ����� %2�����

∫
2x sin(x2) dx 2� C ∈ R&

!���

∫
2x sin(x2) dx =

∫
sin(t) dt

∣∣
t=x2 +C = − cos(x2) + C .

',

∫
ch(2x+ 3) dx = ? (x ∈ R)

��%��!��$& !��� �� f(x) = ch(2x + 3) (x ∈ R) 01��/2����� %2�����

� ����./ 01��/2���, #����� g(t) = t−3
2 & ���� g′(t) = 1

2 & ��/�55�

%2����� g−1(x) = 2x+ 3 (x ∈ R)& .�� � ��������2� �����
∫

ch(2x+ 3) dx =
∫

ch
(

2 · t− 3
2

+ 3
)
· 1
2
dt
∣∣
t=2x+3

+C =

=
1
2

∫
ch t dt

∣∣
t=2x+3

+C =
1
2

sh(2x+ 3) + C .

�" �� ���
�����
������

4,

∫
3

x−1 dx = ? (x > 1)

#����� g(t) = t+ 1& ���� g′(t) = 1& %2����� g−1(x) = x− 1& .��∫
3

x− 1
dx =

∫
3

t+ 1 − 1
· 1 dt ∣∣

t=x−1
+C =

= 3
∫

1
t
dt
∣∣
t=x−1

+C = 3 ln(x− 1) + C .

9,

∫
5

x2+2x+2 dx = ?

#����� g(t) = t− 1& ���� g′(t) = 1& %2����� g−1(x) = x+ 1& .��∫
5

x2 + 2x+ 2
dx =

∫
5

(x + 1)2 + 1
dx =

= 5
∫

1
t2 + 1

· 1 dt ∣∣
t=x+1

+C = 5 arctg(x+ 1) + C .

-��(��!��
���

+,

∫ √
1 − x2 dx ����2� � g(t) = sin(t) (t ∈ ] − π

2 ,
π
2 [ ) &

',

∫
R(sin(x), cos(x)) dx ����2� I�!�% R(u, v)  �"����%�� ��0����2�� u, v3

��� 2� x ∈ ] − π, π [ J �

g(t) = 2 arctg t (t ∈ R) (�%%, tg
x

2
= t = g−1(x) (x ∈ ] − π, π [ ) ,

4,
∫
R

(
x, n

√
ax+ b

cx+ d

)
dx ����2� �

t = n

√
ax+ b

cx+ d
= g−1(x), g(t) =

dtn − b

a− ctn
,

9,

∫
R(x,

√
ax2 + bx+ c) dx ����2� �� �6%� 302%� I/��� � �������� ��6�

IsinJ& �%%��/� !��� 5�%��6�� Ish, chJ 01��/2����J

!�%������.�2����� �%��%����6�,

$�&����	�
 ����� �����!�� �������	�
��

� �� "��%�� �8 ��� � 5����� �2��%� ��� ��� ������ Pn(x)
Qm(x)  �"����%��

�8 �01��/2�� ���2 ��%�;�� �%:�%% ��� ��%���� 2�

a

(x− b)j
,

px+ q

(x2 + rx+ s)k
(j, k ∈ N+, r

2 − 4s < 0)

�%��E �8 ��� 5������� I��� ���  2��%�������J 8�������2��& �!�% (x− b)j 2�

(x2+rx+s)k �Qm(x) ����$�, L��

∫ Pn(x)
Qm(x) ���!��� ����� /�����/����!��:



 � � ��
����#���
�������$��� ������� ��

�� ∫
a

(x − b)j
dx 2�

∫
px+ q

(x2 + rx + s)k
dx

���!��� ����� �,

-��(��!��
���

+, �� 6�$55� �2� ����� �%�.�6�� ����� %���� /�����%�6� I�� �%�: ����%2��

������% %��!��$J,

', � 9, �2��% 6���� 'J& 4J& 9J �2%��� ����2� �� ����� �%��  �"����%��

�8 �01��/2�� ����� �%��� � /����!��: /�����,

4, 
�/�55� E�,  �"����%���%$ !�%������.�2��� �� /�����%!��$� I�2%��6%∫
R(ex) dx& 5���� ����� �%��J,

�� � ����������������������� 
������

�%:��8 ��� 0�%������ 5��6����6� � 0������ ".�25�� ��%���� 0���%��&

� �������3����� �% !���� 2� I������ ���
M

�� ��%���MJ,

D��� ���6� ��� �� f(x) = x2 (x ∈ [0, 1]) 01��/2�� � �0��& �� x3

�����%� [0, 1] �������� 2� �� x = 1 �����%��; ������� �%��% !��� �%� �.�3

���� �� 1%��2�,

� �� ����� T �� 1%���� �� %���� �8�2 ��� .��6�, �!!�� ����6� 0�% �

[0, 1] ���� /�%%6��� � 0 = x0 < x1 < x2 < . . . < xn−1 < xn = 1

��������������%, T 0�%�: 5�"�%2�2� E�� ����6�& !� �� [xi−1, xi] ������� �

f(xi) = x2
i ��������E �2�%�%���� ���%1�� Ii = 1, . . . , nJ 2� /����1� ����

�� 1%�������

S =
n∑

i=1

x2
i · (xi − xi−1)

8�����2�, ���%/�� T ≤ S& �� � � 01��/2�� ����� E ������� �8/����2��

����� x2 ≤ x2
i ��%���1% �� [xi−1, xi] ���� /�%%6���& .�� � ������ �2�%�%����

5�0���� � /�����%� �.�������& ��2 � �� 1%��1� 8������ %���%�55 T ,

D����%$ �����%������� ����& !��� !� �� [xi−1, xi] ������� �

f(xi−1) = x2
i−1 ��������E �2�%�%���� ���%1�� Ii = 1, . . . , nJ& ���� ��

.�� ������ �2�%�%���� �� 1%�������

s =
n∑

i=1

x2
i−1 · (xi − xi−1)

�� �� ���
�����
������

8�����2 � s ≤ T ��%���1%& �� � ������ �2�%�%�� � T �� 1%��; �.�����  2���

2� ��� ��E%��� ������5�,

xx

yy

00 11 x1x1 x2x2

D� �� �������������� xi = i
n (i = 0, . . . , n) �$��� /�%�����6�& E��

S =
n∑

i=1

(
i

n

)2 1
n

=
1
n3

(12 + · · · + n2) =
n(n+ 1)(2n+ 1)

6n3
=

=
2n2 + 3n+ 1

6n2
,

s =
n∑

i=1

(
i− 1
n

)2 1
n

=
1
n3

(12 + · · · + (n− 1)2) =
(n− 1)n(2n− 1)

6n3
=

=
2n2 − 3n+ 1

6n2
,

.��

2n2 − 3n+ 1
6n2

≤ T ≤ 2n2 + 3n+ 1
6n2

,

��� �$% ����%!��: 5�"�%2�� �� T 3 �& �:�

2n2 − 3n+ 1
6n2

→ 1
3

2�

2n2 + 3n+ 1
6n2

→ 1
3

����� � 5�"�%2�� �����:%���� ���������E��� �� ������!���1�& ����% � �83

/��������2���%& !��� � �� ����� �� 1%�� T = 1
3 ,

-� ��� �����5$% "��� ���� ��6���!������ ���& !� �� ��� "���

���"��%��& !���� �����:%���� 0�%������ I0�%�������� ����J ����2� �� ��$���,



 � � ��
����#���
�������$��� ������� ��

� �$���� !�����%!��$ �%��%�����55�� ��� f : [a, b] → R 0�%������

I/��� "��� �� %����J 2� ��������./ 01��/2�� �8 52��& �� [a, b] �������&

�� x = a 2� �� x = b ��������� �%��% !��� �%� �.����� �� 1%��2��� �8��3

%.�2�2 �& ����%�� ������ �������� � ��,

x

y

0 ba

D� �2� ��� ��� �����1� 0�%& !��� f ��������./& E�� �%�6�6�� � �������

��/2/�% 02���%���� ����� �% 0���%��!��& ��%���� ������ ���
M

�� ��%��M

�2%��6% ��������./ 0�%������ 01��/2���� � 2���� � �8 5� �%���� �.�����

�� 1%��� %���,

#����� [a, b] ⊂ R �� � ���� /�%%6�, � ��/�55���5�� f : [a, b] → R

�.�6�E �� %���� 01��/2������% 0��%�%���6��,

+� ��,�
&��� �

P = {xi | a = x0 < x1 < · · · < xi < · · · < xn = b} ⊂ [a, b]

!�%���� �� [a, b] ����������� �

 �������������& �� xi �������� �

��������� ����������������& �� [xi−1, xi] (i = 1, . . . , n) ���� /�%%6�����

� ��������� ��������������������& �.� Δxi = xi − xi−1 ��%%��� �
‖P‖ .= sup{Δxi | i = 1, . . . , n}

������ � ��������� ������
���� ��/���1�,

0� ��,�
&��� #����� P1 2� P2 [a, b] �2� 0�%�������, P2 ��������� I��3

/�55�������J � P1 0�%���������& !� P1 ⊂ P2, � P
.= P1 ∪ P2 !�%���� �

P1 2� P2 �����.�2�2��� ��/���1�,

1� ��,�
&��� � 〈Pk〉 �������� ����������������� [a, b]3���& !�

lim
k→∞

‖Pk‖ = = 0 ��%���1%,

�% �� ���
�����
������

4� ��,�
&��� #����� f : [a, b] → R �� %���� 01��/2��& P ��� 0�%�������

[a, b]3���,

Mi
.= sup

x∈[xi−1,xi]

f(x), mi
.= inf

x∈[xi−1,xi]
f(x) (Mi,mi ∃ 2� ∈ R)

5� ��,�
&��� #����� f : [a, b] → R �� %���� 01��/2��& P ��� 0�%�������

[a, b]3���, ��

s(f, P ) =
n∑

i=1

miΔxi,

S(f, P ) =
n∑

i=1

MiΔxi,

O(f, P ) =
n∑

i=1

(Mi −mi)Δxi

�������� �� f 01��/2�� P 0�%������!�� �� ���$ ����& �����& �%%��/� ����

��������� �����
2���& �.� ti ∈ [xi−1, xi] ����2� �

σ(f, P ) =
n∑

i=1

f(ti)Δxi

������ �� f 01��/2�� P 0�%������!�� 2� t1, . . . , tn3!�� �� ���$ ����
����

�������� �����
2��� ��/���1�, I����
M

������ ��%���M 5�������
M

�� 1%�3

���M,J

+� ����	� �� f : [a, b] → R ��	����� �����
��� ����	

�� $�	���� P 
� σ(f, P )�	�% s(f, P ) ≤ σ(f, P ) ≤ S(f, P );

$� $�	���� P1 ⊂ P2�	�% s(f, P1) ≤ s(f, P2), S(f, P2) ≤ S(f, P1);

�� $�	���� P1, P2�	�% s(f, P1) ≤ S(f, P2).

��������	
�

�J D� P = {x0, x1, . . . , xn}, ti ∈ [xi−1, xi] �����:%����& ���� 

mi ≤ f(ti) ≤Mi& ��%�5:% Δxi > 0 �����

miΔxi ≤ f(ti)Δxi ≤MiΔxi (i = 1, . . . , n),

�%%��/� 8������2���%

n∑
i=1

miΔxi ≤
n∑

i=1

f(ti)Δxi ≤
n∑

i=1

MiΔxi



 � � ��
����#���
�������$��� ������� ��

�8/�������& ��� �� �%%.���,

5J #����� P1 = {x0, . . . , xn}, P2 = {y0, . . . , ym}, P1 ⊂ P2& ���� 5� 3

��%� [xi−1, xi]3 � %2����� j, k& !���

[xi−1, xi] = [yj−1, yj] ∪ · · · ∪ [yk−1, yk] (xi−1 = yj−1, xi = yk).

D� m(1)
i � P1, m

(2)
i � P23!8� �� ���$ ��K�6���& ���� 

m
(1)
i ≤ m

(2)
j , . . . ,m

(2)
k & 2� .��

m
(1)
i Δxi = m

(1)
i Δyj + · · · +m

(1)
i Δyk ≤

≤ m
(2)
j Δyj + · · · +m

(2)
k Δyk

��$��� 5� ��%� i = 1, . . . , n3 �& ���5:% 8������2� 6��� �8� 5J �%�:

0�%�, � ������� !����%$�� �8/�������,

"J D� P1, P2 �����:%���� 0�%��������& ���� P1, P2 ⊂ P1 ∪ P2& .�� �J 2�

5J �����

s(f, P1) ≤ s(f, P1 ∪ P2) ≤ S(f, P1 ∪ P2) ≤ S(f, P2) ,

��� ���� �� �%%.����, �

6� ��,�
&��� #����� f : [a, b] → R �� %���� 01��/2��, ��

�



=
b∫

a

f
.= sup

P
{s(f, P )}, Ī =

b∫
a

f
.= inf

P
{S(f, P )}

�������� �� f 01��/2�� [a, b] 0�%���� ����& �%%��/� ����� ��� ��!�����
�

�������� ��/���1�,

0� ����	�  ����� f : [a, b] → R ��	����� �����
��� ����	 �



, Ī ∈ R 
� �



≤ Ī

���������

��������	
� �� +, �2��% "J  2��� ����� 5� ��%� P13 � s(f, P1) ≤ S(f, P )

5� ��%� P ����2�& .�� %2����� Ī ∈ R ��/�55� s(f, P1) ≤ Ī& ��� ����& !���

%2����� �



∈ R 2� �



≤ Ī, �

7����������!� &�	���� P �	� s(f, P ) ≤ �



≤ Ī ≤ S(f, P )� ��� �"���

���� 0 ≤ Ī − �



≤ O(f, P )�

 � �� ���
�����
������

*�	����

+, D� f(x) = c (x ∈ [a, b])& ���� �



= Ī& �� � [a, b] 5� ��%� P 0�%�����3

�� � mi = Mi = c& .�� s(f, P ) = S(f, P ) =
n∑

i=1

cΔxi = x
n∑

i=1

Δxi =

c(b− a)& ��!�� �



= Ī = c(b− a),

', #2����� f & !��� �



�= Ī, #�����
f(x) =

{
1 & !� x ∈ [a, b] ∩ Q,

0 & !� x ∈ [a, b] \ ([a, b] ∩ Q),

I���� � �� �"!%��302%� 01��/2�� %���;�.�2�� �� [a, b] ���� /�%%6� �J, #�3

���� P �����:%���� 0�%������� [a, b]3���, ���� ����& !��� 5� ��%� �2�

/�%$� ���� �8�8�� /��  �"����%�� 2� �  �"����%�� ���� ��& .��

mi = 0, Mi = 1 � 0�%������ 5� ��%� ���� /�%%6���& ��� ����& !���

s(f, P ) =
n∑

i=1

0 · Δxi = 0 , S(f, P ) =
n∑

i=1

1 · Δxi = b− a ,

.�� �



= 0 �= b− a = Ī,

8� ��,�
&��� �� f : [a, b] → R �� %���� 01��/2�� "�����������
����

���� [a, b]3�& !� �



= Ī, ��� � �8�8� 2 �2��� �� f [a, b] 0�%���� "�������

����
�������� ��/���1�& 2�  � �� I,
b∫
a

f /���

b∫
a

f(x) dx ��%8%2�� !�����%3

�6�, D� [c, d] ⊂ [a, b] 2� f [c, d]3 � /�%$ %���;�.�2�� �������3����� �%!��$

[c, d]3�& ���� ��� �����6�& !��� f �������3����� �%!��$ [c, d]3�,

d∫
c

f ��

f : [a, b] → R 01��/2�� �������3����� �%��� ��%8%� [c, d]3�, D� f |[c,d] = g&

���� 

d∫
c

f
.=

d∫
c

g,

-��(��!��
���

+, �� �%:55� �2%��� �6������& !��� �� f(x) = c (x ∈ [a, b]) 01��/2��

�������3����� �%!��$ 2�

b∫
a

c dx = c(b− a)& �.� � �� �"!%��302%� 01��3

/2�� ��� �������3����� �%!��$ [a, b]3�,



"� � ��
����#���
�������$��� �������&���  �

', D� f : [a, b] → R �� %����& ��������./ 2� �������3����� �%!��$ 01��3

/2��& ���� ��

b∫
a

f ���� If �������3����� �%�� [a, b]3�J ������ ���

�� ��%�� %����� �� f � �0�� �%���� �.����� �� 1%���,

�� � ��� �!"��
��� 
� #$	��#���
����

� 0�%�: 2� �%�$ 8������� ���0����
M

!��� 2 �2�M �6%���������� �6�����

�� �%�55� � ���2��,

+� ����	 2'�����9�����	3� �� f : [a, b] → R ��	����� �����
��� ����	

$�	���� ε���� �
����� δ(ε) > 0� ���� [a, b] $�	���� P ����������	�� ����	�

‖P‖ < δ(ε)

I�J S(f, P ) − Ī < ε 
� �



− s(f, P ) < ε

���������

0� ����	 2# '�����9�����	 �����������!�3� �� f : [a, b] → R ��	�

����� �����
��� ����	

�� [a, b] $�	���� 〈Pk〉 ��	����� �����������	�����	� �
�����

lim
k→∞

s(f, Pk) = �



, lim
k→∞

S(f, Pk) = Ī , 
� lim
k→∞

O(f, Pk) = Ī − �



;

$� [a, b] $�	���� 〈Pk〉 ��	����� �����������	�����	� �
����� 〈σ1(f, Pk)〉 
�

〈σ2(f, Pk)〉 �����	���'�����! '�������	����� ����

�
����� lim
k→∞

σ1(f, Pk) = �



������� lim
k→∞

σ2(f, Pk) = Ī .

-��(��!��
� �



2� Ī ��!�� ���!��� ��!��$ ��� ���"��%�� �� ��%�� 0�%3

�������� ����!�� �� ���$ 〈s(f, Pk)〉& �%%��/� 〈S(f, Pk)〉 �� ���� !��� 2 �23

���2��, ��2 � �2%��6% � �� /�����%� f(x) = x2 (x ∈ [0, 1]) 01��/2�� �

�



= Ī = 1
3 & .�� �� �������3����� �%!��$,

%� � ����������������������� #���
��!��� 
�

������&' 
���
�����

+� ����	� (� f : [a, b] → R ��	����� �����
�� ����	 
� ���� ����	 )���

����������	�����# [a, b]��� �� �
����� I ∈ R ���� $�	���� ε > 0���� �
���

���

  �� ���
�����
������

δ(ε) > 0� ���� $�	���� ����� P ����������	� [a, b]����� ����	�

‖P‖ < δ(ε), |σ(f, P ) − I| < ε �������� $�	���� σ(f, P )�	��

0� ����	� (� f : [a, b] → R ��	����� �����
�� ����	 
� ���� ����	 )���

����������	�����# [a, b]��� �� [a, b] $�	���� 〈Pk〉 ��	����� ������������

	������� ��	���# $�	���� σ(f, Pk) �����	���'�����! '�������	���� �����	�

�����

1� ����	 2$����������������3� (� f : [a, b] → R ��	����� �����
��

����	 
� ���� ����	 )������������	�����# [a, b]��� �� $�	���� ε > 0

����
� �
����� P ���������� [a, b]����� ����

O(f, P ) = S(f, P ) − s(f, P ) < ε .

��������	
�

�J #����� f �������3����� �%!��$& ���� �



= Ī = I 2� ε > 0 �����, �

�� 5�673�2��% �����

ε

2

3!8� ∃ δ(ε) > 0& !��� !� P �%��� 0�%�������

[a, b]3���&��%� � ‖P‖ < δ(
ε

2
)& ���� 

I − s(f, P ) <
ε

2

2� S(f, P ) − I <
ε

2
,

��� ����& !��� O(f, P ) = S(f, P ) − s(f, P ) < ε,

5J 
���1� 0�%& !��� ∀ ε > 03 � ∃ P & !��� O(f, P ) = S(f, P )−s(f, P ) <
ε, ���� 0 ≤ Ī − �




≤ S(f, P )− s(f, P ) = O(f, P ) < ε ����� �8/����3

���& !��� �



= Ī& ���� f �������3����� �%!��$, �

4� ����	� (� f : [a, b] → R ��	����� �����
�� ����	 
� ���� ����	

)������������	�����# [a, b]��� �� �� [a, b] $�	���� 〈Pk〉 ��	����� �������

�����	����� ����
� 〈O(f, Pk)〉 �*����	�����

5� ����	� f : [a, b] → R ��������� �����
�� )������������	�����#�

��������	
� �� ��%� P 3 � Ī − �



≤ O(f, P )& .�� �%2� ����6�����& !���

5� ��%� ε > 03!�� %2����� P 0�%������� [a, b]3���& !��� O(f, P ) < ε I�� �

���� �



= ĪJG f 0�%���������� ���� �����%���� 0�%����������� [a, b]3�& .��

ε
b−a 3!�� %2����� δ(ε) > 0& !��� ∀ x′, x′′ ∈ [a, b], |x′ − x′′| < δ(ε) ����2�

|f(x′) − f(x′′)| < ε

b− a
.



"� � ��
����#���
�������$��� �������&���  !

#����� P �%���& !��� ‖P‖ < δ(ε)& ���� 

Ī − �



≤ O(f, P ) =
n∑

i=1

(Mi −mi)Δxi =
n∑

i=1

(f(x′i) − f(x′′i ))Δxi < ε .

I��� 0�%!�����%�6�& !��� f 0�%���������� ����� ∃ x′i, x′′i ∈ [xi−1, xi]& !���

Mi = f(x′i), mi = f(x′′i ),J �

6� ����	� +�� f : [a, b] → R ������� �����
�� )������������	�����#�

��������	
�

�J D� f(a) = f(b) =⇒ f(x) ≡ C =⇒ �� �%%.��� ����,

5J D� f(a) �= f(b)& ���� ∀ ε > 0 ����2� �%��� P 3 �& !��� ‖P‖ <
ε

f(b) − f(a)

I0�%!�����%/� �2%��6% ������� �8/��/: f 01��/2�� ���3

�2�& !��� mi = f(xi−1), Mi = f(xi)J ����6�& !���

Ī − �



≤ O(f, P ) =
n∑

i=1

(Mi −mi)Δxi =
n∑

i=1

[f(xi) − f(xi−1)]Δxi <

<
ε

f(b) − f(a)

n∑
i=1

[f(xi) − f(xi−1)] = ε ,

��� ����& !��� �



= Ī ���� f �������3����� �%!��$, �

*�	��� 
������1� �� f(x) = [x], x ∈ [−1, 2] 01��/2��� I�� ��2�� 2��

01��/2�� %���;�.�2�2� � [−1, 2] ���� /�%%6� �J, �� ������� �8/����:&

.�� �2��%1�� ����� �������3����� �%!��$ [−1, 2]3�& �� ��� 0�%������J,

8� ����	� �� f : [a, b] → R )������������	�����# [a, b]��� [c, d] ⊂ [a, b]�

����	 f )������������	�����# [c, d]�� ���

:� ����	 2�� �������	 �������		�� ��	���� ����������
�3�

 ����� f : [a, b] → R, c ∈ ] a, b [ , f )������������	�����# [a, c]�� 
�

[c, b]��� ����	 f )������������	�����# [a, b]�� ��� 
�

b∫
a

f =

c∫
a

f +

b∫
c

f .

 " �� ���
�����
������

7����������!�  ����� f : [a, b] → R 
� P = {a = a0, a1, . . . , an = b}

��� ���������� [a, b]����� �� f )������������	�����# $�	���� [ai−1, ai]

����	����*���� ����	 )������������	�����# [a, b]�� 
�

b∫
a

f(x) dx =
n∑

i=1

ai∫
ai−1

f(x) dx

��������	
� � >, �2��% 0�%!�����%���/�% 2� ��%��� ���6�"�$/�% ������% ���3

�6� �� �%%.����, �

;� ����	 2<���
�������������3� (� f : [a, b] → R ��	����� �����
��

����	 
� ���� ����	 )������������	�����#� �� ���  �$���*� ���	��� �*���

�
	�
�, �������#� ���������� ���������� �H ⊂ R  �$���*� ���	��� �*���

�
	�
�,� �� $�	���� ε > 0���� �
����� { ] an, bn [ | n ∈ N} ����	����*��

	��"���	� ���� H ⊂
∞⋃

n=1
] an, bn [ 
�

∞∑
n=1

(bn − an) < ε��

-��(��!��
���

+, D� f : [a, b] → R 0�%������& E�� �� ), �2��% ����� �������3����� �%!�3

�$& ���� �



= Ī, �� [a, b] ���� /�%%6� �����%:  2���� � �������/�%

��� � 〈Pk〉 �� ��%�� 0�%�������� ����& �� � ‖Pk‖ =
b− a

k
→ 0, L�� �

�� 5�673�2��% �8/������2��� �����G

lim
k→∞

s(f, Pk) = �



= Ī = lim
k→∞

S(f, Pk) ,

��2 � � �8�2�����%�5�� ����� ����� �% ��K�."�$ � �������3����� �%%�%

��������: � ���2��� ��,

', 
2��%���� �%����� ��� �������3����� �%!��$ 01��/2�� �������3�����3

 �%��� 5� ��%� 〈Pk〉 �� ��%�� 0�%�������� ����!�� �� ���$ 〈s(f, Pk)〉&

〈S(f, Pk)〉, /��� 〈σ(f, Pk)〉 �� ���� !��� 2 �2�� �������,



�� � ��
����#���
���� �'�
�
�� �&��	(�������  �

(� � ���������������� �)	����� �!��*&�������

+� ����	� �� f, g : [a, b] → R )������������	�����#�� p, q ∈ R� ����	 �

(p · f + q · g) : [a, b] → R �����
�� �� )������������	�����# 
�

b∫
a

(p · f + q · g) = p ·
b∫

a

f + q ·
b∫

a

g

��������	
� [a, b] 5� ��%� 〈Pk〉 �� ��%�� 0�%�������� ����� �

σ(p · f + q · g, Pk) = p · σ(f, Pk) + q · σ(g, Pk) ,

��� f 2� g �������3����� �%!��$���� 2� � �������3����� �%!��$��� � �3

�2 �6�� I��,9,', �2��%J ����� ���� �� �%%.����, �

-��(��!��
� � �2��%5:% ��%��� ���6�"�$/�% �8/�������& !��� !� ��

fi : [a, b] → R 01��/2���� �������3����� �%!��$� 2� λi ∈ R

(i = 1, . . . , n)& ���� �

n∑
i=1

λifi 01��/2�� �� �������3����� �%!��$ 2�

b∫
a

n∑
i=1

λifi =
n∑

i=1

λi

b∫
a

fi .

0� ����	� �� f : [a, b] → R )������������	�����#� ����	 f2 ��� ����$$�

�� �
����� c > 0� ���� |f(x)| ≥ c $�	���� x ∈ [a, b]� ����	

1
f

�� )�������

�����	�����#�

1� ����	� �� �� f, g : [a, b] → R �����
���� )������������	�����#��

����	 f ·g ��� ����$$� �� �
����� c > 0� ���� |g(x)| > c $�	���� x ∈ [a, b]�

	�� ��� f
g �� )������������	�����#�

��������	
� ��

f · g =
1
4
[(f + g)2 − (f − g)2] 2�

f

g
= f · 1

g

�����%:�2��� N �� �%�: �2� �2��% 0�%!�����%���/�% N ���%/��/�%$�� ����� ��

�%%.����, �

 � �� ���
�����
������

-��(��!��
���

+, � 4, �2��% ��%��� ���6�"�$/�% ����& !��� /2��� ��� �������3����� �%3

!��$ 01��/2�� ��� ���� �� �������3����� �%!��$,

', �������3����� �%!��$ 01��/2���� ������."�$�� �%��%�5�� ��� ���3

����3����� �%!��$,

4, #����� f : [a, b] → R, g : [c, d] → R 2� Rf ⊂ [c, d], D� f �������3

����� �%!��$ 2� g 0�%������& ���� g ◦ f �������3����� �%!��$,

4� ����	� �� f : [a, b] → R )������������	�����# �����
��� ����	 |f | ��

)������������	�����#�

+� ,�����'�����
��#� #$�
-
��
#�
����#

������������������

+� ����	�  ������� f, g : [a, b] → R )������������	�����#� 
� f ≤ g�

����	

b∫
a

f ≤
b∫

a

g�

��������	
� #����� 〈Pk〉 �����:%���� �� ��%�� 0�%�������� ����� [a, b]3���&

tki ∈ [xk
i−1, x

k
i ] �����:%����& ���� f(tki ) ≤ g(tki ) ����� σ(f, Pk) ≤ σ(g, Pk)&

��� ���� �� �%%.����, �
-��(��!��
� D� f, g : [a, b] → R �� %���� 01��/2���� 2� f ≤ g& ���� 

b∫
a

f ≤
b∫

a

g 2�

b∫
a

f ≤
b∫

a

g .

0� ����	�  ����� f : [a, b] → R )������������	�����#� ����	∣∣∣∣∣∣
b∫

a

f

∣∣∣∣∣∣ ≤
b∫

a

|f | .

��������	
� |f | �� ),9, �2��% ����� �������3����� �%!��$& .�� � −|f | ≤
f ≤ |f | �����%:�%���2�5:% �� +, �2��% ����� − ∫ |f | ≤ ∫ f ≤ ∫ |f |& ���

���� �� �%%.����, �



�� 
��
��)��
����
�� �*
����������
�
� ��
����#���
������ �

1� ����	 2����.���������	3�  ������� f, g : [a, b] → R )�������������

	�����#�� ����$$�

m ≤ f(x) ≤M , 0 ≤ g(x) (x ∈ [a, b]),

����	

m ·
b∫

a

g ≤
b∫

a

f · g ≤M ·
b∫

a

g .

��������	
� m · g, f · g, M · g �������3����� �%!��$� 2�

m · g ≤ f · g ≤M · g

[a, b]3�& ��%�5:% �� +, �2��% ����� �8� �� �%%.���, �

7����������!���

+, #����� f : [a, b] → R �������3����� �%!��$& m ≤ f ≤M & ���� 

m ≤ 1
b− a

b∫
a

f ≤M .

��������	
� � 4, �2��%5:% g(x) = 1 /�%��������% ����6� �� �%%.����,

', D� f : [a, b] → R 0�%������ 01��/2��& ���� %2����� c ∈ [a, b]& !���
f(c) =

1
b− a

b∫
a

f .

��������	
� f 0�%���������������m = inf f([a, b]), M = sup f([a, b])

01��/2��2 �2���& �� +, �8/������2�� �����

1
b− a

b∫
a

f ∈ [m,M ]& .��

��%���� ��� �2��%� ����� %2����� c& !��� f(c) =
1

b− a

b∫
a

f & ���� 5���3

��.���� ��%%���,

 % �� ���
�����
������

.� �� ��������� ���� � 
���' ����� 
���	
���

+� ��,�
&��� #����� f : [a, b] → R �������3����� �%!��$& ���� 

a∫
a

f
.= 0,

a∫
b

.= −
b∫

a

0� ��,�
&��� #����� f : [a, b] → R �������3����� �%!��$& ���� ��

I�3@J F : [a, b] → R, F (x) .=

x∫
a

f(t)dt

��� ��� ��K���%� F 01��/2��� f ����
��������& ���� � ����� �����

�	

���
���� ��/���1�, ��� ������ ���	������� �	

���
���& /���

f ����
����	

���
2��� �� ��/����,

+� ����	�  ����� f : [a, b] → R )������������	�����#� ����	 F �f ������

	����� ���� � ����! ����	 �����
���� ��������� [a, b]���

0� ����	�  ����� f : [a, b] → R )������������	�����# 
� ��������� ��

x ∈ [a, b] 
���$��� ����	 �� F �f �����	����� ���� � ����! ����	 �����
����

"�-�	���������# x�$��� 
� F ′(x) = f(x)� �.����� �� f $�	���� x ∈ [a, b]�

$�� ���������� ��� F ��� 
	������ �����
��� f ������

��������	
� #����� ε > 0 �����:%����& ���� f x35�%� 0�%���������� �����

%2����� δ(ε) > 0& !���

∀ t ∈ [a, b], |t− x| < δ(ε) =⇒ |f(t) − f(x)| < ε .

#����� h �%���& !��� x + h ∈ [a, b] 2� |h| < δ(ε)& ���� N 0�%!�����%/�&

!���

x+h∫
x

f(x)dt = hf(x) N �8�G



%� � �
+���#�
�,��
 ����&��  �

∣∣∣∣F (x+ h) − F (x)
h

− f(x)
∣∣∣∣ =
∣∣∣∣∣∣
1
h

⎛
⎝ x+h∫

a

f(t)dt−
x∫

a

f(t)dt−
x+h∫
x

f(x)dt

⎞
⎠
∣∣∣∣∣∣ =

=

∣∣∣∣∣∣
1
h

⎛
⎝ x+h∫

x

f(t)dt−
x+h∫
x

f(x)dt

⎞
⎠
∣∣∣∣∣∣ =
∣∣∣∣∣∣
1
h

x+h∫
x

(f(t) − f(x))dt

∣∣∣∣∣∣ ≤

≤ 1
|h| sign(h)

x+h∫
x

|f(t) − f(x)|dt < 1
h

x+h∫
x

εdt =
1
h
hε = ε ,

��� ��� ��%����& !��� %2�����

F ′(x) = lim
h→0

F (x+ h) − F (x)
h

2� = f(x) ,

���� 5�����.���� ��%%���, D� f : [a, b] → R 0�%������& E�� �� ���� 5� ��%�

x ∈ [a, b] ����2�& ���� F ′(x) = f(x) (x ∈ [a, b])& ��!�� F ��� � ����./

01��/2��� f 3���,


�!�� ������ I���� /�%%6��� 2 ��%������J 0�%������ 01��/2�����

/�� � ����./ 01��/2���, �

/� � 0�1����2�� ��� 
���!��

����	 2)�=����<������ �����	�3�  ����� f, F : [a, b] → R ������

���� f )������������	�����#� F ��������� [a, b]�� 
� "�-�	���������#

] a, b [ ��� ����$$� F ′(x) = f(x) (x ∈ ] a, b [ )� ����	

b∫
a

f = F (b) − F (a)

�(� F (b) − F (a) ������ ������ [F (x)]ba �#"�� �� ���'�����

��������	
� #����� 〈Pk〉 = 〈{xk
i | i = 0, 1, . . . , nk}〉 �����:%���� �� ��%��

0�%�������� ����� [a, b]3���, F ��%���.�� � #�� ����3�2��% 0�%�2��%��� 5� 3

��%� [xk
i−1, x

k
i ] ���� /�%%6���& .�� ∃ tki ∈ ]xk

i−1, x
k
i [ & !���

F (xk
i ) − F (xk

i−1) = F ′(tki )Δxk
i = f(tki )Δxk

i ∀ i = 0, 1, . . . , nk ����2�,

!� �� ���
�����
������

������ 8�������/� �����

F (b) − F (a) =
nk∑
i=1

(F (xk
i ) − F (xk

i−1)) =
nk∑
i=1

f(tki )Δxk
i = σ(f, Pk)

�8/������� ∀ k3 �& .�� k → ∞ ����2� If ����� �%!��$���� �����J

F (b) − F (a) = σ(f, Pk) →
b∫

a

f ,

���� F (b) − F (a) =
b∫

a

f I�� � σ(f, Pk) �������� �� ����J& 2� ��� ��%%���

5�����.����, �

-��(��!��
� D� F ��A� ��"��%!��$ [a, b]3� 2� F ′ = f & ���� F � ����./

01��/2��� f 3���& ���� F 3�� ���%/�� �� �,+, 0������5�� ���6%��� ��� ���

!��� ���6� ���& ���� �%��%���!���6� �2��%1����,

*�	����

+, C���.��� �� ��

2∫
1

[x] dx �������3����� �%� I!� %2�����J,

�� f(x) = [x], x ∈ [1, 2] 01��/2�� ������� �8/����:& ��2 � �������3

����� �%!��$, � F (x) = x, x ∈ [1, 2] 01��/2�� ��A� ��"��%!��$& ��3

/�55� F ′(x) = 1 = [x]& !� x ∈ [1, 2[, 
�%���1%��� ��!�� �2��%1��

0�%�2��%��& .��

2∫
1

[x] dx = F (2) − F (1) = 2 − 1 = 1 .

', C���.��� �� ��

π∫
1

sin(x) dx �������3����� �%� I!� %2�����J,

�� f(x) = sin(x), x ∈ [0, π] 0�%������& ��2 � �������3����� �%!��$,

���� ����& !���

∫
sin(x) dx = − cos(x) + C (x ∈ R)& .�� �

F (x) = − cos(x), (x ∈ [0, π]) �� f � ����./ 01��/2��� I���� F ′(x) =
f(x)J [0, π]3�& ��2 � �2��%1�� 2� � ��������2� �����

π∫
1

sin(x) dx =
[− cos(x)

]π
0

= 1 + 1 = 2 .



�� ���-����� �� �
��
��
�.���
� ��
����#���
������ !�

3� ���4����� 
� �����������
��� �����������������#

+� ����	 2.��&��	�
 $��������������	�
3� �� �� f, g : [a, b] → R �����

�
���� ����������� "�-�	���������#�� ����	

b∫
a

fg′ = f(b)g(b) − f(a)g(a) −
b∫

a

f ′g .

��������	
� #����� F : [a, b] → R, F (t) =
t∫

a

fg′ +
t∫

a

f ′g + f(a)g(a) −
f(t)g(t)& ���� ∀ t ∈ [a, b]3 � ∃ F ′(t) 2�

F ′(t) = f(t)g′(t) + f ′(t)g(t) − [f(t)g(t)]′ = 0 (∀ t ∈ [a, b]),

.�� F (t) ≡ c& �%%��/� F (a) .= 0 ����� c = 0 2� ��2 � F (b) = 0& ��� F

��K�."�$��5$% ���� �� �%%.����, �

*�	��� C���.��6� �� ��

π∫
0

x sin(x) dx �������3����� �%� I!� %2�����J,

�� f(x) = x, g(x) = − cos(x) (x ∈ [0, π]) 0�%�������� ��A� ��"��%!��$�&

�� � %2����� f ′(x) = 1, g′(x) = sin(x) (x ∈ [0, π]) 2� �� f ′, g′ : [0, π] → R

01��/2���� 0�%��������, ��2 � �2��%1�� 2� � ��?���3#��5��� 0� �6%�

��� ���

π∫
0

x sin(x) dx = π(− cos(π)) − 0 · (− cos(0)) −
π∫

0

1 · (− cos(x)) dx =

= π +

π∫
0

cos(x) dx = π +
[
sin(x)

]π
0

= π .

0� ����	 2"�	!����

��
�
 $��������������	�
3� �� g : [a, b] → [c, d]

����������� "�-�	���������#� f : [c, d] → R ���������� ����	

ID3�J

b∫
a

f(g(x))g′(x) dx =

g(b)∫
g(a)

f(x) dx .

! �� ���
�����
������

��������	
� #����� H : [c, d] → R, H(u) .=
u∫

g(a)

f(x)dx& ���� H ��A�3

 ��"��%!��$ 2� H ′(x) = f(x) (x ∈ [c, d]), #����� ��/�55� G : [c, d] → R

G(t) =

t∫
a

f(g(x))g′(x) dx−
g(t)∫

g(a)

f(x) dx ,

���� ∃ G′(t) = f(g(t))g′(t) − H ′(g(t))g′(t) = 0& 2� .�� G(t) ≡ c, ��

���� G(a) = 0 ����� c = 0& 2� .�� G(b) = 0& ��� G ��K�."�$�� �����

���� �� �%%.����, �

-��(��!��
���

+, ID3�J35�� x !�%���� . !��6�� t /�%���$� � 5�%�%��%�� 2� ���� �� �

ID∗3�J

g(b)∫
g(a)

f(x) dx =

b∫
a

f(g(t))g′(t) dt .

�%��5�� �� . !��$,

', ID3�J3� ���� !�����%�6�& !� 2�� �/����1�& !��� � ������.����$ ��3

��� �%6�� ����� ���6�� f(g(x)) · g′(x) �%��E& �.� ID∗3�J3� ���� & !�

�� x = g(t) (t ∈ [a, b]) !�%������.�2���% ��� �6� I�6��6�J ������.����

��

g(b)∫
g(a)

f(x) dx ����� �%�,

*�	����

+, C���.��6� �� �� I =
π
2∫

π
4

1
x2 sin

(
1
x

)
dx I���25�2�� %2���:J �������3

����� �%�,

���%/��

I = −
π
2∫

π
4

− 1
x2

sin
(

1
x

)
dx ,

��/�55� %��!��$& !��� � g :
[

π
4 ,

π
2

] → [
2
π ,

4
π

]
, g(x) = 1

x 0�%�����3

��� ��A� ��"��%!��$ 2� �� f :
[

2
π ,

4
π

] → R, f(x) = sin(x) 0�%������

01��/2���� ��%���.��� � �2��% 0�%�2��%���& .�� ID3�J 2� �2!��� �� �55�



��� ������������
���� �� ������������� � � � !!

� ���2�� ��� ���

π
2∫

π
4

1
x2

sin
(

1
x

)
dx = −

π
2∫

π
4

− 1
x2

sin
(

1
x

)
dx = −

2
π∫

4
π

sin(x) dx =

=

2
π∫

4
π

sin(x) dx = cos
(

2
π

)
− cos

(
4
π

)
.

', C���.��� �� ��

1∫
0

ex

1+e2x dx �������3����� �%�,

�� f(x) = ex

1+e2x (x ∈ [0, 1]) 01��/2�� 0�%������,

#����� g(t) = log t (t ∈ [1, e])& ���� g([1, e]) = [0, 1], 0 = g(1), 1 =
g(e) 2� g Ig′(t) = 1

t �����J 0�%�������� ��A� ��"��%!��$& ��2 � � ID∗3

�J ��� ���

1∫
0

ex

1 + e2x
dx =

log e∫
log 1

ex

1 + e2x
dx =

e∫
1

elog t

1 + e2 log t

1
t
dt =

e∫
1

1
1 + t2

dt =

=
[
arctg t

]e
1

= arctg e− π

4
.

�5� 6���	
����������# 
� 
���	
������# �����#
���

���������������� 
� &�7����4�����������

+� ����	� �� �� fn : [a, b] → R (n = 1, 2, . . . ) �����
���� )�������

�����	�����#� [a, b]�� 
� �� 〈fn〉 �����
����	���� ������������ �����	���

�� f : [a, b] → R �����
����� [a, b]��� ����	 f )������������	�����#

[a, b]�� 
�

I+J

b∫
a

f = lim
n→∞

b∫
a

fn

���������

!" �� ���
�����
������

7����������!� �� �� fn : [a, b] → R �����
���� )������������	���

���#� [a, b]��� 
�

∑
fn ������������ �����	��� [a, b]�� �� f : [a, b] → R

�����
������ ����	 f )������������	�����# [a, b]�� 
�
b∫
a

f =
∞∑

n=1

b∫
a

fn�

��������	
� �

∑
fn 01��/2���� 〈Sn〉  2��%��8����� �� ����� � �%��%���3

�6� �� +, �2��%�, �

0� ����	� �� �� fn : [a, b] → R (n = 1, 2, . . . ) �����
���� �����������

"�-�	���������#� [a, b]��� �������� x0 ∈ [a, b] ����
� 〈fn(x0)〉 �����	�����

����$$� 〈f ′
n〉 ������������ �����	���� [a, b]��� ����	 〈fn〉 ������������

�����	��� ��� f : [a, b] → R �����
����� [a, b]��� �
����� f ′ 
�

I4J f ′(x) = lim
n→∞ f ′

n(x) (x ∈ [a, b])

7����������!���

+, D� fn : [a, b] → R (n = 1, 2, . . . ) 0�%�������� ��A� ��"��%!��$� 2�

%2����� x0 ∈ [a, b]& !���

∞∑
n=1

fn(x0) ���/� ���� 2�

∑
f ′

n �����%������

���/� ���� [a, b]3�& ���� ∃ ∑ fn = f 2� %2����� f ′ =
∑
f ′

n,

', � �2��% ���"��%�� ����� � !��/����� �� ��A� ��"��%!��$���� � /����3

���$ �2��% I!����� � 0�%�2��%�� ���� �� �2�������� ��%���1%���J,

��� 8�-��-��!� ����������������

+� ��,�
&��� #����� a ∈ R, a < b ≤ +∞, f : [a, b[→ R ������

[a, t] ⊂ [a, b[ ���� /�%%6��� �� %���� 2� �������3����� �%!��$ 01��/2��,


���1� 0�% ��/�55�& !��� b = +∞ /��� ∃ ε > 0& !��� f ��� �� %���� �

[b− ε, b[ ���� /�%%6�5��, D� %2����� �

I+J lim
t→b−0

t∫
a

f
.=

b∫
a

f

/2��� !��� 2 �2�& ���� ��� �� f 01��/2�� ���������� "�������

����
�������� ��/���1� [a, b[3�, �%����� ��� �����6�& !��� ��

b∫
a

f ���

�������� ����
��� ������
���, D� I+J ��� %2�����& ���� �� ��� �3

� �6� ����� �%� ��/� ������� �����6�,



��� ��������&� ��
����#���
���� !�

0� ��,�
&��� D� a ∈ R, −∞ ≤ c < a, f :]c, a] → R ������ [t, a] ⊂]c, a]

���� /�%%6��� �� %���� 2� �������3����� �%!��$& c = −∞ /��� ∃ ε > 0&

!��� f ��� �� %���� ]c, c+ ε]3��, D� %2����� �

I'J lim
t→c+0

a∫
t

f
.=

a∫
c

f

/2��� !��� 2 �2�& ���� ��� �� f ���������� "�����������
��������

��/���1� (c, a]3�, I� ���/� ���"�� �%%��/� � ��/� ���"�� �� �%:�:��!��

!����%$,J

1� ��,�
&��� #����� −∞ ≤ a < b ≤ +∞, f : ] a, b [→ R ∀ [x, y] ⊂ ] a, b [

���� /�%%6��� �� %���� 2� �������3����� �%!��$& ��/�55� a = −∞ /���

b = +∞ I/��� ��������:J /��� %2����� ε > 0& !��� f ��� �� %���� ��

] a, a+ ε] ∪ [b− ε, b [ ���� /�%%���, ���� �

lim
x→a+0
y→b−0

y∫
x

f
.=

b∫
a

f

/2��� !��� 2 �2��� I!� %2�����J f [ a, b ] ������� ���������� "�������

����
�������� ��/���1�,

*�	����

+, 
��/� ����3� ��

+∞∫
1

xα dx ��� �� �6� ����� �%& �!�% α ∈ R  8��.����H

#����� a = 1, b = +∞& ���� �� f : [1,+∞[→ R, f(x) = xα

01��/2�� 5� ��%� [1, t] ⊂ [1,+∞[ ���� /�%%6��� �� %���� 2� �������3

����� �%!��$ I!����� 0�%������J 2�

t∫
1

xα dx =

⎧⎪⎪⎨
⎪⎪⎩
[
xα+1

α+ 1

]t

1

=
1

α+ 1
(tα+1 − 1) & !� α �= −1&

[
lnα
]t
1

= ln t & !� α = −1,


�/�55�

lim
t→+∞ tα+1 =

{
0 & !� α < −1&

+∞ & !� α > −1&

lim
t→+∞ ln t = +∞ .

!� �� ���
�����
������

��2 � �� +, ��K�."�$ ��� ���

+∞∫
1

xα dx =

⎧⎪⎪⎨
⎪⎪⎩

lim
t→+∞

1

α + 1
(tα+1 − 1) = − 1

α + 1

� �� α < −1�

+∞ � �� α ≥ −1 �����	
���
�

', 
��/� ����3� ��

+∞∫
0

eαx dx ��� �� �6� ����� �%& �!�% α ∈ R  8��.����H

#����� a = 0, b = +∞& �!�% �� f : [0,+∞[→ R, f(x) = eαx

01��/2�� 5� ��%� [0, t] ⊂ [0,+∞[ ���� /�%%6��� �� %���� 2� �������3

����� �%!��$& �� � 0�%������& 2�

t∫
0

eαx dx =
[

1
α
eαx

]t

0

=
1
α

(eαt − 1) !� α �= 0&

�%%��/�

t∫
0

e0x dx =

t∫
0

1 dx = t .

��/�%

lim
t→+∞ eαt =

{
0 & !� α < 0,
+∞ & !� α > 0

2� lim
t→+∞ t = +∞ ,

.��

+∞∫
0

eαx dx =

⎧⎨
⎩− 1

α

& !� α < 0,

+∞ & !� α ≥ 0.

+� ����	� �� ��

b∫
a

f,
b∫
a

g ��
	�
	�*� )������������	���� �����	�������

λ1, λ2 ∈ R� ����	

b∫
a

(λ1f + λ2g) �� �����	����� 
�

b∫
a

(λ1f + λ2g) = λ1 ·
b∫

a

f + λ2 ·
b∫

a

g .

��������	
� -2%��6%

t∫
a

3 � ����& ���� t→ b− 03/�% �8� �� �%%.���, �



��� ��������&� ��
����#���
���� !�

0� ����	�  ����� f, g : [a, b[→ R, m ≤ f ≤ M, g ≥ 0, �
�����

b∫
a

g,
b∫

a

fg

��
	�
	�*� �����	����� ����	

m ·
b∫

a

g ≤
b∫

a

fg ≤M ·
b∫

a

g ,

������� �� f ���������� ��� �
����� ξ ∈ [a, b[� ����

b∫
a

fg = f(ξ)

b∫
a

g .

��������	
� � �������3����� �% � /�������$ �2��% �%�����, �

1� ����	�  ����� a ∈ R, b ∈ Rb, a < b, f : [a, b[→ R )�������

�����	�����# $�	���� [a, c] ⊂ [a, b[ ����	����*���� 
� d ∈ [a, b[� �� ��

b∫
a

f ��
	�
	�*� �����	�� �����	����� ����	 ��

b∫
d

f �� ��� ����$$�

b∫
a

f =

d∫
a

f +

b∫
d

f

�����

d∫
a

f f [a, d] ������� )������������	������ ���

b∫
d

f f [d, b[�	� ���# ���

��,���
�
��� ��
	�
	�*� �����	����� ���'����

��������	
� ��/�% ∀ x ∈ ] d, b [ 3 �

x∫
a

f(t)dt =

d∫
a

f(x) dx+

x∫
d

f(t)dt ,

�55:% �8/������� �� �%%.���, �



��� �������

�	������	�	�� 	�����	��� �	�	�� �	����

��� �	�	�

9�	����
�

��� 8����0��%�%�6� ������& � �855/�%���$� 01��/2���� /�����%�����%

0����� %���� �� �%��5 �� 0���%����� 2� � ���2������& ��%����� � �����3

 2� ���������� �� ��5�� ���6%���& ���6%��� I/���� �2 & �6�%������ �2 &

��� �7��& ���� ��������J,

O�������� I�%�:�� 5�� � 4, 0������5��& ��  2��5�� ���!�% ��J ����23

��.��1� ������ ������% �� �%��/��: ����%$���� 0���%�����% 2� �2��%����%&

��%��� ��� 2��� �� R ����%$����� $% ���6%��� �%��%����.�����& ��� 2���

6����"��� 0����� ��� ���� ��������� �2�:55� ���6%��������5�� I�8 3

������& ��.%� 2� �� � !�%�����& �� %$���� ����& ������� 2� 8����01��:

!�%�����J,

�� :�#����
�� �!#��&���� �
� 
� �����#!� �
� 
������

+� ��,�
&��� #����� ����� ��� V !�%��� I�%����� ����������� ��/��3

�1�J, 
���1� 0�%& !��� 2 ��%���/� /�� �2� �#�����G

N � �������� ������$���& ��%��� x, y ∈ V 3 � x+ y &

N � ��������� ���� �������& ��%��� x ∈ V ∧ λ ∈ R ����2� λx

��%8%,

V 3� � �2� �;/�%����% ������������& I/��� �������� ������J ��/���1�&

!� 5� ��%� x, y, z ∈ V, λ, μ ∈ R ����2�

+J x+ y = y + x I����6����/����J&

'J x+ (y + z) = (x + y) + z I�����"����/����J&

!�

"� ��� �
������
�
�� 
&���(
�
� �
�
�� �
����&� �
�
�

4J ∃ 0 ∈ V, x+ 0 = x I�6%%�%�� %2���2��J&

9J ∀ x ∈ V, ∃ − x ∈ V, x+ (−x) = 0 I��/� ��%�� %2���2��J&

)J 1 · x = x &

<J λ(μx) = (λμ)x &

=J (λ+ μ)x = λx + μx, λ(x+ y) = λx+ λy I����� �56��/����J,

0� ��,�
&��� D� V ��� /���� �2 & ���� � 〈, 〉 : V × V → R 01��/2���

��������& /���  �������������� ��/���1�& !� ∀ x, y, z ∈ V 2� λ, μ ∈ R

����2�
+J 〈x, y〉 = 〈y, x〉 &

'J 〈x+ y, z〉 = 〈x, z〉 + 〈y, z〉 ,

4J 〈λx, y〉 = λ〈x, y〉 ,

9J 〈x, x〉 ≥ 0, 〈x, x〉 = 0 ⇐⇒ x = 0

��%���1%,

1� ��,�
&��� ��� V /���� �� ��&  ���� ��� ���%� �� I/��� 5�%�:J ��� ���3

��%&  �����������������& /��� I�2!� "��� /�%$� 2 �2�; ���%� �� ��� ���

����2�J �����$���� ������ ��/��1��,

4� ��,�
&��� D� V 5�%�:��� ����2 & ���� �� x ∈ V /���� !������& /���

�����$���� �������� �� ‖x‖ .=
√〈x, x〉 ������ 2 ��1�,

+� ����	� (� �*���"���� ��	��	� ��������%

+J ‖x‖ ≥ 0, ‖x‖ = 0 ⇐⇒ x = 0, ∀ x ∈ V ,

'J ‖λx‖ = |λ| ‖x‖ ∀ x ∈ V, λ ∈ R ,

4J |〈x, y〉|2 ≤ ‖x‖2 ‖y‖2 ,

9J ‖x+ y‖ ≤ ‖x‖ + ‖y‖ ∀ x, y ∈ V .

��������	
�

+J ������% �8/������� �55$%& !��� ‖x‖2 = 〈x, x〉 ≥ 0 2� ���� 2� "���

���� = 0& !� x = 0,

'J ‖λx‖ =
√〈λx, λx〉 =

√
λ2〈x, x〉 = |λ|√〈x, x〉 = |λ| ‖x‖

I0�%!�����%/� � �� �� ��K�."�$���& � 5�%�: ��� ��� 2� � �2�������8�

�6%�����������J,

4J �

0 ≤ ‖x+ λy‖2 = 〈x+ λy, x+ λy〉 = 〈x, x〉 + 2λ〈x, y〉 + λ2〈y, y〉 =

= λ2‖y‖2 + 2λ〈x, y〉 + ‖x‖2 (∀ x, y ∈ V, λ ∈ R)



�� �
�������� 
&���(
�
� ��� �� �
����&� ��� ������� "�

�����%:�%���2� I2� � �����0��E 01��/2�� ���� � �6%���������J ����

�� �%%.����& !� ‖y‖2 > 0& !� y = 0& E�� �� �%%.��� ���%/��/�%$�� ����

〈x, 0〉 = 0 2� ‖y‖ = 0 �����,

9J 0 ≤ ‖x+ y‖2 = 〈x+ y, x+ y〉 = ‖x‖2 + ‖y‖2 + 2〈x, y〉
≤ ‖x‖2 + ‖y‖2 + 2|〈x, y〉| ≤ ‖x‖2 + ‖y‖2 + 2‖x‖ ‖y‖ = (‖x‖+ ‖y‖)2

2� �� �����%:�%���2��� ���� � �6%��������� ���� �� �%%.����, �

-��(��!��
� ������& �� +J39J �6%���������� ��%���.�: ‖ . ‖ : V → R

01��/2��� �� ����� ��/��1�� V 3�,

5� ��,�
&��� D� V 5�%�:��� ����2 I/��� �6�%������ �2 J ���� �� x, y ∈
V /���� �� �����$���� �������
�� � d(x, y) .= ‖x− y‖ ������ 2 ��1� 2�

��� �����6�& !��� � d : V × V → R 01��/2�� ��/�%���& /��� �������

V 35��,

0� ����	� ( V �$��� �*���"���� ��������	� ��������%

+J d(x, y) ≥ 0 , d(x, y) = 0 ⇐⇒ x = y , ∀ x, y ∈ V ,

'J d(x, y) = d(y, x) ∀ x, y ∈ V ,

4J d(x, z) ≤ d(x, y) + d(y, z) ∀ x, y, z ∈ V .

��������	
�

+J d(x, y) = ‖x− y‖ ≥ 0& 2� d(x, y) = 0 ⇐⇒ = 0, !� x = y;

'J d(x, y) = ‖x− y‖ = ‖ − (y − x)‖ = ‖y − x‖ = d(y, x)P

4J d(x, z) = ‖x− z‖ = ‖(x− y) + (y − z)‖ ≤ ‖x− y‖ + ‖y − z‖ =
= d(x, y) + d(y, z), �

6� ��,�
&��� #����� X ��� ���1 �� !�%���, D� 2 ��%���/� /�� ���
d : X ×X → R 01��/2�� ��

+J d(x, y) ≥ 0 , d(x, y) = 0 ⇐⇒ x = y , ∀ x, y ∈ X ,

'J d(x, y) = d(y, x) ∀ x, y ∈ X ,

4J d(x, z) ≤ d(x, y) + d(y, z) ∀ x, y, z ∈ X

�6%������������%& ���� ��� �����6�& !��� d ������� X3�� 2� X3��

�������� ������ ��/���1�, F�%8%2�G (X, d),

-��(��!��
� R � d(x, y) .= |x − y|& �.� � V �6�%������ �2 � d(x, y) .=
‖x− y‖ ��� ���/�% ��� ��6� �2 ,

" ��� �
������
�
�� 
&���(
�
� �
�
�� �
����&� �
�
�

8� ��,�
&��� #����� (X, d) ��� ��6� �2 , �� a ∈ X r (> 0) �6�� E

�
��� 
�� ����
����2� � K(a, r) .= {x ∈ X | d(x, a) < r} !�%����

2 ��1�,

:� ��,�
&��� #����� (X, d) ��� ��6� �2 , H ⊂ X ��������& !� H = ∅

/��� H �= ∅ ����2� ∃ r ∈ R& !��� ∀ x, y ∈ H3 � d(x, y) ≤ r,

���� � diamH
.= sup{d(x, y) | x, y ∈ H} ������ H �������2���

��/���1�,

-��(��!��
� ������ ;�� 5�%��!��$& !��� H ⊂ X (H �= ∅) ��������

���� �� %����& !� ∃ a ∈ X ∧ ∃ r ∈ R& !��� d(x, a) < r ∀ x ∈ H ����2�,

�� �� Rn �!#��&���� �
�

+� ��,�
&��� #����� R1 .= R& 2� !� n ∈ N3 � �� Rn 2 ��%������& ���� 

Rn+1 .= Rn×R, Rn �%����� (x1, . . . , xn)3��% ��%8%�1� 2� ���$����� �����

���� n�������� ��/���1�& �!�%

(x1, . . . , xn) = (y1, . . . , yn) ⇐⇒ x1 = y1, . . . , xn = yn .

D� x
.= (x1, . . . , xn) ∈ Rn& ���� �� xi3��� �� x ����$���������& Rn

�%����� ���������& /��� /���� ����� �� ��/���1�,

C������� �� Rn .=
1

R × · · · ×
n

R ��%8%2� �� 2� ��� �� �����6�& �� Rn R

8�����/�% /��� n3��� �� ���"� ���3��� ����,

-��(��!��
� R2 = R × R ��� ����%%�2� I �� ������"�$���J �� � 
�%3

�6%6� �, B,+, 0������25�� ������6�& ���� � �.�5�%� ���"� ���302%� ��� ��3

���� ������ �,

R3 = R × R × R ��� ����%%�� I �� ������"�$��J �� �%�55� �$���

5�/������� �2 5�%� ���"� ���302%� ��� ������ ������ ,

D� ����� � �.�5�%� ���"� ���302%� ��� ������ ������ & E�� �����

(0, 0) ��� �������E ������5�� �%%.��6�� �� :%���� ��������& ��%� ���

�%��� �����������& ��%���� ( ������ � (0, 0) �802�����& �� ����2���

����� E�� ��%8%�1� ��& !��� ����� � �.� �
M

�2�/�M �� y3�����%� �����./

0� �����% /�!��: �� �� x3�����%�5�, �� E� �����%�� z3�����%���� �� ��/��3

!���1�,



 � �
 R
n 
&���(
�
� ��� "!

x

y

z

1

P (x, y, z)

P ′(x, y)

� �2 �������!�� �� (x, y, z) ∈ R3  �������� ����!� ������� 5�����.3

/�� %�!�� !���� ����%�� E��& !��� ��� P ����!��  ����%� z ��� ������ �

P 35:% � z �����%� � 5�"������� �� :%���� ��%���������� ���0�%�%: ����

� z �������������& �.� !� P ′ � P ���� �� :%���� /��1%��� � �.� �& E��

x 2� y � P ′ ��� ������� � �.�5�%� ���"� ���302%� ��� ������ ������ 5��,

���� � �2 ������ /�%$� ����!� �������%& R3 �%���/�% ��%%����!�3

�:�& 2� 0� �.�/�,

0� ��,�
&��� #����� ����� �� Rn !�%��� 2� 2 ��%����1� 5���� �� ������

�$�� 2� ��������� ���� ������� �;/�%��2�

x+ y
.= (x1 + y1, . . . , xn + yn), �%%��/� λx

.= (λx1, . . . , λxn)

��� ���& !� x = (x1, . . . , xn), y = (y1, . . . , yn) ∈ Rn ∧ λ ∈ R .

+� ����	� Rn � ���� 
	��������� �
� �,�������� �����	�
	 ����� �����	��

�
	��

��������	
� � /���� �2 +J3=J �6%���������� ������ ;�� �%%��: ��!��:�,

� �6%%�%��G 0 .= (
1
0, . . . ,

n
0) . �

0� ����	� �� x = (x1, . . . , xn), y = (y1, . . . , yn) ∈ Rn� ���

〈x, y〉 .= x1y1 + · · · + xnyn

�����	�� ����� $���!� ���	��� Rn�$���

"" ��� �
������
�
�� 
&���(
�
� �
�
�� �
����&� �
�
�

��������	
� � 5�%�:��� ��� +J39J �6%������������ �%%��: �2�2/�%, �

1� ����	� �� x = (x1, . . . , xn), y = (y1, . . . , yn) ∈ Rn� ����	 ��

‖x‖ .=
√
〈x, x〉 .=

√√√√ n∑
i=1

x2
i , ������� d(x, y) .= ‖x−y‖ .=

√√√√ n∑
i=1

(xi − yi)2

���	��� "�/����� ��	��� ������� �������� ����	���� ��������� � ��	��� �������

���	��� �*���"���������

��������	
� ������ ; I0�%����J, �

-��(��!��
���

+, � ',& 4, �2��%5�� ��K���%� ���%� �� I5�%�:J ��� �����%& �� ��/�%& �%3

%��/� ��/�%�����% I��� ���/�%J Rn �6�%������ �2 & �6�%������ �� ��/�%

2� ��� ���/�%, (Rn, d)3� n3�������$� �6�%������ �2 ��� �� ��/����,

', D� n = 1& E�� � d(x, y) .= |x − y| (x, y ∈ R) ��/�%�����% (R1, d) =
(R, d) ��� ��6� �2 & !����� d ��%���.�� � ��� ��� 4 �6%����������,

4, �� a ∈ Rn ���� I/���� J r �6�� E ��.%� �8�5�8 ������� �

K(a, r) .= {x ∈ Rn | d(x, a) < r}
!�%���& �!�% d �� Rn35�%� �6�%������ ��/�%���,

9, � �� %������� 2� �� ���2 : 0���%�� (Rn, d)35�� 6������ ���� (X, d)3

5��,

���� ��/�55�& !��� H ⊂ (Rn, d) ⇐⇒ �� %����& !� ∃ r ∈ R, H ⊂
K(0, r) I���� ‖x‖ < r ∀ x ∈ HJ,

�� Rn ��-������*�

�� (Rn, d) ��� ��6� �2 5�� ��� a ∈ Rn /���� & ���� /��� �%�� r >
0 �6�� E ��.%� �8�5�8 ������2� � K(a, r) = {x ∈ Rn | d(x, a) < r}

!�%���� 2 ����1�& �!�% �

d(x, a) .=

√√√√ n∑
i=1

(xi − ai)2

Rn35�%� ��� ��� ��� ���%, D� ��1��2��� � ����1%8�58����2�& ���� ������

� dRn ��%8%2� �� �� Rn35�%� ��/�%��� � I��� ��� �J,



!� R
n �����$���	� "�

+� ��,�
&��� #����� ����� E ⊂ (Rn, d) !�%���, ��� �����6�& !���

N x ∈ E  ���� ������ E3���& !� ∃ K(x, r)& !��� K(x, r) ⊂ EP

N x ∈ Rn �	��� ������ E3���& !� 5�%�: ������ CE3���

I���� ∃ K(x, r), K(x, r) ∩E = ∅JP

N x ∈ Rn ����������� E3���& !� ��� 5�%�: 2� ��� �1%�: ������

I���� ∀ K(x, r)3 � K(x, r) ∩E �= ∅ ∧ K(x, r) ∩ CE �= ∅J,

� 5�%�: ������ !�%�����E  ���������& � !��� ������ !�%�����E �����

����� ��/���1�,

*�	��� #����� E =]0, 1[× ]0, 1[⊂ R2,

(1
2 ,

1
2 ) 5�%�: ������ E3���& �� � �2%��6% K((1

2 ,
1
2 ), 1

4 ) I�� (1
2 ,

1
2 ) ���� 1

4

�6�� E �8 �������J ��%���.��& !��� K((1
2 ,

1
2 ), 1

4 ) ⊂ ]0, 1[× ]0, 1[,

(3, 0) �1%�: ������ E3���& �� � K((3, 0), 1)∩E = ∅ ����� K((3, 0), 1) ⊂
CR2E& ���� (3, 0) 5�%�: ������ CR2E3���,

(1, 0) !��� ������ E3���& �� � ∀ r > 0 ����2� K((1, 0), r) �⊂ E I!�3

���� (1 + r
2 , 0) ∈ K((1, 0), r)& �� (1 + r

2 , 0) /∈ EJ ����� ��� 5�%�: 2�

K((1, 0), r) �⊂ CE I!����� (1− r
2 , 0) ∈ EJ ����� ��� �1%�: ������ E3���,

0� ��,�
&��� �� E ⊂ (Rn, d) !�%���� �
������ ��/���1�& !� ������

������ 5�%�: ����P ������� ��/���1�& !� CE ��.%�,

*�	����

+, E =]0, 1[× ]0, 1[⊂ R ��.%� !�%���& �� � ∀ (x, y) ∈ E ����2�& !�

r = min{x, 1 − x, y, 1 − y}& ���� K((x, y), r) ⊂ E,

', E = [0,+∞[× ] −∞,+∞[ �� � !�%���& �� � ∀ (x, y) ∈ CE ����2�&

!�

r = |x|
2 & ���� K((x, y), |x|2 ) ⊂ CE& ���� (x, y) �1%�: ���� 2� .�� CE

��.%�& ��!�� E �� �,

+� ����	� (� (Rn, d) ���	��*� �
	$�� ������ � �'������!�%

+J Rn ∧ ∅ ����� ���������

'J ����� �������� �������
�� ������

4J �
��� ��� ����� ������ �������� ������

�������
+J Rn ∧ ∅ ��	� ���������

'J ��	� �������� �������� ��	��

4J �
��� ��� ��	� ������ �������
�� ��	��

"� ��� �
������
�
�� 
&���(
�
� �
�
�� �
����&� �
�
�

1� ��,�
&��� #����� ����� E ⊂ (Rn, d), �� x0 ∈ Rn ������ �� E !�%3

��� �����$��� ��������� ��/���1�& !� ∀ K(x0, r) (Rn35�%�J �8 ������

�� ��%��� x03�$% �1%8�58�: E35�%� ������& ���� (K(x0, r)\{x0})∩E �= ∅,

E �� %$���� ���������� !�%����� ������ E′3/�% ��%8%��,

x0 ∈ E ������� ������ E3���& !� ��� �� %$���� ������& ���� ∃ K(x0, r)&

!��� (K(x0, r)\{x0}) ∩ E = ∅,

*�	����

+, �� E = {( 1
n , 0) | n ∈ N} ⊂ R2 !�%������ � (0, 0) ���� �� %$����

������ I(0, 0) /∈ EJ& �� � ∀ K((0, 0), r)35�� /�� �%��� E3���& !�����

∀ r > 03 � N �� � N 0�%1% :% ��� �� %���� N ∃ n ∈ N& !��� n > 1
r &

���� 0 < 1
n < r& .�� (0, 1

n ) ∈ K((0, 0), r),

', �� E = N×N = {(n, n) | n ∈ N} ⊂ R2 !�%��� ������ ������ ���%�%�

����& �� � ∀ n ∈ N3 � (K((n, n), 1) \ (n, n)) ∩ E = ∅,

0� ����	� (� E ⊂ (Rn, d) ����	 
� ���� ����	 ��	�� �� E′ ⊂ E �����

��	�������� ���"�� ��	�#"��� 
��������

1� ����	 2>�	�����?����
���

3� &�	���� S ⊂ Rn ��	����� �
������

��������� �
����� ��	�#"��� 
������

4� ��,�
&��� ��.%� !�%����� ��� {oν}  ������ � �� S ⊂ Rn !�%������

��� �
��� ����$���& !� S ⊂ ⋃
ν
oν ,

*�	��� �� E = N×N ⊂ R2 !�%������ � {K((n, n), 1) | n ∈ N} !�%���3

 ������ ��� ��.%� %�0��2��& �� � 5� ��%� n ∈ N3 � (n, n) ∈ K((n, n), 1)&

.�� (n, n) ∈
∞⋃

i=1

K((i, i), 1)& ���� E ⊂
∞⋃

i=1

K((i, i), 1),

5� ��,�
&��� � K ⊂ Rn !�%��� �������& !� ������ ��.%� %�0��2�25:%

��/�%����!��$ /2��� ��� !�%���& ��%� %�0��� K3�,

*�	����

+, E = N×N ��� �������& �� � 5� ��%� K((n, n), 1) �%!������/�% ��

�%:55���5�� ����� ��.%� %�0��2� �� ��2� !�%����� �� ��� 0���� %�

E3�& .�� �8�1%1� /2��� ��� ��� 0��!��� %�,

', K = {(1, 1), (2, 2), (3, 3), (4, 4)} ������� !�%���& �� � K 5� ��%� o

��.%� %�0��2�� ����2�K ⊂ o����� %2����� o1, o2, o3, o4 ��.%� !�%�����

o35$%& !��� (i, i) ∈ oi (i = 1, 2, 3, 4)& .�� K ⊂
4⋃

i=1

oi& ���� 5� ��%�

o35$% ��/�%����!��$ /2��� %�0��2�,
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4� ����	 2@�����>���	3� +�� K ⊂ Rn ������ ����	 
� ���� ����	

���
���� �� ��	����� 
� ��	��

*�	����

+, � K = {(1, 1), (2, 2), (3, 3), (4, 4)} !�%��� �������& �� � �� %����

I�2%��6% K ⊂ K((0, 0), 10)J 2� �� � I�� � ���"� �� %$���� ������J,

', E = N×N ��� �������& �� � ��� �� %����& 6������ d((1, 1), (n, n)) =
(n − 1)

√
2 2� N 0�%1% :% ��� �� %�������� ����� ��� %2����� r > 0&

!��� d((i, i), (j, j)) < r ��%���1%�� 5� ��%� i, j ∈ N3 �,

6� ��,�
&��� �� (X, d) ��� ��6� �2 ������	

�& !� ��� %2����� X3���

�%��� ���1 �� o1, o2 ��.%�  2��!�%����& !��� o1∩o2 = ∅ 2� o1∪o2 = X ,

� H (�= ∅) ⊂ X ������	

� X� �� !� (H, d) 8����01��: ��� ��6� �2 ,

I� d ��� ���H×H3 � /�%$ %���;�.�2�2� �� d3/�% ��%8%�1�& 2� (H, d) /�%$5��

��� ��6� �2 ,J

5� ����	� (Rn, d) '��������!�

%� ;�	�  � �������� ���� ��� ��'��������#

�� �%:�:��5�� ��K���%�6� � /���� �� ��& � ���%� �� ��� �����& /����3

 �� �6�%������ �� �����& /���� �� �6�%������ ��/�%�����& �%%��/� ����!��

���"��%$�/�& ���"��%���� �� Rn �6�%������ �� ��,

� �8/�����:�5�� � %���� �� �%��5 � �2!��� �%��� I� ����� 2� ��3

�������� ".�; �� ��5��  2��%������ �� /�����%�J 0���%��� /�����1� 5�&

��%��� � � �2�:55���5�� ��1��2�1�� %�,

+� ��,�
&��� n3��� m ���� ���

A =

⎛
⎜⎝
a11 . . . a1m

,,,

,,,

an1 . . . anm

⎞
⎟⎠ = (aij)n×m

�%��E �% �����2�2� n × m3�� �����!���& �� aij �������� � �����!

��������� ��/���1�, D� n = m& ���� ��

����� I���$�������J ����

��! $% 5���2%1��,

�� n ×m �.�6�E ��� �75�� � �������� n �� 5� 2� m ���%��5� !�3

%����1� �%, ��� � �2���& !��� ��� ���� �� A ��� �7 i3���� �� �5�� 2�

"% ��� �
������
�
�� 
&���(
�
� �
�
�� �
����&� �
�
�

j3���� ���%���5�� /�� �� ����7�� 0������ ��& .�� aij ��%8%� I�� �%�: � �� 3&

� ������� �� ����%�����7J,


2� ��� �7 ������ �����%& !� �� ��� 2� ���%����� ����� �� ���3

�������,

2� ��� �7 �

����& !� ������ �.�6�E�� 2� �� ��������� ���0�%�%:

!�%��� %2/: �%����� �����%:��,

-��(��!��
���

+, ��

A =

⎛
⎜⎝

0 . . . 0
,,,

,,,

0 . . . 0

⎞
⎟⎠

��� �7�� ����������!��� ��/���1� I����& !� ∀ aij = 0J,

', ��

A� =

⎛
⎜⎝
a11 . . . an1

,,,

,,,

a1m . . . anm

⎞
⎟⎠

��� �7�� �� A ��� �7 ������������ �����!���� ��/���1�, IA�
���%���� �� A �� ��& A� �� �� A ���%����,J

4, D� A �/��� ����6� ��� �7& ���� �� a11, . . . , ann ������ A ��$���


�������� �%������,

9, D� � �/�� ����6� ��� �7 0:�������%���5�� "�6�� + �%%& � �855� �%���

����� �6%%�& ���� �

��
�����! $% 5���2%1��G

E =

⎛
⎜⎝

1 . . . 0

,,,

, , ,

,,,

0 . . . 1

⎞
⎟⎠

0� ��,�
&��� D� A = (aij)n×m, B = (bij)n×m ����� �����!��& ���� 

���� �����
� �� � C n× n3�� ��� �7& ��%� �

C
.= A+B

.= (aij + bij)n×m = (cij)n×m .

�� A = (aij)n×m �����! λ ∈ R ��������� ���� �������� �

λA
.= (λaij)n×m

��� �7,

�� n×m3�� ��� �7�� � �2� �;/�%�� � �2�/� /���� �� �� �%������,
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*�	��� D�

A =
(

1 3 4
2 1 2

)
, B =

(
0 1 3
3 2 1

)
, λ = 5 ,

���� 

A+B =
(

1 + 0 3 + 1 4 + 3
2 + 3 1 + 2 2 + 1

)
=
(

1 4 7
5 3 3

)
,

5A =
(

5 · 1 5 · 3 5 · 4
5 · 2 5 · 1 5 · 2

)
=
(

5 15 20
10 5 10

)
.

1� ��,�
&��� �� A = (aik)n×m 2� � B = (bkj)m×p �����!�� ��������

�� � C n× p �.�6�E ��� �7& ��%�5��

cij =
m∑

k=1

aikbkj ,

����

A · B .= C
.= (cij)n×p

.=

(
m∑

k=1

aikbkj

)
n×p

.

*�	��� D�

A =
(

2 1 3
1 1 4

)
, B =

⎛
⎝1 0

2 2
3 3

⎞
⎠ ,

���� 

A ·B =
(

2 · 1 + 1 · 2 + 3 · 3 2 · 0 + 1 · 2 + 3 · 3
1 · 1 + 1 · 2 + 4 · 3 1 · 0 + 1 · 2 + 4 · 3

)
=
(

13 11
15 14

)
.

+� ����	� ( ���	�0���	��� �������$$ �*���"�������%

A · (B · C) = (A ·B) · C,
A · (B + C) = A ·B +A · C, (A+B) · C = A · C +B · C,

(λA) · B = λ(A · B) = A · (λB),

�������$��% A · B �= B · A��

-��(��!��
� �� 1 × n �.�6�E ��� �7�� ��������!���& �.� �� n × 1

�.�6�E� �����������!��� ��/���1�, ��

(x1, . . . , xn) → (x1 . . . xn)

�� ��� �
������
�
�� 
&���(
�
� �
�
�� �
����&� �
�
�

2�

(x1, . . . , xn) →

⎛
⎜⎝
x1

,,,
xn

⎞
⎟⎠

�8%"�8�8��� ���2 ��%�; ���0�%�%���2��� %���� �� ����� K�� ����� Rn /�%�3

���� �� 1 × n& �%%��/� n × 1 �.�6�E ��� �7�� /���� �� �� �8�8��, �

�8/�����:�5�� Rn �%�����& !� ���� ��� ����6��& ���%����� �7����%

 �� ������%�6�,

4� ��,�
&��� �� A �/�� ����6� ��� �7 ������������& !� %2����� �%���

X ��� �7& ��%� �

AX = X A = E

I!� A n × n �.�6�E& ���� %2����� n × n �.�6�E ����2���� �7J, X3�� ��

A ��/� � ��� �7���� ��/���1�,

0� ����	� �� A ����	������#� ����	 ���� ��� ����	�� ���� ��� A ����	����

���#� ��� ����	�
� A−1 ���'��� �		� AA−1 = A−1A = E ���������� �� A

����	������#� ��� ����	�� �� �� 
� (A−1)−1 = A� �� A 
� B ����	������#�

����	 (AB)−1 = B−1A−1� �� A ����	������#� ��� (A�)−1 = (A−1)��

5� ��,�
&��� ���A = (aij)n×n �/�� ����6� ��� �7!��  ����%�1�� !����

��� /�%$� ������ E��& !���G

N ������ �� 5$% ��/�%����6�� �������� ��� �%���� E��& !��� ������

���%��5$% �� �� %����� /�%����/� �������� ��� �%��&

N ���� �%������ 8������� ���6� 2� �����./ /��� �����./ �%:��%%�% %��3

�6� �% ���� ���& !��� � ��/�%������� �%���� I�������5�� �� ����7���

�� �2������ ��  ���5�� /�����J ���%������7����� �� �6��"�$��5��

�� ��/� ��$� I0�%"�� 2%� �%����J ����� �� �� /��� �� ��%��,

N � ������� ������ %�!���2��� �$��� �2���/� 8�������6�,

�� .�� ������ D ������ �� (aij)n×n ��� �7 $�������������� ��/���1�

2�

D =

∣∣∣∣∣∣∣
a11 . . . a1n

,,,

,,,

an1 . . . ann

∣∣∣∣∣∣∣ = |A|

��%8%�1� In3�� ���; ���� ������J,



"� ����,,� ���
���� ���
,��� 
�)���
�
�
� ��

*�	����

+, D =
∑

k1,...,kn

(−1)Ia1k1 · · · · · ankn & �!�% I � k1, . . . , kn �� �6��"�$5��

%2/: ��/� ��$� �����, �� 8����� n! ����� �� ��%���,

', � ��K�."�$ �%�����∣∣∣∣a11 a12

a21 a22

∣∣∣∣ = a11a12 − a12a21 ,

��/�55�∣∣∣∣∣∣
a11 a12 a13

a21 a22 a23

a31 a32 a33

∣∣∣∣∣∣ = a11a22a33 + a12a23a31 + a21a32a13−

− (a13a22a31 + a12a21a33 + a23a32a11) .

4, ��� ���� ������ aik �%��2!�� �� ���$ �$���
��� ��
� ��� ��$�����

�������� ��� �� Aik n − 13�� ���; ���� ������� 2 ��1�& ��%� ��

� �����5:% �� i3���� �� 2� � k3���� ���%�� �%!������/�% ��$���& �%3

%��/� � (−1)i+k �%:��%%�%,

-2%��6% � ∣∣∣∣∣∣
1 2 1
2 3 2
3 4 5

∣∣∣∣∣∣

���� ������ ����2�

A21 = (−1)2+1

∣∣∣∣2 1
4 5

∣∣∣∣ = −(2 · 5 − 1 · 4) = −6 .

1� ����	� +�� A = (aij)n×n ���	�0 "���	������� 	��"������� �� ���$$�

�*���"����������%

1� �� ���������� ��	�$�� ������
�$��� ��*
� 2 ���� ����	 D = 0�

3� ∣∣∣∣∣∣∣∣∣∣∣∣

a11 . . . a1n

���

���

λai1 . . . λain

���

���

an1 . . . ann

∣∣∣∣∣∣∣∣∣∣∣∣
= λ

∣∣∣∣∣∣∣
a11 . . . a1n

���

���
an1 . . . ann

∣∣∣∣∣∣∣

� ��� �
������
�
�� 
&���(
�
� �
�
�� �
����&� �
�
�

4� ∣∣∣∣∣∣∣∣∣∣∣∣

a11 . . . a1n

���

���

ai1 + bi1 . . . ain + bin

���

���

an1 . . . ann

∣∣∣∣∣∣∣∣∣∣∣∣
=

∣∣∣∣∣∣∣∣∣∣∣∣

a11 . . . a1n

���

���
ai1 . . . ain

���

���

an1 . . . ann

∣∣∣∣∣∣∣∣∣∣∣∣
+

∣∣∣∣∣∣∣∣∣∣∣∣

a11 . . . a1n

���

���

bi1 . . . bin

���

���

an1 . . . ann

∣∣∣∣∣∣∣∣∣∣∣∣

5� �� �
� ��	�� ������	
���� 
	�
�� (−1)����	��
	� ���������

6� �� �
� ��	 ����������� 
	�
�� 2�

7� 8	�
�� ��� ��������� �� ����� ��	���� ������"�*� ��� ���� ��	���

���� ����� �'$$��'	'�
��

9� 8	�
�� ��� ��������� �� ��	��� 
� �����
��� ������	
�����

:� D =
n∑

k=1

aikAik �������
�� �
�����

;��"���� ��������������#� ��	�� ������� �����
��	� ���

��������	
� � ��K�."�$ �%�����, �

*�	��� �

D =

∣∣∣∣∣∣∣∣
1 3 2 0
3 1 4 1
2 2 1 0
1 2 3 2

∣∣∣∣∣∣∣∣
���� ������ ������.������% "2%��� ; �� 6��%�$ ���%�� ��� ���� ��0��2���%

��%�����& �� � ���� "��� �2� 3 × 33�� ���� ������� ��%% �������%��&

�� �

D = 0 · (−1)5

∣∣∣∣∣∣
3 1 4
2 2 1
1 2 3

∣∣∣∣∣∣+ 1 · (−1)6

∣∣∣∣∣∣
1 3 2
2 2 1
1 2 3

∣∣∣∣∣∣+ 0 · (−1)7

∣∣∣∣∣∣
1 3 2
3 1 4
1 2 3

∣∣∣∣∣∣
+ 2 · (−1)8

∣∣∣∣∣∣
1 3 2
3 1 4
3 2 1

∣∣∣∣∣∣ =
∣∣∣∣∣∣
1 3 2
2 2 1
1 2 3

∣∣∣∣∣∣+ 2

∣∣∣∣∣∣
1 3 2
3 1 4
3 2 1

∣∣∣∣∣∣ .

4� ����	 2����������
�� 
�����
����	�3� <
� *��������� 	��", ���"�

	����*� ���	�0 "���	���������� ���	���� ������! � ���	������	�0 "���	�

����������%

|A ·B| = |A| · |B|
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��������	
� �����%�%!��$ � ����� 2� ���������� �������5��, �

5� ����	� �� �� A ���"	����*� ���	�0 ����������#� ����	 � "���	�������

��� 2 ����� A ��
������ �����!��

��������	
� A ��/� ��%!��$& .�� %2����� �� A−1 ��/� ��& ��%� � A ·A−1 =
E, L�� � ��� ����2��% �����

1 = |E| = |A ·A−1| = |A| · |A−1| ,

���5:% |A| �= 0 �8/�������, �

6� ����	� �� A ����� ���"	����*� ���	�0� ���� |A| �= 0 ����� A 	��*���

	���� ����	 A ����	������# 
� A−1 ����	�
	�%

A−1 =
1
|A|

⎛
⎜⎜⎜⎝
A11 A21 . . . An1

A12 A22 . . . An2

���

���

A1n A2n . . . Ann

⎞
⎟⎟⎟⎠ =

1
|A| (Aji)n×n

��������� ���� Aji �� A = (aji)n×n ���	�0 aij ����
��� ��	���# �"�*�����

����$	�� ��"���	�������

��������	
� 
8����� 5�%��!��$& !���

n∑
s=1

ajsAis = δij |A| , �!�% δij =

{
1 , j = i ,

0 , j �= i .

��6��� �� 

AA−1 =
1
|A|

⎛
⎝ n∑

j=1

aijAkj

⎞
⎠

n×n

=
1
|A| (δik|A|) = (δik)n×n = E

�8/�������& ���� A−1 �� A ��/� ��, �

*�	��� #����� A =
(

1 2
3 4

)

& ���� |A| = −2 �= 0& .�� %2����� A−1 2�

A11 = (−1)1+14 = 4, A21 = (−1)2+12 = −2, A12 = (−1)1+23 = −4,
A22 = (−1)2+21 = 1 �����

A−1 = −1
2

(
4 −2
−3 1

)
=
(−2 1

3
2 − 1

2

)
,

�" ��� �
������
�
�� 
&���(
�
� �
�
�� �
����&� �
�
�

2�

AA−1 =
(

1 0
0 1

)

/�%$5�� ��%���1%,

6� ��,�
&��� �� A : Rn → Rm %��2���2�� I� ����0� ��"�$�J ������

������ ��/���1�& !�

A(x + y) = A(x) +A(y), ∀x, y ∈ Rn,

A(λx) = λA(x), ∀x ∈ Rn, λ ∈ R

��%���1%,
�� A : Rn → Rm %���� �� %��2���2��� 8������2�2� ������ L(Rn,Rm)3

��% ��%8%��,

-��(��!��
� #����� A m× n3�� ��� �7& E�� ��

A(x) .= A · x (x ∈ Rn)

��� ��� 2 ��%������ %��2���2� I� ����0� ��"�$J A : Rn → Rm �.�6�E %���3

� �� %��2���2� I� ����0� ��"�$J,

��� 2��� 5� ��%� A : Rn → Rm %���� �� %��2���2�

A(x) = A · x (x ∈ Rn, A m× n3�� ��� �7)
�%��5� . !��$,

L�� 5� ��%� A : Rn → Rm %���� �� %��2���2� ������.�!��$ ��� A m×n3��

��� �7���%,

8� ��,�
&��� D� A ∈ L(Rn,Rm)& ���� ��

‖A‖ .= sup
‖x‖≤1

{‖Ax‖}

������ �� A �������� ��������� ���������� ��/���1�,

8� ����	� ( ��	�� �������$$ �*���"�������%

‖Ax‖ ≤ ‖A‖ ‖x‖; ‖A‖ < +∞;

‖A+B‖ ≤ ‖A‖ + ‖B‖; ‖λA‖ = |λ| ‖A‖;
‖BA‖ ≤ ‖B‖ ‖A‖; (A ∈ L(Rn,Rm), B ∈ L(Rm,Rk)).



���� �������

��������� Rk����

� 0������ 0���%��� 2� � ���2���� ��� �� ���%$���� �6������ � ����3

�� ��������% ���6%�����% I%��� 
�%�6%6� �, ���, 0������J,

�� ���-
������# 
� #�-4�����!#

+� ��,�
&��� ��� f : N → Rk 01��/2��� Rk� ��� ���������� ��/�3

�1��, � �� ���� n3���� �%��2� f(n), an, xn I/��� ���J ��%8%�, � �� ����

�%������� !�%���� � �� {an} /��� {xn} I/��� ���J ��%8%2�� !�����%6��,

����� � �� ������ �� f
.= 〈an〉& /��� f .= 〈xn〉 I/��� ���J ����5$%6���%

��%8%�1�,

*�	��� ��

〈(
1
n , 1 + 2

n

)〉
R235�%� �� ����& n3���� �����

(
1
n , 1 + 2

n

)

& ��

�%������� !�%����

{(
1
n , 1 + 2

n

) ∣∣ n ∈ N
}

,

0� ��,�
&�� 2���	���

��3� �� 〈xn〉 Rk35�%� �� ���� �� %����& !� {xn}

�� %����,

*�	��� ��

〈(
1
n , 1 + 2

n

)〉
R235�%� �� ���� �� %����& �� � �%�������{(

1
n , 1 + 2

n

) ∣∣ n ∈ N
}

!�%���� �� %����, � ��, ',9, ��������2� �����

�%�����: ����6�����& !��� %2����� r > 0& !��� 5� ��%� n ∈ N3 �
dR2

(
(0, 0),

(
1
n
, 1 +

2
n

))
=

√
1
n2

+
(

1 +
2
n

)2

=

√
n2 + 4n+ 5

n2
< r .

��/�% √
n2 + 4n+ 5

n2
<

√
2n2 + 8n+ 8

n2
=

√
2
n+ 2
n

≤ 3
√

2 ,

������ ;�� 5�%��!��$ 5� ��%� n ∈ N3 �& .�� r = 3
√

2 �$ %���,

��

�� ���� ����
���� R
k#,��

1� ��,�
&�� 2���������&��3� �� 〈xn〉 Rk35�%� �� ���� ���/� ����&

!� ∃ x ∈ Rk& !��� ∀ ε > 0 ����2� ∃ n(ε) ∈ N& !��� ∀ n ≥ n(ε)3 �

d(x, xn) = ‖x − xn‖ < ε ��%���1%, �� x ∈ Rk ������ I/���� �& �%����J

〈xn〉 !��� 2 �2�2��� ��/���1�, ���& !��� 〈xn〉 ���/� ���� 2� !��� 2 �2��

x& .�� ��%8%�1�G lim
n→∞xn = x /��� xn → x,

*�	��� ��

〈(
1
n , 1
)〉

R235�%� �� ���� ���/� ���� 2� !��� 2 �2�� (0, 1) ∈
R2, ���� ��� ��%% ����6�����& !��� 5� ��%� ε > 03!�� %2����� n(ε) ∈ N&

!��� 5� ��%� n ≥ n(ε) (n ∈ N) ����2�

dR2

((
1
n
, 1
)
, (0, 1)

)
=

√(
1
n
− 0
)2

+ (1 − 1)2 =
1
n
< ε .

�� ����� ���� ��

〈
1
n

〉
/�%$� ������ ���� ���/� ���"���� �����,

-��(��!��
���

+, � �8 ������ 0���%��� 0�%!�����%/� � ���/� ���"�� E�,
M

�8 ��������Q

��K�."�$��� ����6�G �� 〈xn〉 �� ���� ���/� ����& !� ∃ x ∈ Rk& !���

∀ K(x, ε)3!�� ∃ n(ε) ∈ N& !��� ∀ n ≥ n(ε)3 � xn ∈ K(x, ε) ��%���1%,

', ������ ;�� 5�%��!��$& !��� xn → x ⇐⇒ ∀ K(x, ε)3 � xn ∈ K(x, ε)
%��0�%��55 /2��� ��� n ∈ N ��/2��%2/�%,

4� ��,�
&�� 2��������&��3� �� 〈xn〉 Rk35�%� �� ���� ��/� ����& !� ���

���/� ����& ���� !� ∀ x ����2� ∃ ε > 0 (∨K(x, ε))& !��� ∀ n(ε) ∈ N 3 �

∃ n ≥ n(ε)& !��� d(x, xn) ≥ ε (∨ xn /∈ K(x, ε)),

*�	��� �� 〈(n, 0)〉 R235�%� �� ���� ��/� ����& !� ����6����6�& !���

5� ��%� (x, y) ∈ R2 ����2� %2����� K((x, y), ε)& !��� 5� ��%� n(ε) ∈ N3

 � %2����� n ≥ n(ε)& !��� (n, 0) /∈ K((x, y), ε),

D� (x, y) ∈ R2& !��� y �= 0& ���� ���%/�� ε = |y|
2 3 � K

(
(x, y), |y|2

)

���

�� ��%��� �����%�� �%���� ��� � 〈(0, n)〉 �� ����5$% I�� � � �8 ������ 2�

�� x3�����%� �������� 1 ��J,

D� (x, y) = (x, 0)& ���� ε = 1 ����2� n ≥ x+ 13 � (n, 0) /∈ K((x, 0), 1),

+� ����	 2� "��������� ��!����	��
���3� �� 〈xn〉 Rk�$��� �����	����

��	����� ����	 ��� ����	
	�
�� ��� ����� xn → a 
� xn → b =⇒ a = b��

��������	
� #��� 
�%�6%6� �,& ���,+,& +, �2��% 5�����.����, �

0� ����	 2���������&�� �
 ���	���

��3� �� �� 〈xn〉 (Rk�$���� ��	����

�����	����� ����	 ��	������



!� ���
����
���� ��

��������	
� #��� 
�%�6%6� �,& ���,+,& ', �2��% 5�����.����, �

1� ����	� (� 〈xn〉 Rk�$��� ��	����⇐⇒ �����	���� 
� ����	
	�
�� x ∈ Rk�

�� xn = (x1n, . . . , xkn) ���'�
���� �� 〈x1n〉, . . . , 〈xkn〉 ������������ ���	�

"������ ��	������ �����	������ 
� �� x = (x1, . . . , xk) ���'�
���� xin → xi

(i = 1, . . . , k)�

*�	��� D��� ���� ��� ��〈(
n+ 1
3n+ 2

,
1

n2 + 1

)〉
R235�%� �� ���� !��� 2 �2�2�R 
� �55� ���6%�������� �%�����

n+ 1
3n+ 2

→ 1
3
,

1
n2 + 1

→ 0 ,

.�� �2��%1�� ����& !���(
n+ 1
3n+ 2

,
1

n2 + 1

)
→
(

1
3
, 0
)
.

�� <�������# 
� �)	�����#� �����	� ���&��
�

'�,�
&��� D� 〈xn〉 2� 〈yn〉 Rk35�%� �� ������& λ ∈ R �����:%����& ���� 

��

〈xn〉 + 〈yn〉 .= 〈xn + yn〉 ; λ〈xn〉 .= 〈λxn〉

��� ��� ��K���%� �� �������� �� ����� ��������� �����
���� �%%��/� λ�

���������� ��/���1�,

����	�  ����� 〈xn〉 
� 〈yn〉 Rk�$��� ��	����� λ ∈ R �����!������ ����

xn → x 
� yn → y� ����	 〈xn〉+〈yn〉 
� λ〈xn〉 �����	������ 
� xn +yn →
x+ y� λxn → λx�

��������	
� #��� 
�%�6%6� �,& ���,',& +, �2��% 5�����.���� I�� �J  2��5��

�� �5���%E�2 �2� !�%���� Rk35�%� �6�%������ �� ��� ��%% . ��J, �

�� �
����������#

'�,�
&��� #����� 〈an〉 Rk35�%� �� ����, D� ϕ : N → N ����� E�� ��3

����� �8/��/: 2� bn = aϕ(n)& ���� 〈bn〉3� �� 〈an〉 ���������������

��/���1�,

�% ���� ����
���� R
k#,��

+� ����	� �� �� 〈an〉 �����	���� 
� ����	
	�
�� a ����	 ∀ 〈bn〉 	
����	��

����	� bn → a ���������

��������	
� #��� 
�%�6%6� �,& ���,4,& +, �2��% 5�����.����, �

-��(��!��
� � �2��% ���0� �.���� ��� ����& �� !� ��� �� ���� �2�

�����6���  2���� ���� � 5���!��$& ��%��� !��� 2 �2�� 6������& ���� ��

� �� ������� �� !��� 2 �2��,

0� ����	 2>�	�����?����
���

���	� ����	�
���
� ����	3� �� �� 〈an〉
Rk�$��� ��	���� ��	������ ����	 �
����� �����	���� 	
����	������

��������	
� #��� 
�%�6%6� �,& ���,4,& ', �2��% 5�����.���� Ia ∈ R !�%����

a ∈ Rk3� ��%% . ��J, �
%� =�!4�����������#

+� ��,�
&��� �� 〈an〉 Rk35�%� �� ������ &����
����������� ��/���1�&

!� ∀ ε > 0 ����2� ∃ n(ε) ∈ N& !��� ∀ p, q ≥ n(ε) (p, q ∈ N) ����2�

d(ap, aq) < ε,

+� ����	 2A��&"!���	� ���������&�� ���������3� (� 〈xn〉 Rk�$���

��	���� ����	 
� ���� ����	 �����	����� �� =�*������	�����

��������	
� #��� 
�%�6%6� �,& ���,4,& 9, �2��% 5�����.���� Ix ∈ R !�%����

x ∈ Rk3�& R !�%���� Rk3� ��%% . ��J, �

0� ��,�
&��� �� (X, d) ��� ��6� �� �� ��������� ��/���1�& !� 5����

������ ��6"!�3�� ���� ���/� ����,

-��(��!��
� Rk ��%��� ��� ��6� �2 ,



��� �������

������������ 
� �	����
��
��  !

�
�

��	�  ����������
�� "����
��
�	

� 0������ 0���%��� 2� � ���2���� � /�%$� 01��/2���� 0�%�����������

2� !��� 2 �2�2� �� ���%$& � 
�%�6%6� �, B, 2� B�, 0������25�� 5�/�������

0���%�����% 2� �2��%����% �6������ ��� �� ���%$����,

�� ���-
������#

+� ��,�
&��� �� f : E ⊆ (Rn, d) → R, f : E ⊆ (Rn, d) → (Rm, d)&

�.�6�E 01��/2������ /�%$� 2 �2�;& �%%��/� �� (Rn, d) ��� ��6� �� �� ��

(Rm, d)) ��� ��6� �2 5� �2���: 01��/2����� ��/���1�,

-��(��!��
� �� f : E ⊂ R2 → R �.�6�E 01��/2���� �%��� ���"��3

%��  �%�"�$�& ��%��� R2 × R = R3  2��!�%�����& .�� ���� ����%2%���2��

I� �0�6� �5 ���%���J � �2 5�%� ���"� ���302%� ��� ������ ������ 5�� /�3

%$�.�!��$ ���,

x
y

z

(0, 0, 2)

(−2, 0, 0)

(0,−2, 0)

��

�� ��� �*,,�����
$� ��������
� �������������� ����������


*�	��� �� f(x, y) = x + y + 2 ((x, y) ∈ R2) 01��/2�� � �0�� �2%��6% �

z = x+y+2 �.� I��%�
M

��!�%��M �2%��6% � (0, 0, 2), (0,−2, 0) 2� (−2, 0, 0)

��������J,

0� ��,�
&��� �� f : E ⊆ (Rn, d) → (Rm, d) �	

���
 ��������& !�

f(E) �� %����,

�� f : E ⊆ (Rn, d) → R 01��/2�� ������� I���	����J ��������& !� f(E)

�%6% $% I0�%1% :%J �� %����,

� sup f(E), inf f(E) �������� �� f ������ 0�%�:& �%%��/� ������ �%�$

�� %������� I������������& �%%��/� ����������J ��/���1� E3�,

1� ��,�
&��� D� �� f : E ⊆ (Rn, d) → R 01��/2�� ����2� %2�����

x1, x2 ∈ E& !���

sup f(E) = f(x1), inf f(E) = f(x2) ,

���� ��� �����6�& !��� f 3��� %2����� � ����%� ��!�����& �%%��/�

�������� E3�, �� f : E ⊆ (Rn, d) → R 01��/2����� �� x0 ∈ E3

5�� ���
� I�������J ��!�����& �%%��/� �������� /��& !� %2�����

K(x0, δ)& !��� x ∈ K(x0, δ) ∩ E3 � f(x) ≤ f(x0)& �%%��/� f(x) ≥ f(x0)

��%���1%,

*�	��� �� f(x, y) = x2 + y2 ((x, y) ∈ R2) 01��/2�� � ������ � �8/����3

�:�G
N f �%6% $% �� %����& �� � ���%/�� x2 + y2 ≥ 0 ∀ (x, y) ∈ R23 �,

N inf f(R2) = 0& �� � �� �%:55��� ����� 0 �%�$ �� %��& ��� 2��� �����:3

%���� ε > 0 ��� %�!�� �%�$ �� %��& �� � f(0, 0) = 0 < ε& .�� ������ k

�%�$ �� %�� � k ≤ 0,

N f(x, y) = x2 + y2 = 0 ⇐⇒ (x, y) = (0, 0)& .�� 0 �5���%E� �����6�&

��%��� "��� � (0, 0)35�� /��� 0�% f ,

N f 0�%1% :% ��� �� %����& �� � ∀ K3 � ∃ (x, y) ∈ R2& !��� f(x, y) > K,

D� K < 0& ���� �� ���%/�� ����,

D� K > 0& E�� f(x, 0) = x2 > K ⇐⇒ |x| > √
K& ��� ���� �2%��6%

������ �%��� (x, 0)3 �& ��%� � x >
√
K,

�� � 
����������� 
������

+� ��,�
&��� �� f : E ⊆ (Rn, d) → (Rm, d) 01��/2�� �� x0 ∈ E �����

 �� ���
�����& !� 5� ��%� ε > 03!�� %2����� δ(ε) > 0& !��� 5� ��%�



 � � ������������ ������� ��

x ∈ E, d(x, x0) = ‖x− x0‖Rn < δ(ε) ����2�

d(f(x), f(x0)) = ‖f(x) − f(x0)‖Rm < ε .

�� f : E ⊆ (Rn, d) → (Rm, d) 01��/2�� ���
����� �� A ⊆ E ������

���& !� A ������ ������5�� 0�%������,

-��(��!��
���

+, ���0���%���!��$ �� E����/����� �8 �������� /�%����� ��G

�� f : E ⊆ (Rn, d) → (Rm, d) 01��/2�� �� x0 ∈ E ����5�� 0�%�3

�����& !� ∀ KRm(f(x0), ε)3!�� ∃ KRn(x0, δ(ε))& !��� ∀ x ∈ E, x ∈
KRn)(x0, δ(ε)) =⇒ f(x) ∈ KRm(f(x0), ε),

', � 0�%��������� ����5�%� I%���%��J �6%��������& ���%� �%�5�%���� ��3

!��:,

*�	����

+, �� f(x, y) = c ((x, y) ∈ R2) 01��/2�� 0�%������ R23��& �� � 5� ��%�

(x0, y0) ∈ R2 ����5�� ∀ ε > 0 ����2� ∀ δ(ε) > 03�& .�� δ(ε) = 13��

/�%����/�& !� (x, y) ∈ R2 2� d((x, y), (x0, y0)) < 1& ���� 

|f(x, y) − f(x0, y0)| = |c− c| = 0 < ε .

', �� f(x, y) = x+y ((x, y) ∈ R2) 01��/2�� 0�%������ � (0, 0) ∈ R235��&

�� � !� ε > 0 �����& ���� 

|f(x, y) − f(0, 0)| = |x+ y| ≤ |x| + |y| ≤
≤

√
2
√
x2 + y2 =

√
2‖(x, y), (0, 0)‖R2

(∀ (x, y) ∈ R2) �����& !� δ(ε) = ε√
2

& 2� ‖(x, y) − (0, 0)‖ < ε√
2

& ���� 

|f(x, y) − f(0, 0)| < ε& ��� � 0�%��������� ��K�."�$����� ��%���1%2�2�

��%����,

4, ��

f(x, y) =

{
1 & !� (x, y) ∈ Q × Q

0 & ����5�2��

01��/2�� ��!�% ��� 0�%������& �� � ∀ (x0, y0) ∈ R2 ����2� ε = 13

!�� ∀ δ(ε) > 03� /�%����/� I0�%!�����%/�& !��� ∀ K((x0, y0), δ(ε))3

5�� /�� �%��� (x, y)& ��%� � x, y ∈ Q 2� �%��� ��& !��� x /∈ Q /���

y /∈ QJ %2����� (x, y) ∈ R2& !��� ‖(x, y)−(x0, y0)‖ < δ(ε) 2� |f(x, y)−
f(x0, y0)| = 1& ��� ���� �� �%%.����,

� ��� �*,,�����
$� ��������
� �������������� ����������


+� ����	 2������	� �	�3� (� f : E ⊆ (Rn, d) → (Rm, d) �����
�� ����	�


� ���� ����	 ��������� �� x0 ∈ E 
���$��� �� ���"�� x0���� �����	���#

E�$��� 〈xn〉 ��	���� ����
� �� 〈f(xn)〉 (Rm, d)�$��� ��	���� �����	���� 
�

lim
n→∞ f(xn) = f(x0)�

��������	
� #��� 
�%�6%6� �,& B,',& +, �2��% 5�����.����, �

-��(��!��
���

+, �� �%:55 /�����%� 4, 0�%���� �� ��/���%� �%//�% �� /�����%!��$& � ����63

���!��$& !��� �2%��6% f ��� 0�%������ � (0, 0) ����5��& �� � !� �%���

〈(xn, yn)〉 �� ���� �������1��& ��%� � (xn, yn) → (0, 0) 2� xn, yn ∈ Q&

���� f(xn, yn) = 1 → 1 �= f(0, 0),

', � 0�%��������� ��� �������� ��/�/�%��� ���0���%������� �� ������

/��� D����302%� ��K�."�$����� ��/����,

0� ����	� (� f : E ⊆ (Rn, d) → Rm (f = (f1, . . . , fm), fi : E → R

(i = 1, . . . ,m)) �����
�� ����	 
� ���� ����	 ��������� �� x0 ∈ E�$��

�� �� fi �����
���� ���"������ ��������� x0�$���

��������	
� �� ��/���%� �%/ 2� � �� ��������% ��������� �2��% ���.��2�2/�%

���%/��/�%$, �
0� ��,�
&��� �� f : E ⊂ R → (Rm, d) 01��/2��  ����� I��  ���J ���
�

����� �� x0 ∈ E ����5��& !� �� f (−∞, x0]∩E3 � I�%%��/� [x0,+∞)∩E3

 �J /�%$ %���;�.�2�� 0�%������ x035��,

-��(��!��
���

+, � ��K�."�$ ����& !��� f : E ⊂ R → (Rm, d) ⇐⇒ 5�% $% I�%%��/�

��55 $%J 0�%������ x035��& !� ∀ ε > 03!�� ∃ δ(ε) > 0, ∀x ∈ E, x0 −
δ(ε) < x ≤ x0 I�%%��/� x0 ≤ x < x0 + δ(ε)J ����2� d(f(x0), f(x)) < ε,

', ���0���%���!��$ � �� ������ /�%����� ��,

1� ����	� (� f : E ⊂ R → (Rm, d) �����
�� ����	 
� ���� ����	 �������

��� �� x0�$��� �� ��� ��$$	#� 
� $��	#� �� ����������

4� ����	 2(�	�����
3� �� �� f : E ⊂ (Rn, d) → R �����
�� ��������� ��

x0 ∈ E�$�� 
� f(x0) �= 0� ����	 ∃ K(x0, δ) ⊂ (Rn, d)� ����

∀ x ∈ K(x0, δ) ∩E� ����	 sign f(x0) = sign f(x)�

��������	
� #��� 
�%�6%6� �,& B,',& 4, �2��% 5�����.����, �



"� ������������ �� ���������&� �������� �!

1� ��,�
&��� �� f : E ⊂ (Rn, d) → (Rm, d) 01��/2�� �

���������

���
����� �� E1 ⊂ E !�%�����& !� ∀ ε > 0 ∃ δ(ε) > 0, ∀ x, y ∈
E1, d(x, y) < δ(ε) ����2� d(f(x), f(y)) < ε,

�� 6����������� 
� �)	�����#

+� ����	� �� �� f, g : E ⊆ (Rn, d) → Rm �����
���� ����������� ��

x0 ∈ E�$��� ����	 �� f + g 
� λf (λ ∈ R) �� ����������� x0�$���

��������	
� #��� 
�%�6%6� �,& B,4,& +, �2��% 5�����.����, �

0� ����	� �� �� f, g : E ⊆ (Rn, d) → R �����
���� ����������� ��

x0 ∈ E�$��� ����	 �� f · g 
� g(x) �= 0 (x ∈ E) ����
�

f

g

�� ���������

x0�$���

1� ����	 2�� �

������ � �����! ��	!����

���3�  ������� (Rn, d),
(Rm, d), (Rk, d)���	��*� ��	��> f : E ⊆ Rn → Rm, g : f(E) ⊆ Rm → Rk

�"��� �����
����� �� f ��������� �� x0 ∈ E 
���$��� g ��������� ��

y0 = f(x0)�$��� ����	 � h = g ◦ f �����
�� ��������� �� x0�$���

��������	
� #��� 
�%�6%6� �,& B,4,& 4, �2��% 5�����.����, �

*�	��� � h(x, y) = 3
√
x+ y ((x, y) ∈ R2) 01��/2�� 0�%������ (0, 0)35��&

�� � �� 5�%���6�& !��� �� f : R2 → R, f(x, y) = x + y 01��/2��

0�%������ (0, 0)35��& � g : R → R, g(x) = 3
√
x 0�%������ �� f(0, 0) = 0

!�%���& .�� ��%���1%��� �2��%1�� 0�%�2��%��,

%� 6����������� 
� ��-�����#!� 
������#

+� ����	 2� ��	!����

�� ��.�	�����
 �����	�	B(�3�

(� f : (Rn, d) → (Rm, d) �����
�� ����	� 
� ���� ����	 ��������� Rn����

�� ∀ B ⊂ (Rm, d) ����� ������	� f−1(B) = {x ∈ Rn | f(x) ∈ B} �����

(Rn, d)Rn �$���

0� ����	 2���.���
�� �
 ��	!����

��3�  ����� E ⊂ (Rn, d) ����


��� ������� f : E → (Rm, d) ��������� �����
�� E��� ����	 f(E)

���
��� (Rm, d)�$��� �)'��"��% ���
��� ������ ��������� �

� ����


�����

�" ��� �*,,�����
$� ��������
� �������������� ����������


��������	
� #��� 
�%�6%6� �,& B,9,& +, �2��% 5�����.����, �

7����������!���

+, f(E) �� %���� 2� �� �,

', D� m = 1& ���� f 0�%/���� E3� �� �5���%E� �����6��� 2� ��7��63

��� I�� � sup f(E) 2� inf f(E) �� �%��� f(E)3���& !� f(E) �� � 2�

�� �2�������� �� %����J,

1� ����	 2���.���
�� �
 ��!��	���
 ��	!����

�� 2@����33�

 ����� E ⊂ (Rn, d) ���
��� ������� f : E → (Rm, d) ��������� �����

�
�� E��� ����	 f ������������ ��������� E��� �)'��"��% ���
��� ����

����� ��������� �����
�� ������������ �����������

4� ����	 2�

��� ��B
�� �
 ��	!����

��3�

 ����� f : (Rn, d) → (Rm, d) ��������� �����
��� E ⊆ Rn '��������!�

����	 f(E) �� ���

5� ����	 2>�	����3�  ����� E ⊆ (Rn, d) '��������!� f : E → R �����

����� �����
��� �� c, d ∈ f(E), c < d� ����	 (c, d) ⊂ f(E) ����� f �
�


	�
� �'�'�� ���"�� �'�$���! 
	�
��� ���������

(� � �����
��
# 
������

+� ��,�
&��� �� f : E ⊆ (Rn, d) → (Rm, d) 01��/2����� �� x0 ∈ E′

���� �� ������� �����������& !� ∃ A ∈ Rm& !��� ∀ ε > 0 ∃ δ(ε) > 0,

∀ x ∈ E, 0 < d(x, x0) = ‖x− x0‖Rn < δ(ε)

����2�

d(f(x), A) = ‖f(x) −A‖Rm < ε .

A3� �� f 01��/2�� x035�%� !��� 2 �2�2��� ��/���1�& 2� lim
x→x0

f(x) = A

/��� f(x) → A, !� x→ x0 ��%8%2����� !�����%�6�,

-��(��!��
���

+, ���0���%���!��$ � �8 �������� /�%����� ��G

�� f : E ⊆ (Rn, d) → (Rm, d) 01��/2����� �� x0 ∈ E′ ����5�� ∃

!��� 2 �2��& !� ∃ A ∈ Rm& !��� ∀ KRm(A, ε)3!�� ∃ KRn(x0, δ(ε)),
∀ x ∈ KRn(x0, δ(ε))\{x0}, x ∈ E ����2� f(x) ∈ KRm(A, ε),

', � !��� 2 �2� %2���2�� ����5�%� �6%��������,



�� � ���������� ������� ��

4, �� f : E ⊆ (Rn, d) → (Rm, d) 01��/2����� �� x0 ∈ (Rn, d)35�� ���

%2����� !��� 2 �2��& !� x0 /∈ E′& /��� x0 ∈ E′ 2� ∀ A ∈ Rm, ∃ε > 0,
∀ δ(ε) > 0 ����2� ∃ x ∈ E, x ∈ KRn(x0, δ(ε))\{x0}, f(x) /∈ KRm(A, ε),

9, � !��� 2 �2� I!� %2�����J ���2 ��%�;�� ���!��� ����� I�� ���� ���

5�����.�����% N !����%$��& ���� � �� ��������% N ������ ;�� 5�%��3

!��$J,

*�	����

+, �� f(x, y) = c, (x, y) ∈ R2 01��/2���� ∀ (x0, y0) ∈ R235�� �

!��� 2 �2�� c& �� � (x0, y0) �� %$���� ������ R23��� 2� ∀ ε > 03

 � ∀ δ(ε) > 0 ����2� !� 0 < ‖(x, y) − (x0, y0)‖R2 < δ(ε)& ���� 

|f(x) − c| = |c− c| = 0 < ε �8/�������,

', ��

f(x, y) =

{
x+ y & !� (x, y) �= (0, 0)
2 & !� (x, y) = (0, 0)

01��/2����� %2����� !��� 2 �2�� � (0, 0) ∈ R2 ����5�� 2� �� �����%:

03/�%& �� � (0, 0) �� %$���� ������ R23��� 2� !� ε > 0 �����:%����&

���� 

|f(x, y) − 0| = |x+ y| ≤ |x| + |y| ≤
≤ √

2
√
x2 + y2 =

√
2‖(x, y) − (0, 0)‖R

(∀ (x, y) ∈ R2, (x, y) �= (0, 0)) �����& !� δ(ε) = ε√
2

2�

0 < ‖(x, y) − (0, 0)‖R2 < ε√
2

& ���� |f(x, y) − 0| < ε& ���� A = 0

��%%��� ��%���1% � !��� 2 �2� ��K�."�$�� (0, 0)35��,

0� ��,�
&��� #����� f : E ⊆ R → (Rm, d) ����� 01��/2�� 2� �� x0

�� %$���� ������ [x0,+∞)∩E (∨(−∞, x0]∩E))3���, �� f 01��/2�����

�� x035�� %2����� ��  3 I/���  ��3J ��$��� �����������& !�

∃ A ∈ Rm, ∀ ε > 0 ∃ δ(ε) > 0, ∀ x ∈ E, x0 < x < x0 + δ(ε)

I/��� x0 − δ(ε) < x < x0J =⇒ d(f(x), A) < ε,

A3� f ��55 I�%%��/� 5�%J �%��%� !��� 2 �2�2��� ��/���1� x035��& 2� �

lim
x→x0+0

f(x) = A = f(x0 + 0) /��� lim
x→x0−0

f(x) = A = f(x0 − 0)

��%8%2�� !�����%�6�,

�� ��� �*,,�����
$� ��������
� �������������� ����������


-��(��!��
���

+, � ��K�."�$ � %���;�.�2� 0���%����� !�����%���/�% �� ���0���%���!��$

I!����%$�� � 0�%���������!��J,

', � �8 �������� ��0���%����� �� �����!��$,

4, 
8����� 5�%��!��$ � �8/�����:G

#����� f : E ⊆ R → (Rm, d) ����� 01��/2�� 2� �� x0 �� %$���� ������

[x0,+∞) ∩ E ∧ (−∞, x0] ∩ E3���, �� f 01��/2����� x035�� ���� &

2� "��� ���� %2����� !��� 2 �2��& !� %2����� f(x0 − 0) 2� f(x0 + 0) 2�

f(x0 − 0) =
= f(x0 + 0) = A If !��� 2 �2�� x035��J,

1� ��,�
&��� �� f : E ⊆ (Rn, d) → R 01��/2���� x0 ∈ E′35�� � !��� 3

2 �2�� +∞ I/��� −∞J& !� ∀K3!�� ∃ δ(K) > 0, ∀ x ∈ E, 0 < d(x, x0) <
δ(K) ����2� f(x) > K I/��� f(x) < KJ,

-��(��!��
���

+, � ��K�."�$ �8 ����������% �� ���0���%���!��$,

', � +∞ I/��� −∞J ����%��%� !��� 2 �2��2�� �� ���0���%���!��$,

*�	��� �� f(x, y) = 1
x2+y2 ((x, y) ∈ E = R2 \ (0, 0)) 01��/2����� �

(0, 0) ∈ E′35�� � !��� 2 �2�� +∞,

��K�."�$ ��� ��� ��� ��%% 5�%���6��& !��� ∀ K3 � ∃ δ(K) > 0& !���

5� ��%� (x, y) ∈ R2, 0 < ‖(x, y) − (0, 0)‖ < δ(ε) ����2� 1
x2+y2 > K,

D� K ≤ 0& ���� x2 + y2 > 0 ((x, y) ∈ E) ����� �� ∀ δ(K) ����2� ����&

!����� 1
x2+y2 > 0 ≥ K ∀ (x, y) ∈ E ����2�,

D� K > 0& ���� 

1
x2 + y2

> K ((x, y) ∈ E) ⇐⇒ 0 < x2 + y2 <
1
K

⇐⇒

⇐⇒ 0 <
√
x2 + y2 <

1√
K

⇐⇒ ‖(x, y) − (0, 0)‖ < 1√
K

����& !��� !� δ(K) = 1√
K

& ���� ∀ (x, y) ∈ R2 ����2�

0 < ‖(x, y) − (0, 0)‖ < 1√
K

35$% �8/�������& !��� 1
x2+y2 > K,

4� ��,�
&��� #����� E ⊆ R 0�%1% :% I�%6% $%J ��� �� %���� !�%���&

f : E → (Rm, d) ����� 01��/2��, �� f 01��/2����� +∞ I/��� −∞J� ��

������� �����������& !� ∃ A ∈ Rm, ∀ ε > 0 ∃M ∈ R, ∀ x ∈ E∧x > M
(∨ x < M) ����2� d(f(x), A) < ε, ���� A3� f + ∞ I/��� −∞J35�%�



�� ���������� �� �'�
�
�
� ���
��
 
��
��)��
����
� ��

!��� 2 �2�2��� ��/���1�& 2�  � � lim
x→+∞ f(x) = A ∨ lim

x→−∞ f(x) = A

��%8%2�� !�����%�6�,

-��(��!��
� ��K���%!��$ � /2���%�� /��� /2���%�� !��� 2 �2� ��,

+� ����	 2������	� �	�3� (� f : E ⊆ (Rn, d) → (Rm, d) �����
����� ��

x0 ∈ E′ 
���$�� ����	� 
� ���� ����	 �
����� ����	
	�
��� �� ∀ x0����

�����	���# 〈xn〉 : N → E\{x0} ��	���� ����
� ∃ lim
n→∞ f(xn) = A�

��������	
� S��& ���� � 0�%�����������%& "��� �� ������ KRm(f(x0), ε)

!�%���� KRm(A, ε)3� 2� �� x035�%� 0�%��������� !�%���� x035�%� !��� 2 �23

��� ��%% �������, �

*�	��� �� f(x, y, z) = x2+y2+z2 ((x, y, z) ∈ R3) 01��/2����� � (0, 0, 0)

����5�� � !��� 2 �2�� 0& �� � (0, 0, 0) �� %$���� ������ E = R3\(0, 0, 0)3

��� 2� ∀ 〈(xn, yn, zn)〉 E35�%� �� ���� ����2� (xn, yn, zn) → (0, 0, 0) ���� 

2� "��� ���� & !� xn → 0, yn → 0, zn → 0 =⇒ x2
n → 0, y2

n → 0,
z2

n → 0 =⇒ x2
n + y2

n + z2
n → 0& ���� ��%���1% �� ��/���%� �%/,

0� ����	� (� f : E ⊆ (Rn, d) → Rm (f = (f1, . . . , fm), fi : E → R)

�����
������ ����	 
� ���� ����	 �
����� ����	
	�
�� �� x0 ∈ E′�$��� ��

�� fi �����
������� �
����� ����	
	�
�� x0�$���

��������	
� �� ��/���%� �%/ 2� �� Rm35�%� �� ������ � /�������$ �2��%��

�%�����, �

+� >����
��
# 
� �)	�����# �����	� ������'�����
��#

+� ����	�  ������� f, g : E ⊆ (Rn, d) → R �"��� �����
����� ���� ��
x0 ∈ E′�$�� lim

x→x0
f(x) = A ∧ lim

x→x0
g(x) = B� ����	

�J lim
x→x0

(f + g)(x) = lim
x→x0

[f(x) + g(x)] = A+B ;

5J lim
x→x0

(λf)(x) = lim
x→x0

λf(x) = λA , (λ ∈ R ∨ C) ;

"J lim
x→x0

(f · g)(x) = lim
x→x0

[f(x) · g(x)] = A ·B ;

�J lim
x→x0

(
f

g

)
(x) = lim

x→x0

f(x)
g(x)

=
A

B
, �� g �= 0, B �= 0 �

��������	
� �� ��/���%� �%/ 2� � �� ������ � /�������$ ���0�%�%: �2��%��

�%�����, �

�% ��� �*,,�����
$� ��������
� �������������� ����������


-��(��!��
� �J 2� 5J Rm35�%� 2 �2�; 01��/2�� �� � �� ���0���%���!��$

2� 5�����.�!��$,

0� ����	� �� f : E ⊆ (Rn, d) → R 
� x0 ∈ E′� ����	 ��

�J ∃ lim
x→x0

|f(x)| = +∞ =⇒ lim
x→x0

1
f(x)

= 0 (f �= 0) ;

5J ∃ lim
x→x0

f(x) = 0 =⇒ lim
x→x0

1
|f(x)| = +∞ (f �= 0) ;

��������	
� �� ��/���%� �%/ 2� � �� ������ � /�������$ ���0�%�%: �2��%��

�%�����, �

*�	��� �� f(x, y, z) = x2 + y2 + z2 ((x, y, z) ∈ E = R3 \ (0, 0, 0))

01��/2����� � (0, 0, 0) ∈ E′35�� � !��� 2 �2�� 0 I�!��� ��� �� �%:55

5�%���6�J& .�� � �2��%1�� 5J3 2��� �����

lim
(x,y,z)→(0,0,0)

1
x2 + y2 + z2

= +∞ .

1� ����	�  ������� f, g, h : E ⊆ (Rn, d) → R �"��� �����
���� 
�

x0 ∈ E′� ����	� ��

�J ∃ lim
x→x0

f(x) = A ∧ lim
x→x0

g(x) = B ∧ ∃ K(x0, δ), f(x) ≤ g(x)

∀ x ∈ [K(x0, δ)\{x0}] ∩ E =⇒ A ≤ B ;

5J ∃ lim
x→x0

f(x) = A ∧ lim
x→x0

g(x) = B ∧A < B =⇒ ∃ K(x0, δ),

f(x) < g(x) ∀ x ∈ [K(x0, δ)\{x0}] ∩E ;

"J ∃ K(x0, δ), f(x) ≤ h(x) ≤ g(x) ∀ x ∈ [K(x0, δ)\{x0}] ∩ E
∧ ∃ lim

x→x0
f(x) = lim

x→x0
g(x) = A =⇒ ∃ lim

x→x0
h(x) = A .

��������	
� �� ��/���%� �%/ 2� � �� ������ � /�������$ ���0�%�%: �2��%��

�%�����, �

4� ����	 2�� �

������ � �����! "����������3�

 ������� �"����� �� (Rn, d), (Rm, d) 
� (Rk, d) ���	��*� ��	��� x0 ∈ Rn′


� y0 ∈ Rm′� ����$$� f : Rn\{x0} → Rm\{y0}, g : Rm\{y0} → Rk

�����
����� ����

∃ lim
x→x0

f(x) = y0 ∧ lim
y→y0

g(y) = A =⇒ ∃ lim
x→x0

(g ◦ f)(x) = A .

��������	
� #��� 
�%�6%6� �,& B�,',& 9, �2��% 5�����.����, �



�� � ���������� �� � ������������ ���-������ ��

.� � �����
��
# 
� � 
����������� #�-4������

����	�  ����� f : E ⊂ (Rn, d) → (Rm, d) �"��� �����
�� 
� x0 ∈ Rn,
x0 ∈ Rn′� f ����	 
� ���� ����	 ��������� x0�$��� �� ∃ lim

x→x0
f(x) =

f(x0)�

��������	
� #��� 
�%�6%6� �,& B�,4, 0������ �2��%2��� 5�����.����, �

*�	��� ��

f(x, y)

{
x+ y & !� (x, y) �= (0, 0)
2 & !� (x, y) = (0, 0)

01��/2�� � 5�%���6�& !��� ∃ lim
(0,0)→(0,0)

f(x, y) = 0& �� f(0, 0) = 2 �= 0&

.�� f ��� 0�%������ (0, 0)35��,

'�,�
&��� D� �� f : E ⊂ (Rn, d) → (Rm, d) 01��/2�� ��� 0�%������

�� x0 ∈ E ����5��& ���� ��� �����6�& !��� x0 f 3��� ��������� !�%��&

/��� !��� f 3��� x035�� ��������� /��,

D� f : E ⊂ R → (Rm, d) ����� 01��/2�� 2� x0 ∈ E0 Ix0 5�%�: ����

E35��J& 2� x0 ��������� !�%�� f 3���& ��/�55� ∃ lim
x→x0+0

f(x) = f(x0 +

0)∧ lim
x→x0−0

f(x) = f(x0 − 0)& ���� ��� �����6�& f 3��� x035�� �%�:0��E

��������� /��, D� �2� f(x0 − 0) = f(x0 + 0)& ���� ��� �����6�& !���

� �������� �����1����!��:,

D� f 3��� x035�� ��������� /�� 2� �� ��� �%�:0��E& ���� ��� �����0��E

����������� ��/���1�,

*�	��� �� �%:55� �2%�� 01��/2��� ��� 0�%������ (0, 0)35��& .�� ��� ���3

������ /��& � �� �����1����!��: �� f(0, 0) = lim
(x,y)→(0,0)

f(x, y) = 0 /�3

%��������%,



�� �������

# $�	��������	
��� �������������� 
� ���

���������

9�	����
�

�55�� � 0������5�� �2� E� ����� �%�% ���� ���1�� ���,

� �������3C���%���� ����� �% � �������3����� �% ��� �%��%����.����&

��%���� %2���2�2 � �����$ �%�����: 0�%�2��% /������ ��2��%� � �� %����

/�%�����E 01��/2���� 0���%��� 2� �6%�����������,

� ����� N � �2�:55���5�� �2� !�����%� N �8 5������ ����� �%& ��3

%��� �%������� � �������3C���%���� ����� �% ���.��2�2/�% /����!��1�� 5�&

�� �%:55 �� ��%% ��������1�� � �8 52� � /�������$ %��0������55 0���%��3

��� 2� �2��%����,
�� ?������� 	�������@ 
���	
���#

+� ��,�
&��� #����� f : [a, b] → R ����� 01��/2��&

P
.= {a = x0, x1, . . . , xn = b}

[a, b] ��� 0�%�������, �

I+J V (f, [a, b], P ) .=
n−1∑
k=0

|f(xk+1) − f(xk)|

8������� �� f 01��/2�� I[a, b] 0�%����J P 0�%������!�� �� ���$ ����������3

��� ��/���1�,

��

� �� � ��
����#���
���� �������������� �� �������
���

0� ��,�
&��� #����� f : [a, b] → R �����& P �� [a, b] ��� �����:%����

0�%�������& ���� �

I'J V (f, [a, b]) = sup
P
V (f, [a, b], P ) = sup

P

n−1∑
k=0

|f(xk+1) − f(xk)|

������ �� f 01��/2�� [a, b] 0�%���� ��%��� I�������J ������������ I������

��������J ��/���1�,

1� ��,�
&��� �� f : [a, b] → R 01��/2�� �������� ��������% [a, b]3�&

!�
I4J V (f, [a, b]) < +∞

��%���1%,

*�	��� �� f(x) = 2x+ 3 (x ∈ [0, 2]) 01��/2�� �� %���� /�%�����E& �� �

������ ;�� %��!��$& !��� ∀ P = {0 = x0, x1, . . . , xn = 2} ����2�

V (f, [0, 2], P ) = 2xn + 3 − (2x0 + 3) = 2 · 2 + 3 = 7 ,

.��

supV (f, [0, 2], P ) = V (f, [0, 2]) = 7 < +∞ .

+� ����	� �� f : [a, b] → R �������� ����	 ��	����� ����������

��������	
� D� �2%��6% f ������� �8/��/:& P ��� 0�%������� [a, b]3���&

���� f(xk+1) − f(xk) ≥ 0 ∀ k3 �& .��

V (f, [a, b], P ) =
n−1∑
k=0

(f(xk+1) − f(xk)) = f(b) − f(a) ∀ P 3 � &

��2 � V (f, [a, b]) = f(b) − f(a) < +∞& ���� 5�����.���� ��%%���, �

*�	��� ���� ����& !��� �� f : [0, 4] → R, f(x) = x2 01��/2�� �������

�8/����:& .�� �� %���� /�%�����E,

0� ����	� �� f : [a, b] → R ��	����� ���������� ����	 ��	������

��������	
� #����� x ∈ [a, b] �����:%����& P = {a, x, b} �� [a, b] ��� 0�%���3

����& ���� 

V (f, [a, b], P ) = |f(x) − f(a)| + |f(b) − f(x)| < V (f, [a, b]) < +∞ ,

.�� |f(x) − f(a)| < V (f, [a, b])& ����

f(a) − V (f, [a, b]) < f(x) < f(a) + V (f, [a, b]) ,



�� �������� �����
��/ ��������
� �!

��� ���� f �� %���������, �

-��(��!��
� ��� 0�%������ 01��/2�� ��� 0�%�2�%��1% �� %���� /�%�����E,

1� ����	� �� f, g : [a, b] → R ��	����� ��������� �����
����� ����	

f + g, f − g, f · g : [a, b] → R ��	����� ������������ .���$$� g ≥ σ > 0

�σ ∈ R� ����
�

f

g

�� ��	����� ����������

��������	
� -2%��6% F = f + g3 �

|F (xk+1) − F (xk)| = |f(xk+1) + g(xk+1) − f(xk) − g(xk)| ≤
≤ |f(xk+1) − f(xk)| + |g(xk+1) − g(xk)| ,

2� ��2 � I+J �����

V (F, [a, b], P ) ≤ V (f, [a, b], P ) + V (g, [a, b], P ) ,

���5:% I'J �����

V (F, [a, b]) ≤ V (f, [a, b]) + V (g, [a, b]) < +∞

�8/�������& ��� ���� �� �%%.����,

� ����� �2� �%%.��� !����%$�� 5�����.�!��$, �

*�	��� �� f(x) = x2 + 2x − 4 (x ∈ [0, 3]) 01��/2�� �� %���� /�%�����E&

�� � �� f(x) = x2 (x ∈ [0, 3]) 2� g(x) = 2x − 4 (x ∈ [0, 3]) 01��/2����

���������& .�� �� %���� /�%�����E�� 2� ���� �2��%1�� ����� �� 8�����1�

�� ��,

4� ����	� �� f : [a, b] → R �"��� �����
��� c ∈ [a, b] �����!������ ����	

I9J V (f, [a, b]) = V (f, [a, c]) + V (f, [c, b])

���������

7����������!���

+, f : [a, b] → R ���� 2� "��� ���� �� %���� /�%�����E [a, b]3�& !�

�� %���� /�%�����E [a, c]3� 2� [c, b]3�,

', D� f : [a, b] → R �%���& !��� ������� �� [a, a1], [a1, a2], . . . , [an−1, b]

���� /�%%6�����& ���� �� %���� /�%�����E [a, b]3�,

*�	����

+, �� f(x) = x2 (x ∈ [−1, 1]) 01��/2�� �� %���� /�%�����E& �� � � [−1, 0]

2� [0, 1] ���� /�%%6����� �� %���� /�%�����E I!����� ��� ������� "�8�3

���:& �%%��/� �8/����:J,

�" �� � ��
����#���
���� �������������� �� �������
���

', �� f : [0, 50π] → R, f(x) = cos(x) 01��/2�� �� %���� /�%�����E& �� �

������� � [0, π], [π, 2π], . . . , [49π, 50π] ���� /�%%6�����,

5� ����	 2C�����3� (� f : [a, b] → R �����
�� ����	 
� ���� ����	 ��	�

����� ��������� [a, b]��� �� �
������ g, h : [a, b] → R ������� �����
�����

���� f = g − h�
�� ��������<�����*�� ��������

+� ��,�
&��� #������� f, g : [a, b] → R �� %���� 01��/2����&

P
.= {a = x0, x1, . . . , xn = b} [a, b] ��� �����:%���� 0�%�������& tk ∈

[xk−1, xk] �����:%����, �
σ(f, g, P ) =

n∑
k=1

f(tk) · [g(xk) − g(xk−1)]

������ �� f 01��/2�� P 0�%������!��& 2� � tk (k = 1, . . . , n) 2 �23

���!�� �� ���$& g3 � /�������$ "�������'�������� ����
�����������

�����
2��� ��/���1�,

0� ��,�
&��� �� f �	

���
 "�������'�������� ����
������� � g

�	

���
�� ����������� [a, b]��& !� [a, b] 5� ��%� 〈Pn〉 �� ��%�� 0�%3

�������� �����!�� �� ���$ 5� ��%� 〈σ(f, g, Pn)〉 �������3C���%���� �����3

 �%�8��%.�: 8������� ���� ���/� ����, � �� ������ I���25�2�� �8�8�J !�3

�� 2 �2�2�& �

lim
n→∞σ(f, g, Pn) .=

b∫
a

fdg

⎛
⎝=

b∫
a

f(x)dg(x)

⎞
⎠

������ �� f 01��/2�� g3 � /�������$"�������'�������� ����
��������

��/���1� [a, b]3�,

-��(��!��
� D� g(x) = x (x ∈ [a, b]), f : [a, b] → R �� %����&���� 

� �������3C���%���� ����� �% � �������3����� �%� ����,

+� ����	� �� �
�����

b∫
a

f1dg,
b∫

a

f2dg� ����	 �
�����

b∫
a

(f1 + f2)dg =

b∫
a

f1dg +

b∫
a

f2dg .



 � ��
����#���
��	
� ���
���� ��

��������	
� � ��K�."�$ �8�/��%�� 0�%!�����%���/�%, �

0� ����	� �� �
�����

b∫
a

fdg1,
b∫

a

fdg2� ����	 �
�����

b∫
a

fd(g1 + g2) =

b∫
a

fdg1 +

b∫
a

fdg2 .

��������	
� � ��K�."�$ �%�����, �

1� ����	� �� �
�����

b∫
a

fdg 
� k, l ∈ R� �����	 �
�����

b∫
a

(kf)d(lg) = kl

b∫
a

fdg .

��������	
� � ��K�."�$ �%�����, �

4� ����	� �� a < c < b 
� �
�����

b∫
a

fdg,
c∫
a

fdg,
b∫
c

fdg� ����	

b∫
a

fdg =

c∫
a

fdg +

b∫
c

fdg .

��������	
� � ��K�."�$ �%�����, �

5� ����	 2.��&��	�
 �������	�
3� �� ��

b∫
a

fdg 
�

b∫
a

gdf �����	���� ������

�
������ ����	 � ����� �� 
�

b∫
a

fdg +

b∫
a

gdf =
[
f · g]b

a
.

6� ����	� �� f, g : [a, b] → R, f ���������� g ��	����� ���������� ����	

�
�����

b∫
a

fdg 
�

∣∣∣∣∣∣
b∫

a

fdg

∣∣∣∣∣∣ ≤M · V (g, [a, b]), �� |f | ≤M .

�� �� � ��
����#���
���� �������������� �� �������
���

*�	��� D�

f(x) = 1 (x ∈ [0, 1])

2�

g(x) =

⎧⎨
⎩

0 & !� x ∈ [0, 1
2

[
1 & !� x ∈ [12 , 1]

���� %2�����

1∫
0

f dg& �� � f 0�%������ g ����� I��/�% �������J �� %����

/�%�����E,


�/�55� |f | ≤ 1 2� V (g, [0, 1
2 [) = 1& �%%��/� V (g, [ 12 , 1]) = 0 �����

V (g, [0, 1]) = 1& .�� ∣∣∣∣∣∣
1∫

0

f dg

∣∣∣∣∣∣ ≤ 1 .

8� ����	� �� f, g : [a, b] → R, f 
� g′ ���������� ����	 �
�����

b∫
a

fdg 
�

b∫
a

fdg =

b∫
a

f(x)g′(x) dx .

*�	��� D��� ���� ��� �

π∫
0

xd(sin(x)) �������3C���%���� ����� �%�,

f(x) = x (x ∈ [0, π]) 0�%������& g(x) = sin(x) (x ∈ [0, π])3 � ����� %2�����

g′(x) = cos(x) 2� �� 0�%������& .�� � �2��% �����

π∫
0

xd(sin(x)) =

π∫
0

x cos(x) dx =
[
x sin(x)

]π
0
−

π∫
0

1 sin(x) dx =

=
[
x sin(x)

]π
0

+
[
cos(x)

]π
0

= 0 − 0 + cosπ − cos 0 = −2 .

1� ��,�
&��� #������� f = (f1, . . . , fn) : [a, b] → Rn, g : [a, b] → R

����� 01��/2����, �� f �����������# �	

���
��� � g (������ ���

���#) �	

���
�� ��������� "�������'�������� ����
������ [a, b]

0�%��� ��

b∫
a

fdg
.=

⎛
⎝ b∫

a

f1dg, . . . ,

b∫
a

fndg

⎞
⎠ ∈ Rn



 � ��
����#���
��	
� ���
���� ��

/���� � 2 ��1�& !� ��

b∫
a

fidg ����� �%�� %2������,

4� ��,�
&���

#������� f = (f1, . . . , fn) : [a, b] → Rn, g = (g1, . . . , gn) : [a, b] → Rn

����� 01��/2����, �� f �����������# �	

���
��� � g �����������#

�	

���
�� ��������� "�������'�������� ����
������ [a, b] 0�%��� ��

b∫
a

fdg
.=

n∑
i=1

b∫
a

fidgi

������ 2 ��1�& !� ��

b∫
a

fidgi ����� �%�� %2������,

-��(��!��
���

+, D� � 4, ��K�."�$5�� g(x) = x, x ∈ [a, b]& ���� ��

b∫
a

f
.=

⎛
⎝ b∫

a

f1, . . . ,

b∫
a

fn

⎞
⎠ ∈ Rn

/���� �� f �����������# �	

���
 "�����������
����� [a, b] 0�3

%���& !� ��

b∫
a

fi (i = 1, . . . , n) �������3����� �%�� %2������,

', ��

b∫
a

fdg �.�6�E �������3C���%���� ����� �% � � �� �� �06� +3), 2� =,

�2��%�� /�%�������� �2%�1%& �.� � <, �2��% ��� /�%����������% ��/�!��:,

4, )�=����<�����������	  ������� f, F : [a, b] → Rn �������� ����
f )������������	�����#� 
� F ′ .= (F ′

1, . . . , F
′
n) = f � ����	

b∫
a

f = F (b) − F (a) .

��������	
�

b∫
a

f =

⎛
⎝ b∫

a

f1, . . . ,

b∫
a

fn

⎞
⎠ = (F1(b) − F1(a), . . . , Fn(b) − Fn(a)) =

= (F1(b), . . . , Fn(b)) − (F1(a), . . . , Fn(a)) = F (b) − F (a) .

�% �� � ��
����#���
���� �������������� �� �������
���

9, #����� f : [a, b] → Rn �������3����� �%!��$& ���� ‖f‖ �� ��& 2�∥∥∥∥∥∥
b∫

a

f

∥∥∥∥∥∥
Rn

≤
b∫

a

‖f‖ .

�� A$� 
# �	������

+� ��,�
&��� �� f = (f1, . . . , fn) : [a, b] → Rn 0�%������ 01��/2���

Rn� ��� 
�� ����& [a, b]3� ������������������������& f 3� � �8 5� ���

����������������������� ��/���1�, f(a) 2� f(b) � 
�� � ���$�& �%%��/�

��
�������, D� f(a) = f(b)& ���� f ���� 
�� �, D� f �8%"�8�8���

���2 ��%�;& ���� ./��� ��/���1�,

0� ��,�
&��� f = (f1, . . . , fn) : [a, b] → Rn ���� 
�� �& !� f 0�%���3

����� ��00� ��"��%!��$ I���� f ′ .= (f ′
1, . . . , f

′
n) : [a, b] → Rn 0�%������J

2�

n∑
i=1

f ′2
i (t) > 0 (t ∈ [a, b])

��%���1%,

1� ��,�
&��� �� f = (f1, . . . , fn) : [a, b] → Rn 
�� � ���� �

Γ = {(f1(t), . . . , fn(t)) | t ∈ [a, b]}

!�%���, I� �2��� N �2!� ��%8%2�5�� �� N ������.��6� � �8 52/�%,J Γ ���

������ �� f 
�� � ��  ������ ������& !� ∃ I%���%�55 �2�J t, t′ ∈ [a, b]&

!��� f(t) = f(t′)

-��(��!��
���

+, � G = {(x, y) ∈ R2 | x2 + y2 = 1} �

��
��� ��� �����������

����������� �� f = (cos, sin) : [0, 2π] → R2 01��/2��, ��%��!��$&

!��� �� ����2��8 ����& �� � �8 5�,

', D� a, b ∈ Rn, a �= 0 ����� /���� ��& ���� ��

E
.= {at+ b = (a1t+ b1, . . . , ant+ bn) ∈ Rn, t ∈ R}

����!�%���� � b3� ��!�%��$ a � ���E n�$�������� �

������� ��3

/���1�, I� t → at+ b ∈ Rn, t ∈ R %��2���2� �� ������� ��� �� ��23

�� �� �%:�%%.����,J



!� �*�,�� .�����
� ��

4, #����� x, y ∈ Rn 2� x �= y, �� {x + t(y − x) | t ∈ [0, 1]} ⊂ Rn

!�%���� �� x3�� 2� y3� 8�����8�: n�$�������� ���������� ��/���1�,

I
� �2�������� d(x, y) .= ‖x− y‖ .=

√
n∑

i=1

(xi − yi)2, d(x, 0)
.= ‖x‖ .=√

n∑
i=1

x2
i ).

4� ��,�
&��� #����� f = (f1, . . . , fn) : [a, b] → Rn ��� �8 5�

P = {a = t0, t1, . . . , tm = b} [a, b] ��� 0�%�������& ‖f(ti) − f(ti−1)‖ ��

f(ti) 2� f(ti−1) �������� 8�����8�: ������� !�����, ��

�(f, P ) =
m∑

i=1

‖f(ti) − f(ti−1)‖

������ �� f �8 525� � P 0�%������� ����2� 5�. � ����������� ���������

��/���1�, I��%��!��$& !��� !� P1 ⊂ P2& ���� �(f, P1) ≤ �(f, P2),J

5� ��,�
&��� �� f = (f1, . . . , fn) : [a, b] → Rn 
�� � �������������&

!� �� {�(f, P ) | P �����:%���� 0�%������� [a, b]3���T !�%��� �� %����, ��

���� %2���:

�(f) = sup
P

{�(f, P )}(= �(f, [a, b])
)

������ �� f 
�� � ����������� ��/���1�,

-��(��!��
���

+, �� ./!���� ��� 01�� � �8 5� �� ��2�� �%:�%%.�����$%,

', �� x, y ∈ Rn �������� 8�����8�: ������� ./!����� ‖x − y‖& �� � �

4, ��K�."�$ 6���� 4, ��������2� ����� �� [x, y] Rn35�%� ������� �� �3

�2�� �� �%:�%%.����� �� f : [0, 1] → Rn&

f(t) = x+ (y − x)t = (x1 + (y1 − x1)t, . . . , xn + (yn − xn)t) =

= (f1(t), . . . , f2(t))

%� �� � ��
����#���
���� �������������� �� �������
���

01��/2�� ����& .�� [0, 1] 5� ��%� P = {0 = t0, t1, . . . , tm = 1} 0�%���3

���� �

�(f, P ) =
m∑

i=1

∥∥x+ (y − x)ti − (x+ (y − x)ti−1)
∥∥ =

= ‖y − x‖
m∑

i=1

|ti − ti−1| = ‖x− y‖
m∑

i=1

(ti − ti−1) =

= ‖x− y‖(1 − 0) = ‖x− y‖ ,

.�� �(f) = sup
P
�(f, P ) = ‖x− y‖,

4, D� f : [a, b] → Rn �8 5�& c ∈ [a, b], f  ����K��%!��$ [a, b]3�& E��

�(f, [a, b]) = �(f, [a, c]) + �(f, [c, b]) .

@����� � �8/�����:G

����	�  ����� f = (f1, . . . , fn) : [a, b] → Rn ���� �'	$�� ����	 	����/�

������#� 
� ��������

�(f, [a, b]) =

b∫
a

‖f ′(t)‖ dt =

b∫
a

√√√√ n∑
i=1

f
′2
i (t) dt .

7����������!���

+, #����� g : [a, b] → R 0�%�������� ��A� ��"��%!��$ 01��/2��& ���� ��

f = (f1, f2) : [a, b] → R2 (f1(t) = t, f2(t) = g(t), t ∈ [a, b]) � g

� �0����� I� �K��������J ��� �� ��2�� �� �%:�%%.����& ��%� �

f ′(t) = (1, g′(t)) ��%���1%& .�� !� G ��%8%� � g �%��% ����� �8 52�& ���� 

./!����� �

�(G) =

b∫
a

√
1 + g′2(t) dt

�8/������� I+J35:%,

', 
������1� �� f = (cos, sin) : [0, 2π] → R2 ����2��8 �,

#����� s ∈ (0, 2π], f
s

: [0, s] → R2 f [0, s]3 � /�%$ %���;�.�2��, ���� 



"� �*�,
�
���#���
���� %�

f
s

�� ����2��8 ��� ./�, I+J35:% �8�& !���

�(f
s
) =

s∫
0

√
sin2(t) + cos2(t) dt =

s∫
0

1 dt = s

�� ����2��8 ����� ./2��� !�����, D� s = 2π& ���� �(f) = 2π ��

����2��8 �� 1%���, �� ����& !��� � �� π3�� ���������� � �8�2�����3

%�� π3/�%, s3� � P0OPs ��8� ./�2 �2�2��� ��/���1�, � 360◦3�� ��8�

./�2 �2�� 2π,

4, f
r

= (f1, f2) : [0, 2π] → R2, f1(t) = r · cos t, f2(t) = r · sin t (t ∈
[0, 2π]) �� � ��$ �8�2�����E r �6�� E �8 , I+J35:% �8�& !���

�(f
r
) =

2π∫
0

√
r2 sin2(t) + r2 cos2(t) dt =

2π∫
0

r dt = 2rπ .

%� A$� ���������������

'�,�
&��� #����� g = (g1, . . . , gn) : [a, b] → Rn ����� �8 5�&

f : g([a, b]) → Rn /���� 01��/2��& !��� f = (f1, . . . , fn), �� f 01��/2��

g 
�� �����������
������ I��%8%2��

∫
g

fJ �� f◦g : [a, b] → Rn 01��/2�� g3

 � /�������$ [a, b] 0�%���� �������3C���%���� ����� �%��� 2 ��1� I!� %2�����J&

���� ∫
g

f
.=

b∫
a

(f ◦ g) dg =
n∑

i=1

b∫
a

(fi ◦ g) dgi .

+� ����	� �� g 	����/������# [a, b]��� f ��������� g([a, b])��� ����	 �
�����

�� f �����
�� g �'	$������ �����	�����

��������	
� @�%!�����%�6�& !��� !� g  ����K��%!��$& ���� � gi 01��/23

���� �� %���� /�%�����E��, L�� ��/�% fi ◦ g : [a, b] → R 0�%������ 01��3

/2��& gi �� %���� /�%�����E �8/�������& !��� �2�����

b∫
a

(fi ◦ g) dgi (i =

1, . . . , n)& .�� %2�����

b∫
a

(f ◦ g) dg& ����

∫
g

f , �

% �� � ��
����#���
���� �������������� �� �������
���

0� ����	� �� �
�����

∫
g

f 
� ‖(f ◦ g)(x)‖ ≤M � ����	

∣∣∣∫
g

f
∣∣∣ ≤M · �(g)�

��������	
�∣∣∣∣∣∣∣
∫
g

f

∣∣∣∣∣∣∣
.=

∣∣∣∣∣∣
b∫

a

(f ◦ g) dg
∣∣∣∣∣∣
.=

∣∣∣∣∣∣
n∑

i=1

b∫
a

(fi ◦ g) dgi

∣∣∣∣∣∣ ≤

≤
n∑

i=1

∣∣∣∣∣∣
b∫

a

(fi ◦ g) dgi

∣∣∣∣∣∣ ≤M ·
n∑

i=1

∣∣∣∣∣∣
b∫

a

1 dgi

∣∣∣∣∣∣ ≤M · �(g) . �

1� ����	� �� g′ ��������� [a, b]��� f ��������� g([a, b])��� ����	

∫
g

f =
n∑

i=1

b∫
a

(fi ◦ g)(x)g′i(x) dx .

��������	
�

∫
g

f
.=

b∫
a

(f ◦ g)dg .=
n∑

i=1

b∫
a

(fi ◦ g) dgi =
n∑

i=1

b∫
a

(fi ◦ g)(x)g′i(x) dx . �
*�	��� C���.��� ��

∫
g

f3��& !�

g(t) = (t2, 2t, t) (t ∈ [0, 1])

2�

f(x1, x2, x3) = (x2
1 + x3, x1x3, x1x2) ((x1, x2, x3) ∈ R3)

f 0�%������& �� �

f1(x1, x2, x3) = x2
1 + x3 , f2(x1, x2, x3) = x1x3 ,

f3(x1, x2, x3) = x1x2

��������� 01��/2���� 0�%�������� I��� �� ��/���%� �%//�% 5�����.�!��$J,

#2����� g′(t) = (2t, 2, 1) = (f ′
1(t), f ′

2(t), f ′
3(t)) 2� 0�%������& �� � �



"� �*�,
�
���#���
���� %!

t→ 2t, t→ 2, t→ 1 01��/2���� 0�%��������, L��

∫
g

f =

1∫
0

(f1 ◦ g)(t)g′1(t)dt+

1∫
0

(f2 ◦ g)(t)g′2(t)dt+

1∫
0

(f3 ◦ g)(t)g′3(t)dt =

=

1∫
0

(t4 + t)2t dt+

1∫
0

t2 t 2 dt+

1∫
0

t2 2t t dt =

1∫
0

(2t5 + 4t3 + 2t2)dt =

=
[
2
t6

6
+ 4

t4

4
+ 2

t3

3

]1
0

=
1
3

+ 1 +
2
3

= 2 .

������� ��	�(���
����/

+, ������/���� f3 �& �%%��/� � g �8 52 �, -2%��6% %����� g = g1 ∪ g2 2�

%2�����

∫
gi

f (i = 1, 2)& ���� %2�����

∫
g

f =
2∑

i=1

∫
gi

f ,

', D� g � ���.���� �8 5�& −g �� �%%���2��� � ���.���E& ���� 

∫
−g

f
.= −∫

g

f ,

-��(��!��
���

+, R235�%� �8 52� ����2� � �8/�����: ��%8%2��� ����������G

g3 �G g(t) = (x(t), y(t)) (t ∈ [a, b]) ;

f 3 �G f(x, y) = (P (x, y), Q(x, y)) ((x, y) ∈ g([a, b])) ;

∫
g

f 3 �G

∫
g

f =

b∫
a

P (x(t), y(t)) dx(t) +

b∫
a

Q(x(t), y(t)) dy(t) .=

.=
∫
g

P dx +
∫
g

Q dy
.=
∫
g

(P dx+Q dy)

�%����� 

∫
g

P dx3�� � g �8 5������ � �������� ��������&
∫
g

Q dy3� � g

�8 5������ ��$����� �������� 
�� �����������
������ ��/���1�&

�%%��/� ��� �����6�& !���

∫
g

(P dx+Q dy) � (P,Q) �	

���
��� g


�� ������ ����
�����,

%" �� � ��
����#���
���� �������������� �� �������
���

', R335�%� �8 52� � � �������� ��%8%2��� �� �%�55���G
g(t) = (x(t), y(t), z(t)) (t ∈ [a, b]) ;

f(x, y, z) = (P (x, y, z), Q(x, y, z), R(x, y, z)) ((x, y, z) ∈ g([a, b])) ;

∫
g

f =

b∫
a

P (x(t), y(t), z(t)) dx(t) +

b∫
a

Q(x(t), y(t), z(t)) dy(t)+

+

b∫
a

R(x(t), y(t), z(t)) dz(t) .=
∫
g

P dx+
∫
g

Q dy +
∫
g

R dz
.=

.=
∫
g

(P dx+Q dy +R dz) .

O�$55�� � (P,Q,R) �	

���
������ g 
�� ������ ����
��������

�� ��/����,



��� �������

������������  !

�
��	� ��%	�	�&�������

������

�� � &�7����4����������

� ��/�55���5�� �%��� f : D ⊂ Rn → Rm �.�6�E 01��/2������%

0��%�%���6��& �!�% D ��.%� !�%��� Rn35�� 2� f = (f1, . . . , fm)& �!�%

f1, . . . , fm �� f ��������� 01��/2����, Rn 2� Rm �%����� �� ���%�����3

 �7����%  �� ������%�6� I!� ���� ��� ����6��J,

��� f : 〈a, b〉 → R 01��/2��� ���� ��/��1�� ��A� ��"��%!��$��� ��

x0 ∈ 〈a, b〉35��& !� %2����� �

lim
x→x0

f(x) − f(x0)
x− x0

/2��� !��� 2 �2�& � �� ��� /�!��: �� f : D ⊂ Rn → Rm �.�6�E 01��/2����

x0 ∈ D35�%� ��A� ��"��%!��$���� �,

O�������� � ��K�."�$ .�� �� ���0���%���!��$G

#2����� A ∈ R& !��� lim
x→x0

f(x)−f(x0)
x−x0

= A& ��%%��% ��/�/�%����� � �8/��3

���:�G

∃ A ∈ R, lim
x→x0

f(x) − f(x0)
x− x0

−A = 0

⇐⇒ ∃ A ∈ R, lim
x→x0

f(x) − f(x0) −A(x− x0)
x− x0

= 0

⇐⇒ ∃ A ∈ R, lim
x→x0

|f(x) − f(x0) −A(x− x0)|
|x− x0| = 0 .

�� 6�$55� �� �%��%��� �� �%��%����.��� � I�5���%E�2 �2� !�%���� Rm&

�%%��/� Rn35�%� �� ���& A !�%���� m×n3�� ��� �7��& ���� A ∈ L(Rn,Rm)

%���� �� %��2���2�� /2/�J,

%�

%� ��� �*,,�����
$� ��������
� (���
�
�-����
�������

+� ��,�
&��� ��� �����6�& !��� �� f : D ⊂ Rn → Rm �	

���


$�*������������ �� x0 ∈ D ���� ��& !� %2����� ��� A ∈ L(Rn,Rm)

%���� �� %��2���2�& !���

I+J lim
x→x0

‖f(x) − f(x0) −A(x − x0)‖Rm

‖x− x0‖Rn

= 0 .

���� f ′(x0)
.= A �� f �	

���
 x0� ��� $�*�����������
�$���& �.�

df(x0, x− x0)
.= f ′(x0)(x − x0)

�� f x035�%� ���� $�*����������,

-��(��!��
� D� f : D ⊂ Rn → R �.�6�E 01��/2��& E�� f ′(x) = A =
(a1 . . . an) 1 × n3�� �� ��� �7& �.� �� �%�: ��A� ��"��% �

d f(x0, x− x0) =
n∑

i=1

ai(xi − x0i)

����,

*�	��� #����� f : D ⊂ Rn → Rm, f(x) = B ·x+b& �!�% B ��� m×n3��

��� �7& b ∈ Rm, ������.��� 5�& !��� f ��A� ��"��%!��$ 2� f ′(x) = B,

��� ��%% 5�%����& !���

lim
x→x0

‖Bx+ b− (Bx0 + b) −B(x − x0)‖Rm

‖x− x0‖Rn

= lim
x→x0

‖0‖Rm

‖x− x0‖Rn

= 0 .

+� ����	� �� �� 1� "�/����#$�� I+J ��A = A1 
�A = A2 ����
� �� ���������

��� A1 = A2 ����� � "�-�	�����������"�� ���
	����,�� �������	�������

0� ����	� (� f : D ⊂ Rn → Rm �����
�� ����	 
� ���� ����	 "�-�	���

�������# �� x0 ∈ D 
���$��� ��

�J �
����� A ∈ L(Rn,Rm) �����	�� ���

��
� 
� ω : D ⊂ Rn → Rm

�����
��� ����

I'J f(x) − f(x0) = A(x− x0) + ω(x)


� lim
x→x0

ω(x)
‖x− x0‖ = 0�

����



�� � (���
�
�-������$��� %�

5J �
����� A ∈ L(Rn,Rm) �����	�� ���

��
� 
� ω : D ⊂ Rn → Rm

�����
��� ����

I4J f(x) − f(x0) = A(x− x0) + ω(x)‖x− x0‖


� lim
x→x0

ω(x) = ω(x0) = 0�

��������	
�

�J ������2� 2� �5���%E�2 �2� �2��2�� 6��� I'J 2� I4J �� ���� I+J ��%���13

%2�2�,

�J I+J35:% � !��� 2 �2� ��K�."�$�� 2� �6%���������� ����� ����6� �J 2�

5J 2� .�� I'J 2� I4J ��%���1%2�2�, �

1� ����	� �� �� f : D ⊂ Rn → Rm �����
�� "�-�	���������# �� x0 ∈ D


���$��� ����	 ��� ��������� ���

��������	
� �%�����: ����6�����& !���

I∗J lim
x→x0

‖f(x) − f(x0)‖ = 0.

�� �%:�: �2��% 5J  2��� ����& !��� %2����� A ∈ L(Rn,Rm) %���� �� %��23

���2�& 2� ω : D ⊂ Rn → Rm 01��/2��& !��� lim
x→x0

ω(x) = ω(x0) = 0

2�

‖f(x) − f(x0)‖ =
∥∥A(x − x0) + ω(x)‖x− x0‖

∥∥ ≤
≤ ‖A(x− x0)‖ + ‖ω(x)‖ ‖x− x0‖ ≤ ‖A‖ ‖x− x0‖ + ‖ω(x)‖ ‖x− x0‖.

� ������ �����%:�%���2�5:% x→ x0 !��� ���������% ����6� I∗J3��, �

-��(��!��
� � �2��% ���0� �.���� �%��%�5�� ��� ����, -2%��6% ��
f(x, y) =

⎧⎨
⎩

xy√
x2 + y2

(x, y) �= (0, 0),

0 (x, y) = (0, 0)

01��/2�� 0�%������ � (0, 0) ����5��& �� ��� ��A� ��"��%!��$& �!��� ���

�2�:55 �2� 5�����.��6�,

4� ����	� (� f = (f1, . . . , fm) : D ⊂ Rn → Rm �����
�� ����	 
�

���� ����	 "����	���������# �� x0 ∈ D 
���$��� �� �� fi (i = 1, . . . ,m)

%% ��� �*,,�����
$� ��������
� (���
�
�-����
�������

�����
���� "����	���������#� x0�$��� ����$$� f ′(x0)i = f ′
i(x0)� ����

f ′ =

⎛
⎜⎝
f ′
1

���

f ′
n

⎞
⎟⎠ .

�� 8��������� 
� -��4����� &���	���

+� ��,�
&��� #����� f : D ⊂ Rn → Rm, x0 ∈ D 2� e ∈ Rn (‖e‖ = 1)

�����, �

Def(x0)
.= lim

t→0

f(x0 + te) − f(x0)
t

2 �2���& !� %2�����& �� f �	

���
 x0� ��� e ����
����� $�*���������

���
�$������ ��/���1�,

*�	��� C���.��� �� �� f(x, y) = x2 + y2 ((x, y) ∈ R2) 01��/2��

e =
(

1√
2
, 1√

2

)
= (e1, e2) � �������� �� �/�%���� (1, 1)35��, �55�� ��

����5�� m = 1, n = 2 2�

Def(1, 1) = lim
t→0

f(1 + te1, 1 + te2) − f(1, 1)
t

=

= lim
t→0

(
1 + t√

2

)2

+
(
1 + t√

2

)2

− 2

t
=

= lim
t→0

2 2t√
2

+ 2 t2

2

t
= lim

t→0

(
4√
2

+ t

)
=

4√
2

= 2
√

2 .

+� ����	� �� �� f : D ⊂ Rn → Rm �����
�� "�-�	���������# �� x0 ∈ D


���$��� ����	 $�	���� e ∈ Rn �	�������� "�	������� �
����� 
�

Def(x0) = f ′(x0) · e .

��������	
� �� �%:�: �� �� �06� ', �2��%2��� 5J  2��2� x = x0 + te,
A = f ′(x0) ��%%�� !�����%/�

f(x0 + te) − f(x0)
t

=
1
t
[f ′(x0)(x0 + te− x0) + ω(x0 + te)|t|] =

= f ′(x0) · e+ ω(x0 + te)
|t|
t



 � ������
��� �� ���-����� (
������ %�

�8/������� I|t| < δ ����2� N �%��%��� δ ��%%���J& ��� t → 0 !��� ����3

�����% ���� �� �%%.����, �

-��(��!��
� � �2��% ���0� �.���� �%��%�5�� ��� ����,

0� ��,�
&��� D� f = (f1, . . . , fm) : D ⊂ Rn → Rm, x0 ∈ D 2�

ei = (0, . . . , 0,
i
1, 0, . . . , 0)& ���� �

Difj(x0) =
∂fj

∂xi
(x0)

.= Deifj(x0)

(i = 1, . . . , n, j = 1, . . . ,m) ��������& !� %2������ �� f j3���� �����3

����01��/2��� i3���� /�%���$�� ��� ���� ��������� $������������� ��/��3

�1� x035��,

-��(��!��
� D� ϕj(t)
.= fj(x01, . . . , x0i−1, t, x0i+1, . . . , x0n) (|t| < δ)&

���� Difj(x0) = ϕ′
j(x0i),

*�	����

+, D� f(x, y) = x2 + y2 + 2xy ((x, y) ∈ R2)& E�� m = 1, n = 2& .��

D1f = ∂f
∂x 3�� 2� D2f = ∂f

∂y 3� ��%% ���!��� ����& ���!�� 5� ��%% %����&

!��� f ��A� ��"��%!��$3�  8��.���� y ��%%��� x ��� ���& �%%��/�  8��.����

x ��%%��� y ��� ���, � /�%��� ���%/�� ���� I!����� .�� ���/�%���$�

�����0��E 01��/2������ ���6��J 2�

D1f(x, y) =
∂f

∂x
(x, y) = 2x+ 2y , D2f(x, y) =

∂f

∂y
(x, y) = 2y + 2x .

', D��� ���� ��� D1f(0, 0)3� 2� D2f(0, 0)3�& !�

f(x, y) =

⎧⎨
⎩

xy√
x2 + y2

& !� (x, y) �= (0, 0)

0 & !� (x, y) = (0, 0) .

m = 1, n = 2& .��

D1f(0, 0) = lim
x→0

f(x, 0) − f(0, 0)
x− 0

= lim
x→0

0 − 0
x− 0

= 0 ,

D2f(0, 0) = lim
y→0

f(0, y)− f(0, 0)
y − 0

= lim
y→0

0 − 0
y − 0

= 0 .

�� ��� �*,,�����
$� ��������
� (���
�
�-����
�������

0� ����	� �� �� f = (f1, . . . , fm) : D ⊂ Rn → Rm �����
�� �� x0 ∈ D


���$�� "�-�	���������#� ����	 $�	���� Difj 
�	������ "�	����� �
�����


�

f ′(x0) = (Difj(x0))m×n =

⎛
⎜⎝
D1f1(x0) . . . Dnf1(x0)

���

���

D1fn(x0) . . . Dnfn(x0)

⎞
⎟⎠ .

��������	
� �� �%:�: �� �� �06� 9, �2��%� ����& !��� 5� ��%��� fj ��00�3

 ��"��%!��$ x035�� 2� ���� �� �%:�: �2��% ��� ��� ∀ e3 �& .�� ∀ ei3 � ��

∃ Deifj(x0)
.= Difj(x0), 
�/�55�G

f ′(x0) = (f ′
j(x0))m×1 2� [f ′

j(x0)]i
.= f ′

j(x0)·ei = Deifj(x0)
.= Difj(x0)

����� ����6� f ′(x0) �%:�%%.����� ��, �

-��(��!��
� � 01��/2�� ��A� ��"��%!��$������� ��1��2��� 0�%�2��%� �

�� "��%�� �� �/�%��� %2���2��& � ���� I!� ��A� ��"��%!��$ � 01��/2��J ���3

����� � �� �/�%���� �7��,

*�	��� �� �%:55 5�%���6�& !��� ��

f(x, y) =

⎧⎨
⎩

xy√
x2 + y2

& !� (x, y) �= (0, 0)

0 & !� (x, y) = (0, 0) .

01��/2�� � ∃ D1f(0, 0) = D2f(0, 0) = 0& �� ��� ��A� ��"��%!��$& �� �

lim
(x,y)→(0,0)

∣∣∣∣∣ xy√
x2 + y2

− 0 − (0, 0)
(
x

y

)∣∣∣∣∣√
x2 + y2

= lim
(x,y)→(0,0)

|xy|
x2 + y2

�= 0 ,

6������ !� (xn, xn) → (0, 0)& ���� 

|xnxn|
x2

n + x2
n

=
1
2
�→ 0,

1� ����	� �� �� f = (f1, . . . , fm) : D ⊂ Rn → Rm �����
�� $�	����


�	������ "�	������� �
����� �� x0 ∈ D ��� K(x0, δ) �'	������
$�� 
� �����

������� x0�$��� ����	 f "�-�	���������# x0�$���



!� (���
�
�-������ �
�,����� ��

� ', 2� 4, �2��% 0�%!�����%���/�% ������ ;�� 5�����.�!��$ � �8/�����:G

4� ����	� �� f : D ⊂ Rn → Rm �"��� �����
��� ����	 � �'������!

��������� ������������%

�J &�	���� Difj (i = 1, . . . , n, j = 1, . . . ,m) �
����� 
� ���������

D���

5J f "�-�	���������# D�� 
� f ′ : D → L(Rn,Rm) ��������� D���

�� ���/�%���$� 01��/2���� ��A� ��"��%!��$������� 0���%�� 2� �� �%:55�

�2��% �%����� �� �2������ � �8/�����:G

1� ��,�
&��� ��� �����6�& !��� �� f : D ⊂ Rn → Rm �	

���


���
������� $�*������������ D3�& !�

�J f ��A� ��"��%!��$ 2� f ′ 0�%������ D3�&

/���
5J 5� ��%� Difj %2����� 2� 0�%������ D3�

��%���1%,

�� ��7����4������ ��� ����#

+� ����	� �� �� f, g : D ⊂ Rn → Rm, λ : D → R �����
���� "�����

	���������#� x0 ∈ D�$��� ����	 �� f + g, λf,
f

λ
(λ �= 0) �����
���� ��

"�-�	���������#� 
�

(f + g)′(x0) = f ′(x0) + g′(x0),

(λf)′(x0) = f(x0)λ′(x0) + λ(x0)f ′(x0),(
f

λ

)′
(x0) =

λ(x0)f ′(x0) − f(x0)λ′(x0)
λ2(x0)

���������

��������	
� � ��K�."�$ �%����� �2%��6% �� �%�: ����5�� ��∥∥(f + g)(x) − (f + g)(x0) − (f ′(x0) + g′(x0))(x − x0)
∥∥

‖x− x0‖ ≤

≤
∥∥f(x) − f(x0) − f ′(x0)(x − x0)

∥∥
‖x− x0‖ +

∥∥g(x) − g(x0) − g′(x0)(x − x0)
∥∥

‖x− x0‖

�����%:�%���2�5:%& x→ x0 !��� ���������% �8� �� �%%.���, �

� ��� �*,,�����
$� ��������
� (���
�
�-����
�������

0� ����	 2�� �

������ � �����! ��%����&��	"���
���3�

�� f : D ⊂ Rn → Rm, g : E ⊂ f(D) ⊂ Rm → Rk ������ ���� f

"����	���������# x0 ∈ D�$�� 
� g "�-�	���������# f(x0)�$��� ����	 ��

F = g ◦ f : D → Rk �����
�� "�-�	���������# x0�$�� 
�

IU�J F ′(x0) = g′(f(x0)) · f ′(x0) .

�D 
� E ����� �������� 
� IU�J�$�� ���	�0�� ���	���� ���	�
����

*�	��� #�������

f : R2 → R3, f(x1, x2) = (e2x1+x2 , x2 − x1, x
2
1 + x2) ,

g : R3 → R2, f(y1, y2, y3) = (y1 + 2y2 + y2
3 , y

2
1 + y2 + y3) ,

F : R2 → R2, F (x1, x2) = g(f(x1, x2)) .

D��� ���� ��� F ′(0, 0)3�,

�%%��: .�!��:& !��� f ∀ (x1, x2) ∈ R2, g ∀ (y1, y2, y3) ∈ R335�� ��A� ��3

"��%!��$ I�� � ��������� 01��/2����� ��A� ��"��%!��$�J& .�� ∃ f ′(0, 0)

2� g′(f(0, 0)) = g′(1, 0, 0), 
�/�55�

f ′(x1, x2) =

⎛
⎝e2x1+x2 · 2 e2x1+x2

−1 1
2x1 1

⎞
⎠ =⇒ f ′(0, 0) =

⎛
⎝ 2 1
−1 1
0 1

⎞
⎠ ,

g′(y1, y2, y3) =
(

1 2 2y3
2y1 1 1

)
=⇒ g′(1, 0, 0) =

(
1 2 0
2 1 1

)
,

.��

F ′(0, 0) = g′(1, 0, 0) · f ′(0, 0) =
(

1 2 0
2 1 1

)
·
⎛
⎝ 2 1
−1 1
0 1

⎞
⎠ =

(
0 3
3 4

)
.

-��(��!��
���

+, D� k = 1& ���� IU�J �%����

F ′(x0) = (D1F (x0) . . . DnF (x0)) =

=
(
D1g

(
f(x0)

)
. . . Dmg

(
f(x0)

))⎛⎜⎝
D1f1(x0) . . . Dnf1(x0)

,,,

,,,

D1fm(x0) . . . Dnfm(x0)

⎞
⎟⎠



"� �*
����������
�
� �� �*�
��

����
�� �!

2� ���� �2��6%

DjF (x0) =
m∑

k=1

Dkg
(
f(x0)

) ·Djfk(x0) .

', D� k = 1, n = 1& ���� F (t) = g(f1(t), . . . , fm(t))&

F ′(x0) =
∂F

∂t
(x0) =

m∑
j=1

Djg
(
f(x0)

)
f ′

j(x0) .

1� ����	�  ����� f : D ⊂ Rn → Rn, x0 ∈ D, f(x0) = y0� .����� ����

���� g �� y0 ��� �'	������
� Rn�$� �

��! �����
��� ���� g(y0) = x0 
�

g(f(x)) = id(x) $�	���� x ∈ K(x0, δ)� �� f "�-�	���������# x0�$�� 
�

g "�-�	���������# y0�$��� ����	

g′(y0) = (f ′(x0))−1

�?�� (f ′(x0))−1 �� f ′(x0) ���	�0 ����	�
� ���'����

-��(��!��
� D� ��� f ��A� ��"��%!��$ 01��/2����� %2����� ��A� ��"��%3

!��$ ��/� ��& ���� ��1��2��2���� f ′(x) ��� �����6%� �� ��� �7,

%� ?$�
-
��
#�
����# 
� #$	��#���
����#

� �8/�����:�5�� �� ���/�%���$� 01��/2���� � ���� � #�� ����302%�

�8�2�2 �2��2��% 0�%!�����%���/�% ����6�� ��& �%%��/� 5�����.�6�� 5� !�3

���%$ �.�6�E �2��%����,

+� ����	� �� �� f : D ⊂ Rn → R �����
�� "�-�	���������# � D �������

�������� 
� D ��	�������� �� x0 
� x0+h �
�
���� [x0, x0+h]���� ���'��

��������� ����	 �
����� c = x0 + t0h (0 < t0 < 1) 
��� ���� � ����������

����

f(x0 + h) − f(x0) = f ′(c) · h .

��������	
� �

Φ(t) .= f(x0 + th) (t ∈ [0, 1])

��� ��� ��K���%� 01��/2�� �� 8�������� 01��/2�� ��A� ��"��%!��$���� �

/�������$ �2��% ����� ��A� ��"��%!��$ 2�

Φ′(t) = f ′(x0 + th) · h (t ∈ [0, 1])

�" ��� �*,,�����
$� ��������
� (���
�
�-����
�������


�/�55� Φ ��%���.�� �� ���/�%���$� #�� ����3�2��% 0�%�2��%��� � [0, 1] ���� 3

/�%%6���& .�� ∃ t0 ∈ (0, 1) I2� .�� c = x0 + t0hJ& !���

f(x0 + h) − f(x0) = Φ(1) − Φ(0) = Φ′(t0) · 1 = f ′(c) · h . �

0� ����	�  ����� D ⊂ Rn ����� 
� �����0 ������ ����� $�	���� x1, x2 ∈
D ����
� [x1, x2] ⊂ D�� �� f : D → R "�-�	���������# D�� 
� �
�����

M ∈ R� ���� ‖f ′(x)‖ ≤M �$�	���� x ∈ D�� ����	

|f(x) − f(y)| ≤M‖x− y‖ (x, y ∈ D)

���������

��������	
� #����� x, y ∈ D I���/�7J =⇒ [x, y] ⊂ D& .�� �� +, �2��%

����� Ix = x0 2� y = x0 + h ��%%���J ∃ c ∈ (x, y)& !���

f(x) − f(y) = f ′(c)(x − y) ,

��%�5:%

|f(x) − f(y)| = |f ′(c)(x − y)| ≤ ‖f ′(c)‖ ‖x− y‖ ≤M‖x− y‖

�8/������� �����:%���� x, y ∈ D ����2�& ���� 5�����.���� ��%%���, �

7����������!� �� � 3� �
��� ����
����� ������� �
� f ′(x) = 0 (x ∈ D)
�� ��������� ����	 f(x) = c (x ∈ D)�

1� ����	� �� �� f : K(x0, δ) ⊂ Rn → R �����
�� $�	���� Dif (i =
1, . . . , n) 
�	������ "�	������� �
������ ����	 $�	���� h ∈ Rn, 0 < ‖h‖ < δ

����
� �
������ c1, . . . , cn ∈ K(x0, δ) �����	��� ����

I∗J f(x0 + h) − f(x0) =
n∑

i=1

Dif(ci)hi (h = (h1, . . . , hn)).

7����������!� �� �� f : D ⊂ Rn → R �����
�� $�	���� Dif 
�	���

���� "�	������� �
����� 
� ��	����� �������� K(x0, δ) ⊂ D �'	������$���

����	 f ��������� x0�$���

��������	
� � 4, �2��% ����� I∗J ��%���1%& ��%�5:%

|f(x0 + h) − f(x0)| =

∣∣∣∣∣
n∑

i=1

Dif(ci)hi

∣∣∣∣∣ ≤M

n∑
i=1

|hi|
(‖h‖ < δ

)

�8/������� I!� |Dif(ci)| ≤M ∀ i = 1, . . . , nJ,



�� ������,,�
�(' (
��������� ��&�� �� ������ ���
�
 ��

�55:% �����& 0�%!�����%/�& !��� h → 035$% hi → 0 �� �8/������� I∀ i3 �J

����6�& !���

lim
h→0

|f(x0 + h) − f(x0)| = 0 ,

��� ����& !���

lim
x→x0

f(x) = f(x0)

2� .�� I��/�% x0 �� %$���� ������ 2� ������ �� D3���J f 0�%������ x03

5��, �

-��(��!��
� � �8/������2�� ���� f = (f1, . . . , fm) : D ⊂ Rn → Rm

�.�6�E 01��/2���� � ��& !� ∀ Difj %2����� 2� �� %���� /�%���%�

K(x0, δ) ⊂ D35��, ���� ∀ fj 0�%���������� ��%���1% x035�� I� �8/��3

����2�� �����J, O�������� �� fj3� x035�%� 0�%���������� ���� ��

f = (f1, . . . , fm) 01��/2�� 0�%����������� �� x035��,

(� B�����  ���&) &���	����#� C�!�� 
� ;����� �
����

+� ��,�
&��� ���� �����6�& !��� �� f : D ⊂ Rn → R 01��/2��

������� $�*������������ �� x0 ∈ D35��& !�

N %2����� δ > 0& !��� f ��A� ��"��%!��$ K(x0, δ) ⊂ D3�&

N � Dif (i = 1, . . . , n) 01��/2���� ��A� ��"��%!��$� x035��,

���� I� �� �55��� ��� ���J %2������ � Dj(Dif) (i, j = 1, . . . , n) �� "��%��

�� �/�%��� x035�� 2� �

Dj(Dif)(x0)
(
= DjDif(x0) = Dijf(x0) =

∂2f

∂xj∂xi
(x0) = fxixj (x0)

)

�������� �� f 01��/2�� x035�%� ����$���$#& i3���� 2� j3���� /�%���$

��� ���� ��������� $������������� ��/���1�,

D� D1 ⊆ D ��%8%� ���� x3�� !�%�����& �!�% %2����� DjDif(x)& ���� 

DjDif : D1 → R �� f i3���� 2� j3���� /�%���$ ��� ���� ����$���$#

��������� $������� �	

���
� D13��,

*�	����

+, D� f(x, y) = x2 + y2 ((x, y) ∈ R2)& ���� ∃ Dxf(x, y) = 2x

2� Dyf(x, y) = 2y 2� .��

∃ Dxxf(x, y) = 2, Dxyf(x, y) = 0, Dyxf(x, y) = 0, Dyyf(x, y) = 2

5� ��%� (x, y) ∈ R23 �,

�� ��� �*,,�����
$� ��������
� (���
�
�-����
�������

', D�

f(x, y) =

⎧⎨
⎩

2xy
x2 + y2

& !� (x, y) �= (0, 0),

0 & !� (x, y) �= (0, 0),

���� 

Dxf(x, y) =

=

⎧⎪⎪⎨
⎪⎪⎩

2y(x2 + y2) − 2xy2y
(x2 + y2)2

=
2yx2 + y3 − 4xy2

(x2 + y2)2

& !� (x, y) �= (0, 0),

lim
x→0

0 − 0
x− 0

= 0 & !� (x, y) �= (0, 0),

.��

lim
y→0

Dxf(0, y) −Dxf(0, 0)
x− 0

= lim
y→0

2y3

y4 − 0

y − 0
= lim

y→0

2
y2

= +∞

����� ��� %2����� Dxyf(0, 0)& ��

∃ Dxxf(0, 0) = lim
x→0

Dxf(x, 0) −Dxf(0, 0)
x− 0

= lim
x→0

0 − 0
x− 0

= 0 .
-��(��!��
���

+, ��K���%!��$� � ��
���  ���$# ��������� $��������� ��G

D� ����� i1, . . . , ir−13 � %2�����Di1 . . . Dir−1f (= Di1...ir−1f)K(x0, δ)3

�& ���� 

Di1...irf(x0)
.= Dir(Di1...ir−1f)(x0)

�� f 01��/2�� i1, . . . , ir /�%���$� ��� ���� r��$���$# ��������� $��

�������� x035��, D� i1 = i2 = · · · = ir = k& E��

Dr
kf

.= Dk . . .Dkf

� k3���� /�%���$ ��� ���� r3�� ���;
M

������M �� "��%�� �� �/�%��� ��%8%�,

', ��/�% f ′ = (D1f . . . Dnf)& .�� � �������� $�*��������������


0���%�� ��/�/�%��� � �8/�����:/�%G

N %2����� δ > 0& !��� f ��A� ��"��%!��$ K(x0, δ)3�&

N f ′ ��A� ��"��%!��$ x035��,

f ′′(x0)
.= (f ′)′(x0)3� f x035�%� ������� �� �/�%������ ��/���1�,



�� ������,,�
�(' (
��������� ��&�� �� ������ ���
�
 ��

0� ��,�
&��� ��� �����6�& !��� �� f = (f1, . . . , fm) : D ⊂ Rn →
Rm 01��/2�� ������� $�*������������ �� x0 ∈ D ����5��& !� ��

f1, . . . , fm 01��/2���� �2���� ��A� ��"��%!��$� x035�� 2�

f ′′(x0) = (f ′′
1 (x0), . . . , f ′′

m(x0)).

1� ��,�
&��� ��� �����6�& !��� �� f : D ⊂ Rn → R 01��/2�� r�����

(r ≥ 2) $�*������������ x035��& !�

N %2����� δ > 0& !��� f r − 13��� ��A� ��"��%!��$ K(x0, δ)3�&

N � Di1 . . . Dir−1f (1 ≤ i1, . . . , ir−1 ≤ n) r − 13�� ���; �� "��%��

�� �/�%� 01��/2���� ��A� ��"��%!��$� x035��,

�� ��/�/�%��� ����%& !��� %2����� f (r−1) x0 ��� �8 ������25�� 2� �� ��A�3

 ��"��%!��$ x035��,

4� ��,�
&��� ��� �����6�& !��� �� f : D ⊂ Rn → R 01��/2�� �������

���
������� $�*������������ x0 ∈ D35��& !� � D1f, . . . , Dnf 01��3

/2���� ��A� ��"��%!��$� �� x0 /�%���%� K(x0, δ) ⊂ D �8 ������25�� 2�

�

(Dif)′ = (D1Dif . . . DnDif) (i = 1, . . . , n)

01��/2���� 0�%�������� x035��,

�� �������� ��� ��%����& !��� f ��A� ��"��%!��$ K(x0, δ)35�� 2� f ′ ��00�3

 ��"��%!��$ 2� �� �/�%��� 0�%������ x035��,

ID����%$�� ��K���%!��$ � 01��/2�� r3��� 0�%������ ��A� ��"��%!��$����

��,J
M

���� ��M ���� ����� 01��/2�� �& !��� DkDjf = DjDkf & /����� �� E��3

��/����� /����� �� "��%���� �����������& �� /�� �%%���2%�� ��,

*�	����

+, D� f(x, y) = x2 − 2xy − 3y2 ((x, y) ∈ R2)& ���� 

∃ Dxf(x, y) = 2x− 2y =⇒ ∃ Dxyf(x, y) = −2 ,

∃ Dyf(x, y) = −2x− 6y =⇒ ∃ Dyxf(x, y) = −2 ,

.�� Dxyf(x, y) = Dyxf(x, y) 5� ��%� x ∈ R23 �,

', D�

f(x, y) =

⎧⎨
⎩xy

x2 − y2

x2 + y2

& !� (x, y) �= (0, 0),

0 & !� (x, y) �= (0, 0),

�% ��� �*,,�����
$� ��������
� (���
�
�-����
�������

���� 

∃ Dxf(x, y) =

=

⎧⎪⎪⎨
⎪⎪⎩
y · x

2 − y2

x2 + y2
− xy

2x(x2 + y2) − (x2 − y2)2x
(x2 + y2)2

& !� (x, y) �= (0, 0),

lim
x→0

0 − 0
x− 0

= 0 & !� (x, y) �= (0, 0),

.��

∃ Dxyf(0, 0) = lim
y→0

− y3

y2 − 0 − 0

y − 0
= −1 ,

��/�55�

∃ Dyf(x, y) =

=

⎧⎪⎪⎨
⎪⎪⎩
x · x

2 − y2

x2 + y2
− xy

−2y(x2 + y2) − (x2 − y2)2y
(x2 + y2)2

& !� (x, y) �= (0, 0),

lim
y→0

0 − 0
y − 0

= 0 & !� (x, y) �= (0, 0),

.��

∃ Dyxf(0, 0) = lim
x→0

x3

x2 − 0
x− 0

= 1 .

��2 � Dxyf(0, 0) = −1 �= 1 = Dyxf(0, 0),

���� ��� �%�����: 0�%�2��%� ��6�� � /����� �� "��%���� �����%:�2�2 �,

+� ����	 2D����3�  ����� f : D ⊂ Rn → R �� a ∈ D 
���$�� �
����	

"�-�	���������#� ����	

DkDjf(a) = DjDkf(a)

$�	���� 1 ≤ k, j ≤ n ����
��

-��(��!��
� � �2��% �%��%����.�!��$ f : D ⊂ Rn → R, x0 ∈ D35��

r3��� ��A� ��"��%!��$ 01��/2���� �& ���� 

Di1...irf(x0) = Dj1...jrf(x0)

5� ��%� (i1, . . . , ir) 2� (j1, . . . , jr) r3���E& �� �2������ ������5$% �%%$

�� ���� �& ��%��� ������5$% �� �����2���% ��%�������� (1 ≤ ik, js ≤ n),



�� ������,,�
�(' (
��������� ��&�� �� ������ ���
�
 ��

5� ��,�
&��� �� f : D ⊂ Rn → Rm, x0 ∈ D35�� ��A� ��"��%!��$

01��/2�� x035�%�& �� x−x0 ���/�%�����!�� �� ���$ ���� $�*�����������

�

df(x0, x− x0)
.= f ′(x0)(x − x0) (x− x0 ∈ D)

01��/2��� 2 ��1�, D� h
.= x− x0& E��

df(x0, h) .= f ′(x0)h

�� x035�%�& h ���/�%�����!�� �� ���$ �%�: ��A� ��"��%�� f 3���, �� ������

�%��� x3 � 2 ��%���!��:& �!�% ∃ f ′(x)& ���� 

df(x, h) = f ′(x)h

f x35�%�& h3!�� �� ���$ �%�: ��A� ��"��%��,

D� m = 1, x− x0 = h = (h1, . . . , hn)& ���� f x35�%�& h3!�� �� ���$

�%�: ��A� ��"��%��

df(x, h) .=
n∑

i=1

fxi(x)hi

�%��E& !� ∃ f ′(x) = (fx1(x) . . . fxn(x)),

6� ��,�
&��� #����� f : D ⊂ Rn → R, x0 ∈ D �%���& !��� %23

����� f (r)(x0) If r3��� ��A� ��"��%!��$ x035��J, ���� d1f(x, h) .=
df(x, h) f x35�%�& h3!�� �� ���$ ���� $�*����������, D� dr−1f(x, h)

�� f x35�%�& h3!�� �� ���$ (r − 1)3���� ��A� ��"��%�� 2 ��%������ /�%�3

��%� K(x0, δ)3�& ���� f x035�%�& h3!�� �� ���$ r��$�� $�*�����������

�  8��.���� h ��%%��� x 01��/2����2�� ��������� dr−1f 01��/2�� �%�: ��03

0� ��"��%��� 2 ��1� x035��& ����

drf(x0, h) .=
n∑

i=1

(dr−1f)xi(x0)hi .

0� ����	�  ����� f : D ⊂ Rn → R r����	 "�-�	���������# �� x0 ∈ D


���$��� ����	

drf(x0, h) =
n∑

i1,...,ir=1

fxi1 ...xir
(x0)hi1 . . . hir

���� r��"	��", ��	�� �� fxi1 ...xir
(x0) ���������#������

��� ��� �*,,�����
$� ��������
� (���
�
�-����
�������

1� ����	� �� f : D ⊂ Rn → R r����	 "�-�	���������# D��� ����	 ��

F (t) = f(x+th) �����
�� ���"�� ����� t ∈ R�	�� �����	� x+th ∈ D, r�

���	 "�-�	���������# 
�

F (r)(t) = drf(x+ th, h).

4� ����	 2��!	��������	�3�  ����� f : D ⊂ Rn → R, x ∈ D 
� f (r +
1)����	 "�-�	���������# �� [x, x + h] ⊂ D ���������� ����	 �
����� θ ∈
(0, 1)� ����

I
@J f(x+ h) = f(x) +
df(x, h)

1!
+ · · ·+ drf(x, h)

r!
+
dr+1f(x+ θh, h)

(r + 1)!

��������	
� 
������1� ��

F : [0, 1] → R , F (t) = f(x+ th)

01��/2���, F � f (r + 1)3��� � ��A� ��"��%!��$���� ����� (r + 1)3��� 

��00� ��"��%!��$ 2� �� �%:55� �2��% �����

I∗J F (i)(t) = dif(x+ th, h) (i = 1, . . . , r + 1)

∀ t ∈ [0, 1]3 �,

L�� F ��%���.�� �� ���/�%���$� 
��%� 3�2��% 0�%�2��%���& ��2 � t0 = 0 ∧
t = 1 ����2� ∃ θ ∈ (0, 1)& !���

F (1) = F (0) +
F ′(0)

1!
1 + · · · + F (r)(0)

r!
1r +

F (r+1)(θ)
(r + 1)!

1r+1 ,

��� I∗J ����� ���� � I
@J3��, �

*�	����

+, L �� 0�% � 
��%� 30� �6%�� �� f(x1, x2) = xx2
1 ((x1, x2) ∈ R+ × R)

01��/2�� � �� (1, 1) ����5��& r = 1 ��%%���,

���� I
@J �%����

f(1 + h1, 1 + h2) =

= f(1, 1) +
df((1, 1), (h1, h2))

1!
+
df((1 + θh1, 1 + θh2), (h1, h2))

2!
.



�� ������,,�
�(' (
��������� ��&�� �� ������ ���
�
 ���

� �� "��%�� �� �/�%���G

fx1(x1, x2) = x2x
x2−1
1 , fx2(x1, x2) = xx2

1 lnx1 ,

fx1x1(x1, x2) = x2(x2 − 1)xx2−2
1 ,

fx1x2(x1, x2) = xx2−1
1 + x2x

x2−1
1 lnx1 = fx2x1 ,

fx2x2(x1, x2) = xx2
1 ln2 x1 .

� ��A� ��"��%��G

df((1, 1), (h1, h2)) = fx1(1, 1)h1 + fx2(1, 1)h2 = 1h1 + 0h2 ,

d2f((1 + θh1, 1 + θh2), (h1, h2)) = (1 + θh2)θh2h
2
1+

+ 2
[
(1 + θh1)θh2 + (1 + θh2)(1 + θh1)θh2 ln(1 + θh2)

]
h1h2+

+ (1 + θh1)(1+θh2) ln2(1 + θh1)h2
2 .

L��

(1 + h1)1+h2 = 1 + h1 +
1
2

{
(1 + θh1)θh2h

2
1+

+ [1 + (1 + θh2, ln(1 + θh2))] (1 + θh1)h1h2+

+ (1 + θh1)(1+θh2) ln2(1 + θh1)h2
2

}
.

', C���.��� �� 1.021.01 �8��%.�: 2 �2�2�,

�� �%:55� �2%�� ��� ��� Ih1 = 0.02, h2 = 1, 01 ��%%��� "��� �� �%�:

��A� ��"��%� !�����%/�J

1.021.01 ≈ 1 + 0.02 = 1.02.

��� 2���

d2f((1, 1), h1, h2) = 0 · h2
1 + 2[1 + 0]h1h2 + 0h2

2 = 2h1h2

����� ��� ��55 �8��%.�2�

1.021.01 ≈ 1 + 0.02 + (0.02)0.01 = 1.0202 .

��� ���5�����%$�2� �� 1.020202007 . . . 2 �2��� �6�����& .�� � ����3

��� �8��%.�2� �� �%2� �$,

�� ��� �*,,�����
$� ��������
� (���
�
�-����
�������

+� 2�#���� ��
��'
��
#

���� ���� � �8/�����:G ���� �����6�& !��� �� f : D ⊂ Rn → R

01��/2����� �� x0 ∈ D ����5�� %���%�� ��7��6�� I�����6��J /��& !�

∃ δ > 0& !���

∀ x ∈ K(x0, δ) =⇒ f(x) ≤ f(x0) (f(x) ≥ f(x0)).

�� ���/�%���$� ����!�� !����%$�� ���� � �8/�����:G

+� ����	 2� 	���	�
 
��	
B����� +� 
� �
���
 ��	����	�3�

�� f : D ⊂ Rn → R, x0 ∈ D �������� f "�-�	���������# x0�$�� 
� f ����

������� ��
��!
	�
�� ��� x0�$��� ����	 f ′(x0) = 0�

��������	
� D� f 3��� %���%�� ��2%�:2 �2�� /�� x035��& ���� ∃K(x0, δ) ⊂
D& !���

f(x) ≤ f(x0) (f(x) ≥ f(x0)) ∀ x ∈ K(x0, δ),

.�� !� e (‖e‖ = 1) �����:%���� Rn35�� 2� |t| < δ& ���� 

f(x0 + te) − f(x0) ≤ 0 (≥ 0),

.�� f x035�%� ��A� ��"��%!��$���� ����� � 4,+, �2��% ����& !���

f ′(x0)e = Def(x0) = lim
t→0

f(x0 + te) − f(x0)
t

{
≤ 0 (≥ 0), !� t→ 0 + 0
≥ 0 (≤ 0), !� t→ 0 − 0 ,

��� "��� E�� %�!���2���& !� f ′(x0)e = 0& ��%�5:% e �����:%���� /�%��

����� �8�& !��� f ′(x0) = 0, �

0� ����	 2� 	���	�
 
��	
B����� 0� 
� �
���
 ��	����	�3�

�� �� f : D ⊂ Rn → R �����
����� ������� ��
��!
	�
�� ��� x0 ∈ D�$��


� �
����� fxi(x0)� ����	 fxi(x0) = 0�

��������	
� D� f 3��� x035�� %���%�� ��2%�:2 �2�� /��& E�� �

ϕ(t) = f(x01, . . . , x0i−1, t, x0i+1, . . . , x0n)

01��/2����� �� t = x0i35��& .�� fxi(x0) = ϕ′(x0i) = 0, �

� <, 0������ ', �2��%� r = 2 ����2� ����& !��� �� f : D ⊂ Rn → R 01��3

/2�� x035�%� h = (h1, . . . , hn)3!�� �� ���$ ', ��A� ��"��%��& !� ∃ f ′′(x0)

d2f(x0, h) =
n∑

i,j=1

fxixj (x0)hihj ,



�� ������� �
���)����� ��!

�!�% � 	�6��3�2��% ����� fxixj (x0) = fxjxi(x0) �� ��%���1%, � �������

��A� ��"��% ��!�� ���� � hi3� ���$������� �������, #���� �� �%��5 �3

5$% ���� �& !��� ���

q(h1, . . . , hn) =
n∑

i,j=1

aijhihj (aij = aji)

�/�� ����6� 0� ��

N ������� $�����& !� q > 0 ∀ h = (h1, . . . , hn) �= (0, . . . , 0) &

N ��
���� $�����& !� q < 0 ∀ h = (h1, . . . , hn) �= (0, . . . , 0) &

N ��$�����& !� 0�%/��� �����./ 2� �����./ 2 �2����� ��,


�/�55� N C�%/���� �2��%� ��� ��� N ��� �/�� ����6� 0� �� ���� 2� "���

���� �����./& �%%��/� �����./ ��K���& !� �

Δ1 = a11, Δ2 =
∣∣∣∣a11 a12

a21 a22

∣∣∣∣ , . . . , Δn =

∣∣∣∣∣∣∣
a11 . . . a1n

,,,

,,,

an1 . . . ann

∣∣∣∣∣∣∣

E����/����� 5�% 0�%�: �� ������ �������� I/��� 0:���� ���� ��������J

�����./��& �%%��/� /�%�����/� �����./�� 2� �����./��,

���� 0���%���& � 
��%� 3�2��% 2� � ��A� ��"��%!��$��� ��K�."�$��

�%����� 5�����.�!��$ � �8/�����:& E����/����� ����� ���; I�%�����:J

0�%�2��% � %���%�� ��2%�:2 �2� %2���2�2 �,

1� ����	 2� 	���	�
 
��	
B����� �	�����B ��	����	�3�

�� �� f : D ⊂ Rn → R �����
�� �
����	 "�-�	���������# �� x0 ∈ D


���$��� ����$$� f ′(x0) = 0 
� d2f(x0, h) 
������ ��������� "�/���� ���

��	 x0�$�� f ���� �����	� ������� �����*�� ���0��*��� ����

-��(��!��
���

+, � �2��% 0�%�2��%�� ��%%��� Δi > 0 (i = 1, . . . , n) ����2� ����� E %�3

��%�� �����6��& (−1)iΔi > 0 (i = 1, . . . , n) ����2� ����� E %���%��

��7��6�� /�� f 3��� x035��,

', D� d2f ����K���& ���� f 3��� ���"� ��2%�:2 �2�� x035�� I�� �����

0�%�2��%�� ��%%���J,

*�	����

+, B�����%�� � %���%�� ��2%�:2 �2��� ��

f(x, y) = x2 + xy + y2 − 3x− 3y ((x, y) ∈ R2)

��" ��� �*,,�����
$� ��������
� (���
�
�-����
�������

01��/2�� �,

∃ fx(x, y) = 2x+ y − 3 , fy(x, y) = x+ 2y − 3 ,

.�� ��� %�!�� %���%�� ��2%�:2 �2�& �!�%

2x+ y − 3 = 0 , x+ 2y − 3 = 0 .

�� �����%�� ������ �����%�� ����%���� �� x = 1, y = 1& .�� �� (1, 1)

����5�� %�!�� %���%�� ��2%�:2 �2�,

��%��!��$& !��� f �2���� ��A� ��"��%!��$ �� (1, 1) ����5��& ��/�55�

fxx(x, y) = 2 , fxy(x, y) = fyx(x, y) = 1 , fyy(x, y) = 2 ,

��2 �

fxx(1, 1) = 2 , fxy(1, 1) = fyx(1, 1) = 1 , fyy(1, 1) = 2 ,

����� � d2f((1, 1), (h1, h2)) �/�� ����6� 0� �� ��� �7�(
2 1
1 2

)
,

��� ����& !���

Δ1 = 2 > 0 , Δ2 =
∣∣∣∣2 1
1 2

∣∣∣∣ = 3 > 0 ,
��!�� I%��� +, ��������2�J f 3��� (1, 1)35�� %���%�� �����6�� /��,

', B�����%�� �� f(x, y) = x3 + y3 − 3xy ((x, y) ∈ R2) 01��/2�� %���%��

��2%�:2 �2����,

∃ fx(x, y) = 3x2 − 3y , fy(x, y) = 3y2 − 3x ,

2�

3x2 − 3y = 0

3y2 − 3x = 0

}
⇐⇒ (x, y) = (0, 0) /��� (x, y) = (1, 1),

.�� � (0, 0) 2� �� (1, 1) ������5�� %�!�� %���%�� ��2%�:2 �2�, ��%��!��$&

!��� f �2���� ��A� ��"��%!��$& ��/�55�

fxx(x, y) = 6x , fxy(x, y) = fyx(x, y) = −3 , fyy(x, y) = 6y .

(1, 1)35�� � d2f ��� �7�

(
6 −3
−3 6

)

& .�� Δ1 = 6 > 0, Δ2 = 36−9 >

0& ��!�� f 3��� (1, 1)35�� %���%�� �����6�� /��,



�� ���
�
��������#���
�
� ���

(0, 0)35�� � d2f ��� �7�

(
0 −3
−3 0

)

& .�� Δ1 = 0, Δ2 = −9 > 0

����� �2��%1�� ��� !�����%!��$, ��%��!��$ I��� �$����  �%J& !���

(0, 0)35�� �� f(0, 0) = 0 ��� %���%�� ��2%�:2 �2�,

.� 8�	���
���	
����
����#

� 4, 0������ 4, �2��%� 6��� ����������1�& !��� ��� ��A� ��"��%!��$

f : D ⊂ Rn → Rn ID ��.%�J 01��/2�� ��A� ��"��%!��$ ��/� �2��� %23

���2�2!�� ��1��2���& !��� f ′(x) ��� �7� ��� �����6%� ��& ��� � %���� ��

�%��5 �5$% ���6%��� ��� ��� ��� �� ����& !��� det f ′(x) �= 0,

����6���!��$& !��� 0�%�������� ��A� ��"��%!��$ 01��/2���� ����2�

� 0�%�2��% N %���%�55�� %���%���� N �%2��2��� ��,

+� ��,�
&��� �� f : D ⊂ Rn → Rn ���������� I01��/2���J ��
����

������ ��/���1�& !� 0�%�������� ��A� ��"��%!��$ 2�

det f ′(x) =

∣∣∣∣∣∣∣
D1f1(x) . . . Dnf1(x)

,,,

,,,

D1fn(x) . . . Dnfn(x)

∣∣∣∣∣∣∣ �= 0 (x ∈ D) .

0� ��,�
&��� �� f : D ⊂ Rn → Rn %��2���2�� I01��/2���J ���������

��������������� ��/���1� D3�& !� ∀ x0 ∈ D ����2� ∃ K(x0, r) ⊂ D&

!��� f |K(x0,r) If %���;�.�2�� K(x0, r)3 �J ��/� ��%!��$ 01��/2��,

�� �%�55� !� �� I�� ��/� �01��/2��3�2��% 5�����.����� �%:�2��.�:J �2��%�

5�����.��� �2%�1% �8�8%�1�,

+� ����	 2� 	���	�
 �������	"���
�� �	�����B ��	����	�3�

 ����� f : D ⊂ Rn → Rn 	��*��	�� ���

��
� ������
���� ����	 ���������

����	������# D��

0� ����	 2�� ������ � �����! ��	!����

���3� �� �� f : D ⊂ Rn →
Rn �����
�� �D ������ 	��*��	�� 
� �'���'�'��� ���
	����, D��� ����	

�J f(D) ����� Rn�$��>

5J �� f �����
�� g : f(D) → D ����	� �����
��� ����������

1� ����	 2�� ������ � �����! ����	�����
�3� �� �� f : D ⊂ Rn → Rn

�����
�� �D ������ 	��*��	�� 
� �'���'�'��� ���
	����, D��� ����	 �

g : f(D) → D ����	� �����
��� 	��*��	���

��� ��� �*,,�����
$� ��������
� (���
�
�-����
�������

�� �%:�: !� �� �2��% � ���2������� 8����0��%�%��� � �8/�����:G

4� ����	 2������� �����!�����	3� �� �� f : D ⊂ Rn → Rn �����
��

� D ����� �������� 	��*��	��� ����	 ��������� ����	������# 
� � �������

����	��� 	��*��	����� ���� ∀ x0 ∈ D ����
� ∃ U 
� V ����� 	
���������

Rn����� ���� x0 ∈ U ⊂ D, f(U) = V � ����$$� f �'���'�'��� ���
	����,

U ��� � g = f−1 �����
�� ����������� "�-�	���������# V ��� 
� det g′ �=
0 V ���

��������	
� �� +, �2��% ���� f %���%�� ��/� ��%!��$����� D3�& .�� ∀ x0 ∈
D ����2� %2����� K(x0, δ) = U ⊂ D ��.%� !�%���& !��� f �8%"�8�8���

���2 ��%�; U 3�, � ', �2��% ����� �� f(U) = V !�%��� ��.%� Rn35��& �.�

4, �2��% ����� � g = f−1 %���%�� ��/� �  ��6%� �� V 3�, �

-��(��!��
� �� f : D ⊂ Rn → Rn 01��/2�� %���%�� ��/� ��%!��$�����

E�� �� 0���%���!���6�& !��� �� y = f(x) �����%��& �%%��/� ��

y = (y1, . . . , yn) = (f1(x1, . . . , xn), . . . , fn(x1, . . . , xn)) = f(x)

����� ��$�$
yi = fi(x1, . . . , xn) (i = 1, . . . , n)

�����%�� ������ ����%�!��$ x1, . . . , xn3 � �� y1, . . . , yn 01��/2��25��

I!� ∀ x0 ∈ D3 � x 2� y �� x0 2� y0 = f(x0) �%2� ��� �8 ������25��

/�����J,

*�	����

+, #����� f : R2 → R2, f(r, ϕ) = (r cosϕ, r sinϕ),

D� D = ]0, 1[× ]0, b[ & ���� f ′ ��� �����6%� �� D3�& �� ���� 2� "���

���� �8%"�8�8��� ���2 ��%�; D3�& !� b < 2π,

�� ��%� (r, ϕ) ∈ D3 �

∃ f ′(r, ϕ) =
(

cosϕ −r sinϕ
sinϕ r cosϕ

)
,

.�� det f ′(r, ϕ) = r > 0 ∀ (r, ϕ) ∈ D3 �& ��2 � f ′ ��� �����6%� ��,

���� �� ��/� �01��/2��3�2��% ����& !��� f %���%���� ��/� ��%!��$D3�

I2� � %���%�� ��/� ���  ��6%� ����J,

� 
�%�6%6� �, �,4,+ �2��% ����� f ���� 2� "��� ���� ��/� ��%!��$

D3�& !� ∀ (r1, ϕ1), (r2, ϕ2) ∈ D ����2� f(r1, ϕ1) = f(r2, ϕ2)35:%

(r1, ϕ1) = (r2, ϕ2)& ���� r1 = r2 2� ϕ1 = ϕ2 �8/�������,


�!�� %����� (r1 cosϕ1, r1 sinϕ1) = (r2 cosϕ2, r2 sinϕ2)& ���� 

r1 cosϕ1 = r2 cosϕ2 2� r1 sinϕ1 = r2 sinϕ2 �8/������� D3�& ��%�5:%



�� ���
�
��������#���
�
� ���

�2����� ����%2���% 2� 8����������% r21 = r22 & �%%��/� r1 = r2 �8/�������,

L�� �� �����%�� ������ ϕ1 2� ϕ23 �

0 = cosϕ1 − cosϕ2 = −2 cos
ϕ1 + ϕ2

2
sin

ϕ1 − ϕ2

2

0 = sinϕ1 − sinϕ2 = 2 cos
ϕ1 + ϕ2

2
sin

ϕ1 − ϕ2

2
,

��� ���� 2� "��� ���� ��%���1%& !� ϕ2 = ϕ1 + 2kπ,

D� ϕ1, ϕ2 ∈ ]0, 2π[ & E�� �� "��� k = 03 � %�!�� ����& ���� ϕ1 = ϕ2

�� ��%���1%, D� ��!�� b < 2π& E�� f �8%"�8�8��� ���2 ��%�; D3�, D�

b ≥ 2π E�� ���,

', D��� ���6� ��� �� f : D ⊂ R2 → R2&

f(x) =
x

1 + x1 + x2
=
(

x1

1 + x1 + x2
,

x2

1 + x1 + x2

)

01��/2�� ��/� �2�& !� D = {(x1, x2) ∈ R2 | 1 + x1 + x2 �= 0},

��%��!��$& !���

∃ f ′(x1, x2) =
1

(1 + x1 + x2)2
> 0 ,

.�� � %���%�� ��/� ��%!��$��� ����,

� ��������2� ��� ��� f ���� I%���%����J ��/� ��%!��$& !� ��

x1

1 + x1 + x2
= y1 ,

x2

1 + x1 + x2
= y2

�����%�� ������ ����%�!��$ x1, x23 � y1 2� y2 01��/2��25�� I%���%�3

���J, � ����%��� ������ ;�� �8�G

x1 =
y1

1 − y1 − y2
, x2 =

y2
1 − y1 − y2

,

!� 1 − y1 − y2 �= 0 I��� ���%/�� ����J& .�� f ��/� ��%!��$ D3�,

��% ��� �*,,�����
$� ��������
� (���
�
�-����
�������

/� 8�-��4�� 
���	
���#

'�,�
&��� #������� D1 ⊂ Rk 2� D2 ⊂ Rn ��.%� !�%����� 2�

f = (f1, . . . , fn) : D = D1 ×D2 ⊂ Rk+n → Rn

����� 01��/2�� I01��/2�� ������ J,

� g = (g1, . . . , gn) : D1 → Rn 01��/2��� I01��/2�� ������ �J ��

I+J f(x, y) = 0 (x = (x1, . . . , xk), y = (y1, . . . , yn))

�����%�� I�%%��/� ��

I+VJ fi(x1, . . . , xk, y1, . . . , yn) = 0 (i = 1, . . . , n)

�����%�� ������ J ��
��$������ ��/���1�& !�

I'J f(x, g(x)) = 0 (x ∈ D1)

��%���1%, ���� � g = (g1, . . . , gn) 01��/2��� I01��/2�� ������ �J ��

I+J �����%�� �%��% ����� �������� �	

���
��� I�	

���
���$�������J

������ ��/����,

ID� k = n = 1& E�� �� f 2� � g 01��/2�� f : D ⊂ R2 → R& �%%��/�

g : D1 ⊂ R → R �.�6�E,J

@����� �2 �2���G

N ���� %2����� ���%�"�� 01��/2��H

N ��� ����!��6�� I�%��%��� 0�%�2��%�� ��%%���J �� ���%�"�� 01��3

/2�� ��A� ��"��%!��$���� $%H

F�%8%2���G
N D� f = (f1, . . . , fn) : D ⊂ Rm → Rn ��A� ��"��%!��$& E��

f ′ .=
∂f

∂x

.=
∂(f1, . . . , fn)
∂(x1, . . . , xm)

.

N D� f : D ⊂ Rk+n → Rn ID = D1 ×D2 ��.%�J& ���� 

f ′ .=
[
∂f

∂x

∂f

∂y

]
(x = (x1, . . . , xk), y = (y1, . . . , yn)).

-��(��!��
� �� ���%�"�� 01��/2�� ���!��� �������% ��� n �����%��5:%

�%%$ k+n ���� ��%���� �����%�� ������ � �%�6�� ��� E��& !��� �� 6��%�$

n ���� ��%��� 0�����1� �� �� �%�: k3/�% I�� ������ ;�2� ���/22 �J,



%� �����-�� ��������
� ���

+� ����	�  ����� f : D = D1 × D2 ⊂ Rk+n → Rn �D1 
� D2 ������

"�-�	���������# �����
��� .����� ���� ���� �
����� �� I+J �������� �����

�"��� I'J�� ��������! g : D1 → Rn "�-�	���������# ��
����� �����
���

(���	

I��+J

∂f

∂x
(x, g(x)) +

∂f

∂y
(x, g(x)) · g′(x) = 0,

������� �� �

∂f

∂y
n × n��� ���	�0 ��� �����*��	�� �� (x, g(x)) 
���$���

����	

I��'J g′(x) = −
[
∂f

∂y
(x, g(x))

]−1
∂f

∂x
(x, g(x))

���������

��������	
� D� %2����� ��A� ��"��%!��$ g& E�� %�������

h,H : D1 → Rk+n&

h(x) .= (x, g(x)), H(x) .= f(h(x)) = f(x, g(x)),

���� ��� 2��� H(x) = 0 (x ∈ D1) ��� 2��� I�� 8�������� 01��/2�� ��03

0� ��"��%��� ���5�%�� �����JG

0 = H ′(x) = f ′(h(x)) · h′(x) =
[
∂f

∂x
(h(x))

∂f

∂y
(h(x))

]
·
[
Ik
g′(x)

]
=

=
∂f

∂x
(x, g(x)) +

∂f

∂y
(x, g(x)) · g′(x)

���� I��+J ��%���1%, D� �����

∂f

∂y
(x, g(x)) ��� �����6%� ��& E�� I��+J3

��

[
∂f

∂y
(x, g(x))

]−1

3���% 5�% $% ��� ��/�&  �����2� 6��� ����6� I��'J3�

��, �

0� ����	 2��.	�&��� �����!�����	3�  ����� f : D ⊂ Rk+n → Rn �����

����������� "�-�	���������# �����
��� ���� ∃ (a, b) ∈ D� det
∂f

∂y
(a, b) �=

0 �����

∂f

∂y
(a, b) ��� �����*��	���� (���	 ∃ K(a, r) ⊂ Rk 
� ��� ����


	����,�� �������	������ ��������� g : K(a, r) → Rn �����
��� ����

��� ��� �*,,�����
$� ��������
� (���
�
�-����
�������

g(a) = b 
� f(x, g(x)) = 0 (x ∈ K(a, r)) ����� �� I+J ����� �������	��

����� I'J�� ��������! ��
����� �����
��K(a, r)����� .���$$� g �����������

"�-�	���������#�

*�	��� #����� f : R2 → R, f(x, y) = x2 + y2 − 5, B�����%�6� ��

f(x, y) = x2 + y2 − 5 = 0

�����%�� �%��% ���!��� �����

f(x, g(x)) = x2 + g2(x) − 5 = 0

�����%���� ��%���.�: g : K(a, r) → R ���%�"�� 01��/2��� %2���2�2�& !�

(a, b) = (1, 2),

f 3 :% 5�%��!��$& !��� 0�%�������� ��A� ��"��%!��$,

D� (a, b) = (1, 2)& E�� f(a, b) = f(1, 2) = 12 + 22 − 5 = 0& ��/�55�

∃ D1f(1, 2) = 2 �= 0 2� D2f(1, 2) = 2 �= 0& .�� �� �����%�� %���%����

����%�!��$ 5� ��%� /�%���$ � I� ����� 01��/2��25��J,

D� r = 1& E�� ���%/�� � g : K(1, 1) → R, g(x) =
√

5 − x2 ���2 ��%�;

����%��� I���%�"�� 01��/2��J, �� +, �2��% ��� ���

g′(x) = − 2x
2
√

5 − x2
=

−x√
5 − x2

.

3� 6���
����� ��
��'
��
#

'�,�
&��� #����� f : D ⊂ Rk+n → R, h = (h1, . . . , hn) : D → Rn, ��

f 01��/2����� �� x0 ∈ D ID ��.%�J ����5�� �

h(x) = 0 (h1(x) = · · · = hn(x) = 0)

0�%�2��% ��%%��� ���������� ������� ������������ /��& !�

N h(x0) = 0 (h1(x0) = · · · = hn(x0) = 0)

2�

N ∃ δ > 0, ∀ x ∈ K(x0, δ) ∧ h(x) = 0 f(x) ≤ f(x0) (f(x) ≥
f(x0))

��%���1%,

����	 2� ��	����	�
 	���	�
 
��	
B����� 
� �
���
 ��	����	�3�  �����

f : D ⊂ Rk+n → R, h = (h1, . . . , hn) : D → Rn� �� �� f �����
�����

�� x0 ∈ D �D ������ 
���$�� � h(x) = 0 ����
��� ������� ����
����� �������



�� �
����
�
� �
���)����� ���

��
��!
	�
�� ���� ����$$� f 
� h ����������� "�-�	���������#� �� x0 ���

�'	������
$��� ����	

N ���� �

(
Djhi(x0)

)
n×(k+n)

���	�0 ���"�� n��"	��", ��"���	���

����� �
	*�

N ���� ∃ λi ∈ R (i = 1, . . . , n) ������� ���� �

F : D → R, F (x) = f(x) +
n∑

i=1

λihi(x)

�����
�� ���"�� 
�	������ "�	������� �
	*� x0�$��� ����

DjF (x0) = 0 (j = 1, . . . , k + n).

-��(��!��
� � �2��% ��� ��� � %�!���2��� 0�%�2��%�� ��2%�:2 �2� !�%���

���!��� �����!�� �⎧⎨
⎩Djf(x) +

n∑
i=1

λiDjhi(x) = 0 j = 1, . . . , k + n

hi(x) = 0 i = 1, . . . , n

k + 2n �����%��5:% �%%$ k + 2n ���� ��%���� (x1, . . . , xk+n, λ1, . . . , λn)

�����%�� ������ � ��%% ����%����,

*�	��� D��� ���� ��� ��

f(x1, x2) = x1 + 2x2 (x1, x2) ∈ R2

01��/2�� 0�%�2��%�� %���%�� ��2%�:2 �2� !�%���� 2� ���� 2 �2�2� �

h(x1, x2) = x2
1 + x2

2 − 1 = 0

0�%�2��% � I���� �� x2
1 + x2

2 = 1 �8 /���%��J,

f : R2 → R, h : R2 → R �.�6�E& .�� � ��������2� ��� ���& ��/�%
D1f(x1, x2) = 1 , D2f(x1, x2) = 2 ,

D1h(x1, x2) = 2x1 , D2h(x1, x2) = 2x2 ,

�� ⎧⎪⎨
⎪⎩

1 + 2λx1 = 0
2 + 2λx2 = 0

x2
1 + x2

2 − 1 = 0

�� ��� �*,,�����
$� ��������
� (���
�
�-����
�������

�����%�� ������ ����%����� (x1, x2)3 � ����� � %�!���2��� 0�%�2��%�� ��2%3

�:2 �2� !�%�����,

������ ; �����%�� ����& !��� ����(
−
√

5
5
,−

√
5

10

)

2�

(√
5

5
,

√
5

10

)
.

�� x2
1 + x2

2 = 0 �8 /���% ������� !�%��� R235��& .�� ���� f 0�%/���� �

��7��6��� 2� �����6���& ��%���

f

(√
5

5
,

√
5

10

)
= 2

√
5

5
�%%��/� f

(
−
√

5
5
,−

√
5

10

)
= −2

√
5

5
.



���� �������

$�	��������	
��� Rn��	�

9�	����
�

�55�� � 0������5�� �%:��8 � I�,',N<, 2� *, 0������5�� �� ���%�J

�������3����� �% 0���%��� 2� �� �  � /�������$ 5������� � ���2������

�%��%����.��6� n3�������$� �2�%� 0�%��� 2 ��%������ �� %���� 01��/2���� �&

����2��.�/� �� �%��%�����55 �������3����� �% ������.���� � /�������$

�2��%����%,

��� �8/��:�� I� �2�%�� ��K���%� ����� �% � /�����/����/�J 2 ��%����1�

�� ����� �%� �� %���� Rn35�%� !�%����� �& ��%�!�� ���"��%$�/� Rn35�%�

�� %���� !�%����� F� ���3�2 !��:�2�2� 2� �2 �2�2�& � � �2 �2� 0����3

��55 �6%����������� �� /�����%�6�, ���6���6�� �  � ��& !��� �2%��6% ��

R235�%� F� ���3�2 �2� 2� �� f : [a, b] → R �������3����� �%!��$ 01��3

/2�� � �0�� �%���� �� 1%�� ���5�����,

�� ���������������� �
����

�� ����������	�
��
 ��
�
�� 	�

��

� �������3����� �% 0���%�� I2� �55:% � ��:�� �6%���������� ��J ��

Rn �2�%��� I���� /�%%6����J ��� �� ���%$���� �6��� I�6������J ��
f : [a, b] → R �.�6�E 01��/2���� � 0�%2�.���� �������3����� �%%�%,

������ ��� �� ��%�� ����� � �� 1%��3 2� �2 0��������.���!�� �� ���"��%$3

���,
� ��/�55���5�� %����� Q = [a1, b1] × · · · × [an, bn] ⊂ Rn ��� ��
��&

/��� n�$�������� ����������� I�!�% �� [ai, bi] ⊂ R (i = 1, . . . , n)

���� /�%%6����� Q ���������3���� /�%%6������ ��/���1�J& �.� f : Q→
R �� %���� 01��/2��,

��!

��" ���� ��
����#���
���� R
n#,
�

+� ��,�
&��� � Q = [a1, b1] × · · · × [an, bn] ��
�� �������� I�����
��

���J �

V (Q) .= (b1 − a1) · . . . · (bn − an)

/�%$� ������ 2 ��1�, IC��"��%���� �� n = 13 � ��� /�%$� ���� /�%%6�

!�����& n = 23 � ��� �2�%�%�� �� 1%���,J

0� ��,�
&��� D� Q = [a1, b1] × · · · × [an, bn] ����� �2�%�& E�� �

P = P1 × · · · × Pn !�%���� Q �

 ������������� ��/���1�& !�

∀ j = 1, . . . , n3 � Pj �� [aj, bj ] ���� /�%%6� ��� I�� �55�� �� ��K��3

�%�J 0�%�������& ����

Pj = {xji | aj = xj0 < xj1 < · · · < xjkj = bj} .

D� ∀ j3 � Iji = [xji−1, xji] (i = 1, . . . , kj) ��%8%� �� [aj , bj] ���������3

���� /�%%6� Pj �%��% ���!��� �����  2������ /�%%6����& ���� �

Ti1...in = I1i1 × · · · × Inin �2�%���� I�!�% i1 = 1, . . . , k1; . . . ; in =
1, . . . , knJ � Q �2�%� P 0�%������ �%��% ���!��� ����� ������
������ I 2��3

���� /�%%6������J& �.� �

‖P‖ = sup
i1,...,in

{diamTi1...in}

������ I�!�% diamTi1...in � Ti1...in �2�%� ���2 :��J � P ��������� �����

��
���� ��/���1�,

1� ��,�
&��� #����� P 1 2� P 2 Q �2� 0�%�������, P 2 ��������� I��/�553

�������J P 13���& !� P 1 ⊂ P 2, � P = P 1 ∪ P 2 !�%���� � P 1 2� P 2

0�%�������� �����.�2�2��� I�%%��/� P 1 ⊂ P 1 ∪ P 2 2� P 2 ⊂ P 1 ∪ P 2 �����

�8�8� K���.�������J ��/���1�,

4� ��,�
&��� 〈P k〉 �������� ����������������� Q3���& !�

lim
k→∞

‖P k‖ = 0 ��%���1%,

-��(��!��
���

+, D� P = P1 × · · · × Pn& ���� ‖P‖2 =
n∑

k=1

‖Pk‖2, ‖Pk‖ ≤ ‖P‖,

', D� 〈P k〉 = 〈P k
1 × · · · × P k

n 〉& E�� 〈P k〉 ���� 2� "��� ���� �� ��%��&

!� 〈P k
i 〉 (i = 1, . . . , n) �� ��%��,

4, P 1 ⊂ P 2 ���� 2� "��� ���� P 1
i ⊂ P 2

i (i = 1, . . . , n),

9, Q =
⋃

i1,...,in

Ti1...in ,



�� ��
����#���
���� ������ ���

5� ��,�
&��� #����� Q ⊂ Rn �2�%�& f : Q → R �� %���� 01��/2��& P �

Q ��� 0�%������� 2� Ti1...in � 0�%������  2���2�%��& ��/�55�

mi1...in

.= inf
x∈Ti1...in

{f(x)} Mi1...in

.= sup
x∈Ti1...in

{f(x)}

I���� f �� %�������� ����� %2������J,

�

s(f, P ) .=
∑

mi1...inV (Ti1...in) , S(f, P ) .=
∑

Mi1...inV (Ti1...in) ,

O(f, P ) .= S(f, P ) − s(f, P ) =
∑

(Mi1...in −mi1...in)V (Ti1...in)

�������� �� f 01��/2�� P 0�%������!�� �� ���$ ����& �����& �%%��/� ����

��������� �����
�����& �.� �����:%���� ti1...in ∈ Ti1...in ������ � �

σ(f, P ) .=
∑

f(ti1...in)V (Ti1...in)

������ �� f 01��/2�� P 0�%������!�� 2� ti1...in ������!�� �� ���$ �����3

 �%�8��%.�: 8�����2��� ��/���1�& �!�% �� 8������2� ���� ��� � Q �2�%� P

�%��% ���!��� ����� 8�����  2���2�%��� �,

+� ����	� �� f : Q→ R ��	����� �����
��� ����	

�J $�	���� P 
� $�	���� σ(f, P )�	�% s(f, P ) ≤ σ(f, P ) ≤ S(f, P )>

5J $�	���� P 1 ⊂ P 2�	�% s(f, P 1) ≤ s(f, P 2), S(f, P 1) ≥ S(f, P 2)>

"J $�	���� P 1, P 2�	�% s(f, P 1) ≤ S(f, P 2)�

6� ��,�
&��� #����� f : Q→ R �� %���� 01��/2��, ��

�



.=
∫

Qf
.= sup

P
{s(f, P )} Ī

.=
∫

Qf
.= inf

P
{S(f, P )}

I%2���:J �������� �� f 01��/2�� Q 0�%���� ����& �%%��/� ����� ��� ��!�

����
�������� ��/���1�,

0� ����	�  ����� f : Q→ R ��	����� �����
��� ����	

�



, Ī ∈ R 
� �



≤ Ī , 0 ≤ Ī − �



≤ O(f, P ).

��������	
� #��� 
�%�6%6� �,& �W,',& ', �2��% 5�����.����, �

*�	����

+, D� f : Q ⊂ Rn → R, f(x) = c& ���� �



= Ī& �� � Q 5� ��%� P

0�%������� /�%����/�& mi1...in = Mi1...in = c �����

s(f, P ) = S(f, P ) =
∑

cV (Ti1...in) = c(b1 − a1) . . . (bn − an),

��� ���� ��
����#���
���� R
n#,
�

��� ����& !���

�



= sup
P

{s(f, P )} = c(b1 − a1) . . . (bn − an) = inf
P
{S(f, P )} = Ī .

', D� f : Q ⊂ Rn → R&

f(x) =

{
1 & !� x 5� ��%� ��� ��������  �"����%��,

0 & ���25�2��,

���� �



�= Ī& �� � Q 5� ��%� P 0�%������� � I��/�% ������ Ti1...in

 2���2�%�5�� /�� "�6��  �"����%�� ��� �������E 2� ��� �.�6�E ����

��J

mi1...in = 0, Mi1...in = 1& .��

s(f, P ) =
∑

0 · V (Ti1...in) = 0 ,

S(f, P ) =
∑

1 · V (Ti1...in) = (b1 − a1) . . . (bn − an) ,

��2 �

�



= sup
P

{s(f, P )} = 0 < (b1 − a1) . . . (bn − an) = inf
P
{S(f, P )} = Ī .

8� ��,�
&��� �� f : Q→ R �� %���� 01��/2�� "�����������
�������

Q3�& !� �



= Ī 2� ��� � �8�8� 2 �2��� �� f 01��/2�� Q ��
�� �������

"�����������
�������� ��/���1�& 2�  � �� I,
∫
Q

f & /���

∫
Q

f(x)dx ��%83

%2����� !�����%�6�,

-��(��!��
���

+, �� �%:�: +, �2%�� 01��/2��� �������3����� �%!��$ 2�

I = c(b1 − a1) . . . (bn − an).

', #2����� ��� �������3����� �%!��$ 01��/2�� I� ', �2%�� 01��/2���J,

�� � ��������	�	�
 �� ����	���������

+� ����	 2'�����9�����	3� �� f : Q → R (Q ⊂ Rn �
���� ��	�����

�����
��� ����	 $�	���� ε > 0���� �
����� δ(ε) > 0� ���� Q $�	���� P

����������	�� ����	� ‖P‖ < δ(ε)�

S(f, P ) − Ī < ε 
� �



− s(f, P ) < ε

���������



�� ��
����#���
���� ������ ���

0� ����	 2# '�����9�����	 �����������!�3� �� f : Q→ R ��	�����

�����
��� ����	

�� Q $�	���� 〈P k〉 ��	����� �����������	�����	� �
�����

lim
k→∞

s(f, P k) = �



, lim
k→∞

S(f, P k) = Ī , lim
k→∞

O(f, P k) = Ī − �



;

$� Q $�	���� 〈P k〉 ��	����� �����������	�����	� �
������ 〈σ1(f, P k)〉 
�

〈σ2(f, P k)〉 �����	���'�����! '�������	������� ����

lim
k→∞

σ1(f, P k) = �



, lim
k→∞

σ2(f, P k) = Ī .

�� � ����������	�
��
��	���
 ���	������� �� �
�
��� ��
	�	�
��

+� ����	� (� f : Q→ R ��	����� �����
�� ����	 
� ���� ����	 )�������

�����	�����# Q��� �� �
����� I ∈ R� ���� $�	���� ε > 0���� �
�����

δ(ε) > 0� ���� $�	���� ����� P ����������	� Q����� ����	� ‖P‖ < δ(ε),
|σ(f, P ) − I| < ε �������� $�	���� σ(f, P )�	��

0� ����	� (� f : Q→ R ��	����� �����
�� ����	 
� ���� ����	 )�������

�����	�����# Q��� �� $�	���� 〈P k〉 ��	����� �����������	������� ��	���#

$�	���� 〈σ(f, P k)〉 �����	���'�����! '�������	���� �����	�����

1� ����	 2$����������������3� (� f : Q → R ��	����� �����
�� ���

��	 
� ���� ����	 )������������	�����# Q��� �� $�	���� ε > 0 ����
�

�
����� P ���������� Q����� ����

O(f, P ) = S(f, P ) − s(f, P ) < ε .

��������	
� ���� /�%$�5��& "��� [a, b] !�%���� Q3� . 6��, I#��� �,9,& 4, �23

��% 5�����.����,J �

4� ����	� (� f : Q→ R ��	����� �����
�� ����	 
� ���� ����	 )�������

�����	�����# Q��� �� Q $�	���� 〈P k〉 ��	����� �����������	����� ����
�

〈O(f, P k)〉 �*����	�����

5� ����	� f : Q→ R ��������� �����
�� )������������	�����#�

��������	
� ���� /�%$�5��& "���

ε

b − a

!�%����

ε

V (Q)
3� !�����%6��, I#���

�,9,& ), �2��% 5�����.����,J �

��% ���� ��
����#���
���� R
n#,
�

'�,�
&��� �� A ⊂ Rn !�%���� +� ��
�� ������� ����������#��� ��3

/���1� Rn35��& !� 5� ��%� ε > 03 � %2����� �������%�%!��$ ��� Q1, . . . ,
Qn, . . . �2�%�& !���

A ⊂
∞⋃

n=1

Qn 2�

∞∑
n=1

V (Qn) < ε.

6� ����	 2<���
�������������3� (� f : Q → R ��	����� �����
��

����	 
� ���� ����	 )������������	�����#� �� ���  �$���*� ���	��� �*���

�
	�
�, Rn�$��� �������#� ���������� ����������

8� ����	� �� �� f : Q1 → R �����
�� )������������	�����# 
�

Q2 ⊂ Q1 (⊂ Rn) �� �
���� ��� f
∣∣
Q2

)������������	�����# Q2���

:� ����	 2�� �������	 ����������
� ���	���3�  ������� Q1, Q2 ⊂ Rn

����� �
����� ���� ����� �'�'� $���! 
����*� 
� Q = Q1 ∪ Q2 �� �
���

����� ��� �'�'� ��
�*��� �� �� f : Q → R ��	����� �����
�� )�������

�����	�����# Q1��� 
� Q2��� ����	 Q�� �� 
�∫
Q

f =
∫
Q1

f +
∫
Q2

f.

-��(��!��
� � �2��%5:% �8/�������& !��� !� ��� Q �2�%�� �8�8� 5�%�:

���� �2%�1%� Q1, . . . , Qk  2���2�%�� � 5���6��& !��� Q =
k⋃

i=1

Qi 2� ��

f : Q→ R 01��/2�� �������3����� �%!��$ 5� ��%�Qk3�& ���� �������3

����� �%!��$ Q3� �� 2� ∫
Q

f =
k∑

i=1

∫
Qi

f .

O�$55� ���� �%�$& �%%��/� 0�%�: �� 5�673����� �%�� � ��,

�� � ����������	�
��
 �!��
�	� 	�
�"�����
��# �
���
 	
����
��#

����$��	��	�	�
��

+� ����	� �� �� f, g : Q→ R ��	����� �����
���� )������������	�����#��

p, q ∈ R �����!����� ����������� ����	 � (p · f + q · g) : Q→ R �����
��



�� ��
����#���
���� ������ ���

�� )������������	�����# 
�∫
Q

(p · f + q · g) = p ·
∫
Q

f + q ·
∫
Q

g .

��������	
� #��� �,<,& +, �2��% 5�����.����, �

0� ����	� �� f : Q → R )������������	�����#� ����	 f2 ��� ����$$� ��

�
����� c > 0� ���� |f(x)| ≥ c $�	���� x ∈ Q� ����	

1
f

�� )�������

�����	�����#�

1� ����	� �� �� f, g : Q → R �����
���� )������������	�����#�� ����	

f · g ��� ����$$� �� �
����� c > 0� ���� |g(x)| > c $�	���� x ∈ Q�	�� ���

f

g

�� )������������	�����#�

��������	
� #��� �,<,& 4, �2��% 5�����.����, �

4� ����	� �� f : Q → R )������������	�����# �����
��� ����	 |f | ��

)������������	�����#�

5� ����	� �� f, g : Q→ R ��	����� �����
���� 
� f ≤ g� ����	∫
Q
f ≤ ∫

Q
g ∧ ∫

Q
f ≤ ∫

Q
g .

�� ����$$� f, g )������������	�����#�� ����	

∫
Q

f ≤ ∫
Q

g�

��������	
� #��� �,=,& +, �2��% 5�����.����, �

6� ����	�  ����� f : Q→ R )������������	�����#� ����	∣∣∣∫
Q

f
∣∣∣ ≤ ∫

Q

|f | .

��������	
� #��� �,=,& ', �2��% 5�����.����, �

8� ����	 2����.���������	3�  ������� f, g : Q→ R )������������	���

���#�� ����$$�

m ≤ f(x) ≤M , 0 ≤ g(x) (x ∈ Q),

����	

m

∫
Q

g ≤
∫
Q

f · g ≤M

∫
Q

g .

� � ���� ��
����#���
���� R
n#,
�

��������	
� #��� �,<,& 4, �2��% 5�����.����, �

+� �����������!�  ����� f : Q→ R )������������	�����#� m ≤ f ≤
M � ����	

m ≤ 1
V (Q)

∫
Q

f ≤M .

��������	
� � =, �2��%5:% g ≡ 1 /�%��������%&

∫
Q

1 = V (Q) ����� �8� ��

�%%.���, �

0� �����������!� �� f : Q → R ��������� �����
��� ����	 ∃ c ∈ Q�

����

f(c) =
1

V (Q)

∫
Q

f .

�� �� ��	�
��
 ������%	��� &� '������	�	�
�

���G �� n3�������$� �2�%� 0�%���� ����� �% ������.������� /�����/����2��

�%�"�����55 �������$�E ����� �%�� �& �� E����/����� ���2�%2��� ����� �3

%����%,

+� ����	 2E�����3�  ����� Q
.= A × B ⊂ Rn� ���� A ⊂ Rk, B ⊂ Rm

�
�����  ����� f : Q → R ��	����� �����
��� ������ f(x, y) ����$��

�	*��� �� x ∈ A 
� y ∈ B� &�	���� x ∈ A ����
� ��������� ��

�



(x) .=
∫

y∈B
f(x, y) 
� Ī(x) .=

∫
y∈B

f(x, y)

���# 
� ����! �����	�������

�� �
�����

∫
Q

f � ����	 �� �



, Ī : A→ R �����
���� )������������	�����#�


� ∫
Q

f =
∫

x∈A

[ ∫
y∈B f(x, y)

]
=
∫

x∈A

[ ∫
y∈B f(x, y)

]
.

# E����������	 �����������!��/

+, #����� Q = A × B (A ⊂ Rk, B ⊂ Rm �2�%��J& f : Q → R �� %����

01��/2��,

D� %2�����

∫
Q

f 2� 5� ��%� x ∈ A3 � %2�����

∫
y∈B

f(x, y)& /��� 5� ��%�



�� ��
����#���
���� ������ � �

y ∈ B3 � %2�����

∫
x∈A

f(x, y)& ���� 

∫
Q

f =
∫

x∈A

⎡
⎣ ∫
y∈B

f(x, y)

⎤
⎦ /���

∫
Q

f =
∫

y∈B

⎡
⎣ ∫
x∈A

f(x, y)

⎤
⎦ .

��%���1%,

', D� A = [a, b] ⊂ R, B = [c, d] ⊂ R, f : Q = [a, b]× [c, d] → R �� %����

2� �������3����� �%!��$ 01��/2�� Q3�& ���� %2�����

∫
Q

f
.=

b∫
a

d∫
c

f(x, y) dxdy ,

2�

5� ��%� x ∈ [a, b] %2�����

d∫
c

f(x, y) dy

/���

5� ��%� y ∈ [c, d] %2�����

b∫
a

f(x, y) dx

���� 

b∫
a

d∫
c

f(x, y) dxdy =

b∫
a

⎡
⎣ d∫

c

f(x, y) dy

⎤
⎦ dx

/���

b∫
a

d∫
c

f(x, y) dxdy =

d∫
c

⎡
⎣ b∫

a

f(x, y) dx

⎤
⎦ dy

��%���1%& ���� � ����:� ����� �% �2���� �� ���2��%� I/�%$� �������J

����� �%%�% ����.�!��$,

4, #����� Q = [a1, b1] × · · · × [an, bn] ⊂ Rn �2�%�& f : Q → R 0�%������

01��/2��& ���� 

∫
Q

f =

b1∫
a1

⎛
⎝ b2∫

a2

· · ·
⎛
⎝ bn∫

an

f(x1, . . . , xn)dxn

⎞
⎠ · · ·

⎞
⎠ dx1

�  ���� ��
����#���
���� R
n#,
�

*�	����

+, � ∫∫
[0,1]×[0,1]

xy dxdy

����:� ����� �% %2�����& �� � �� f : [0, 1] × [0, 1] → R, f(x, y) = xy

01��/2�� 0�%������& .�� � @65���3�2��% 4, �8/������2��� ����� I0�%3

!�����%/� � ��?���3#��5��� 0� �6%�� ��J

∫∫
[0,1]×[0,1]

xy dxdy =

1∫
0

⎛
⎝ 1∫

0

xy dy

⎞
⎠ dx =

1∫
0

[
xy2

2

]y=1

y=0

dx =

=

1∫
0

x

2
dx =

[
x2

4

]1
0

=
1
4
.

', � ∫∫∫
[0,1]×[0,1]×[0,1]

xy2
√
z dxdydz

!� ��� ����� �% %2�����& �� � ��

f : [0, 1]× [0, 1]× [0, 1] → R, f(x, y, z) = xy2
√
z 01��/2�� 0�%������&

.�� � @65���3�2��% 4, �8/������2��2� 2� � ��?���3#��5��� 0� �6%��

0�%!�����%/�

∫∫∫
[0,1]×[0,1]×[0,1]

xy2√z dxdydz =

1∫
0

⎡
⎣ 1∫

0

⎛
⎝ 1∫

0

xy2√z dz
⎞
⎠ dy

⎤
⎦ dx =

=

1∫
0

⎛
⎝ 1∫

0

[
xy2 z

3
2

3
2

]
dy

⎞
⎠ dx =

1∫
0

⎛
⎝ 1∫

0

2
3
xy2 dy

⎞
⎠ dx =

=

1∫
0

[
x2y2

3

]y=1

y=0

dx =

1∫
0

x2

3
dx =

[
x3

9

]1
0

=
1
9
.



 � ��
����#���
���� �������� R
n#,
�� �����
�� � !

�� ���������������� #������� Rn� ��� ��������

'�,�
&��� #����� S ⊂ Rn �� %���� !�%���& f : S → R �� %���� 01��3

/2��& ��/�55� fS : Rn → R �%���& !���

fS(x) =

{
f(x) , x ∈ S

0 , x ∈ CS .

#����� Q ⊂ Rn �%��� �2�%�& !��� S ⊂ Q,

�� f 01��/2��� "�����������
���������� �����6� S ������& !� %2��3

���

∫
Q

fS 2� �� ∫
S

f
.=
∫
Q

fS

������ �� f �	

���
 S ������� "�����������
�������� ��/���1�,

-��(��!��
� �� ��� ��K���%� ����� �% 01����%�� Q ���/�%��������$%,

+� ����	 2�� �������	 ��	�(���
����3�  ����� S ⊂ Rn ��	����� ����

���� f, g : S → R ��	����� �����
�����

�� �� f 
� g )������������	�����# S ������� ����	 λf + μg ��� 
�∫
S

(λf + μg) = λ

∫
S

f + μ

∫
S

g (λ, μ ∈ R).

$� �� f 
� g )������������	�����# S ������ 
� f(x) ≤ g(x) (x ∈ S)�

����	

∫
S

f ≤ ∫
S

g�

�� �� f )������������	�����# S ������� ����	 |f | �� )������������	���

���# 
�

∣∣∣∣∫
S

f

∣∣∣∣ ≤ ∫
S

|f |�

"�  ����� T ⊂ S� �� f ≥ 0 S��� 
� )������������	�����# T �� 
� S����

����	

∫
T

f ≤ ∫
S

f �

�� �� f )������������	�����# S1 
� S2 ������� ����	 )������������	���

���# S1 ∪ S2 
� S1 ∩ S2 ������ �� 
�∫
S1∪S2

f =
∫
S1

f +
∫
S2

f −
∫

S1∩S2

f

� " ���� ��
����#���
���� R
n#,
�

��������	
� -2%��6%G

�J ��/�% (λf +μg)S = λfS +μgS& .�� � +X�& +, �2��% 2� � ��K�."�$ �����∫
S

(λf + μg) .=
∫
Q

(λf + μg)S =
∫
Q

(λfS + μgS) =

= λ

∫
Q

fS + μ

∫
Q

gS
.= λ

∫
S

f + μ

∫
S

g.

5J fS ≤ gS 2� �� +X�& ), �2��% �����∫
S

f
.=
∫
Q

fS ≤
∫
Q

gS
.=
∫
S

g

�

+� �����������!� �� S ⊂ Rn, fi : S → R, (i = 1, . . . , k) ��	�����

�����
����� ������ )������������	�����#� S ������� ����	

k∑
i=1

λifi (λi ∈
R) �� )������������	�����# 
�∫

S

k∑
i=1

λifi =
k∑

i=1

λi

∫
S

fi .
0� �����������!�  ������� Si ⊂ Rn (i = 1, . . . , k) ��	����� ���������

����$$�

f :
k⋃

i=1

Si → R )������������	�����# ∀ Si��� ����	 f )������������	���

���# �� S =
k⋃

i=1

Si ��������� �� �
� �� �� ����� ���� ∀ i �= j�	� Si ∩ Sj

 �$���*� ���	��� �*���
	�
�, Rn�$��� ����	∫
S

f =
k∑

i=1

∫
Si

f .

��������	
� D� k = 2& ���� �� �%%.��� �8� �J35:%& �� � � 0�%�2��% �����∫
S1∩S2

f = 0 �� ����,

Y%��%�5�� ����� ��%��� ���6�"�$/�% 5�����.�6��, �



!� 	��(��#����
�) �����
�� R
n#,
� � �

�� D��&����
����' �������# Rn� ��

+� ��,�
&��� #����� S ⊂ Rn �� %���� !�%���, D� �� f(x) = 1 (x ∈ Rn)

�������� 01��/2�� �������3����� �%!��$ S3��& ���� ��� �����6�& !���

S ,��$���������� Rn35�� 2� ��

mJ(S) .=
∫
S

1

������ S ,��$������������� ��/���1�,

-��(��!��
���

+, D� S = Q ⊂ Rn ��� �2�%�& ���� 

mJ (Q) .=
∫
Q

1 = V (Q) ,

���� ��� Q �2�%� F� ���3�2 �2�� 2���� � �� �55�� ��K���%� �2 0�3

����,

', � F� ���3�2 !��:�2� 2� F� ���3�2 �2� 0���%��� ����%2%�����552 ��3

��� � �8/�����: �����%�������G

N mJ(S) .=
∫
S

1 .=
∫
Q

1S & �!�% Q ⊂ Rn �2�%� 2� S ⊂ Q, L�� S

�2 !��:�2�� ����% ��/�/�%���& !���∫
Q

1S =
∫

Q
1S ,

���� ��

1S : Rn → R, 1S(x) =

{
1 , x ∈ S

0 , x ∈ CS

01��/2�� IS �� ���� ������6� 01��/2���J �%�$ 2� 0�%�: �� 5�673

����� �%�� ����������& ��/�55� S F� ���3�2 �2�� �� � �8�8� 2 3

�2�,

N

∫
Q

1S
.= sup

P
{s(1S, P )} 2�

∫
Q

1S
.= inf

P
{S(1S, P )}

�!�% P � Q �2�%� ��� �����:%���� 0�%�������,

N O�������� 

s(1S, P ) =
∑
∗
V (Ti1...in) .= j(S, P ),

� � ���� ��
����#���
���� R
n#,
�

�%%��/�

S(1S, P ) =
∗∑
V (Ti1...in) .= J(S, P ),

�!�%

∑
∗ 2�

∑∗ �%��� i1 . . . in3�� � /�%$ 8������2�� ��%���& !���

∀ x ∈ Ti1...in =⇒ x ∈ S0 (5�%�: ���� S35��),

�%%��/�

Ti1...in ∩ (S ∪ BdS) �= 0

��%���1%,

L�� j(S, P ) 2� J(S, P ) �� S !�%����& ����� 0�%������ ����2� 5�3

%1% :%& �%%��/� �./1% :% �8��%.�: I������!�� "���%����$ 2� �8�8�

5�%�: ���� �2%�1%�J �2�%�� �2 0��������� 8�������,

���%/�� ����& !���G 0 ≤ j(S, P ) ≤ J(S, P ) ≤ m(Q) I� s 2� S

���0�%�%: �6%���������� �����J,

N � �� �55��� �����∫
Q

1S
.= sup

P
{s(1S , P )} .= sup{j(S, P )} .= m∗J(S),

�%%��/�∫
Q 1S

.= inf
P
{S(1S, P )} .= inf{J(S, P )} .= m∗

J(S)

�� ��%���1%& �!�% ��m∗J(S) 2�m∗
J(S) �������� �� S !�%���  ����

2� �	��� ,��$�������������� ������ ��/����,


�/�55� 0 ≤ m∗J(S) ≤ m∗
J(S) ≤ m(Q) 2� m∗J(S) 2� m∗

J(S)

2 �2�� ��� 01�� � Q �2�%� ���/�%��������$%,

N �������� �%����� E�� �� 0���%���!��6��& !��� ��� S ⊂ Rn

�� %���� !�%��� ���� 2� "��� ���� F� ���3�2 !��:& !�

m∗J(S) = m∗
J (S) .= mJ (S)

2� ��� �� mJ(S) ������ �� S !�%��� F� ���3�2 �2�2��� ��/��3

�1�,

4, D� Q0 � Q ⊂ Rn �2�%� 5�%����& ���� Q0 F� ���3�2 !��: 2�

mj(Q0) = mJ(Q)

��������	
� D� Q = [a1, b2] × · · · × [an, bn] 2� ∀ I�%2� ��"��J ε > 03 �

Qε = [a1 + ε, b1 − ε] × · · · × [an + ε, bn − ε] ,



!� 	��(��#����
�) �����
�� R
n#,
� � �

���� 

Qε ⊂ Q0 ⊂ Q

��%���1%& ��� � �� �55��� I�� +, ��������2�& � F� ���3�2 �2� ��K�."�$��&

�� ����� �% �6%����������J ����� ����& !���

n∏
i=1

(bi − ai − 2ε) = mJ(Qε) =
∫
Qε

1Qε ≤ ∫
Qε

1Qε ≤ ∫
Q0 1Q0 ≤

≤ ∫
Q0 1Q0 ≤ ∫

Q
1Q =

∫
Q

1Q = mJ (Q).

�55:% ����� ε→ 0 !��� ���������% �8�& !���

mJ (Q0) =
∫

Q0 1Q0 =
∫

Q0 1Q0 = mJ(Q)

���� 5�����.���� ��%%���, �

+� ����	� (� S ⊂ Rn ��	����� ������	� mJ(S) = 0 ����	 
� ���� ����	�

�� ∀ ε > 0�	� ∃ �
��� ��� S��� ����"! ��	� �
��� ����� ��	� ������� ����

@�	"����
	�
��� '������ ����$$� ���� ε�

0� ����	� (� S ⊂ Rn ��	����� ������ ����	 
� ���� ����	 @�	"���

�
	���!� �� mJ(BdS) = 0�

1� ����	�  ������� S, S1, S2 ⊂ Rn ��	����� ���������

�J �� S @�	"����
	���!� ����	 mJ(S) ≥ 0�

5J �� S1 
� S2 @�	"����
	���!� S1 ⊂ S2� ����	mJ (S1) ≤ mJ(S2)�

"J �� S1 
� S2 @�	"����
	���!� ����	 S1 ∪ S2 
� S1 ∩ S2 �� ���

����$$�

mJ(S1 ∪ S2) = mJ(S1) +mJ (S2) −mJ(S1 ∩ S2)

���������

��������	
� � F� ���3�2 �2� ��K�."�$�� 2� �� ����� �% �%:�: 0������5�%�

5J& �J& �J �6%��������� ���� �� �%%.����, �

7����������!� �� S1 
� S2 @�	"����
	���!� �'�'� $���! 
��� �
�����

�������� Rn�$��� ����	 mJ (S1 ∩ S2) = 0� ���
mJ (S1 ∪ S2) = mJ (S1) +mJ(S2) ,

� % ���� ��
����#���
���� R
n#,
�

����$!� ������ ��"*���#��� � ,��$��������� ��
�� �$$���������� ����

mJ

(
k⋃

i=1

Si

)
=

k∑
i=1

mJ (Si)

�� �'��������� �� Si�� (i = 1, . . . , k) 
�	���
�� �'�'� $���! 
��� �
�����

���������

-��(��!��
���

+, ������.�!��$& !��� � ,��$��������� ����������� I�������J ������

�����& ���� ��� S F� ���3�2 !��: !�%��� S∗ �%��%��� � ����& !���

%2����� mJ (S∗) = mJ(S),

', � F� ���3�2 �2� ��!�� ��� ��������./& /2����� �����./& ��������3

/� ���� �2 �2�& ��%��2% �� ����2���"�� �2 �2�� ���,

��� f : [a, b] → R ��������./& �������3����� �%!��$ 01��/2�� �������3

����� �%����� ������ ��� I�2 �2��%�2%���J �� ��%�� � �6��� � �8/�����:G

4� ����	� �� f : [a, b] → R ����������� )������������	�����# �����
���

����	 ��
S
.= {(x, y) | x ∈ [a, b], y ∈ [0, f(x)]} ⊂ R2

������ @�	"����
	���! 
�

mJ (S) =

b∫
a

f(x)dx
�� )������������	�� ����"�� � �'	$� ������ ������ @�	"����
	�
�
���

7����������!���

+, � �2��% 0�%�2��%�� ��%%��� �� f � �0��& � Gr f !�%��� F� ���3�2 !��:

2� F� ���3�2 �2�� (,

', D� f : [a, b] → R 0�%������ 01��/2�� [a, b]3�& ���� Gr f F� ���3

�2 !��: 2� mJ Gr f = 0,

0� ��,�
&��� #����� K ⊂ Rn−1 ������� 2� �2 !��: !�%���&

Φ,Ψ : K → R 0�%������ 01��/2����& !��� Φ(x) ≤ Ψ(x) (x ∈ K), ��

S = {(x, y) | x ∈ K, Φ(x) ≤ y ≤ Ψ(x)}

!�%���� �

����# ��������
��� ��/���1� Rn35��,



"� ���
���������
�����-�$ � �

������.�!��$ � �8/�����:G

5� ����	� (� S ⊂ Rn ������	, ��	������ ���
��� 
� @�	"����
	���!

Rn�$���

6� ����	 2� E����� ����	 ��!
���� ��������!��3�  ����� S ������	,

��	������� f : S → R ��������� �����
��� ����	 f �����	�����# S��� 
�

I@J

∫
S

f =
∫

x∈K

⎡
⎢⎣

y=Ψ(x)∫
y=Φ(x)

f(x, y)

⎤
⎥⎦ .

*�	��� C���.��� �� �

∫∫
S

(x2 + y)dxdy ����� �%�& !�

S =
{
(x, y)

∣∣ 0 ≤ x ≤ 1, x2 ≤ y ≤ √
x
}
.

K = [0, 1] ⊂ R ������� !�%��� Φ(x) = x2, Ψ(x) =
√
x (x ∈ [0, 1])

0�%������ 01��/2����& !��� Φ(x) ≤ Ψ(x) (x ∈ [0, 1]) �� ��%���1%& .�� �

', ��K�."�$ ��� ��� S ������ ; �� ������ R235��,

f(x, y) = x2 + y ((x, y) ∈ S) 0�%������ 01��/2��& .�� �2��%1�� ��� ��� f

����� �%!��$ S3�� 2� I�%��%���/� � ��?���3#��5��� 0� �6%�� ��J

∫∫
S

(x2 + y)dxdy =

1∫
0

⎡
⎢⎣

√
x∫

x2

(x2 + y)dy

⎤
⎥⎦ dx =

1∫
0

[
x2y +

y2

2

]y=
√

x

y=x2

dx =

=

1∫
0

(
x

5
2 +

x

2
− 3

2
x4

)
dx =

[
x

7
2

7
2

+
x2

4
− 3

2
x5

5

]1

0

=
33
140

.

%� 8�������������
����4��

�� ���/�%���$� 01��/2���� �������3����� �%����% ���� � � !�%�����3

�.�2��� ����� �%�� �2��%�& ��%� � �8/�����: �$��� �� 0���%���!��$G

#����� g : [a, b] → [c, d] 0�%�������� ��A� ��"��%!��$ 01��/2��& !���

c = g(a), d = g(b), f : [c, d] → R 0�%������ 01��/2��& ���� 

I+J

b∫
a

f(g(t))g′(t)dt =

g(b)∫
g(a)

f(x)dx.

�!� ���� ��
����#���
���� R
n#,
�

D� g ����� E�� ������� [a, b]3� I���� � 0�������� �E% �� �� ��%���1%&

!��� g′(x) �= 0, x ∈ [a, b]J& E�� a = g−1(c) 2� b = g−1(d) I!� g �8/��/:J&

/��� a = g−1(d) 2� b = g−1(c) I!� g "�8����:J ��%���1%, L�� I+J �

d∫
c

f(x)dx =
g−1(d)∫
g−1(c)

f(g(t))g′(t)dt ,

/���

d∫
c

f(x)dx = −
g−1(d)∫
g−1(c)

f(g(t))g′(t)dt ,

�%%��/� ���1������ �

d∫
c

f(x)dx =
b∫
a

f(g(t))|g′(t)|dt

�%��5� . !��$ I2� ���� g %�!�� �8/��/: /��� "�8����: ��J,

A�	/ � �2��% �%��%����.����& ����� f n3/�%���$� /�%$� 2 �2�; 01��/2��&

g ����� Rn → Rn �.�6�E � ����0� ��"�$& �%2� �$ �6%������������%,


2 �2���G

�J ��%��� g 01��/2��� ��%% !�%������.���� �
M

 2��M /�%���$ !�%�2 �& ����

��%��� g � ����0� ��"�$/�% /�����1�� 5� E� /�%���$���&

5J �� ���� /�%%6��� !�%���� ��%���  2��!�%������ ������!���1� Rn3���&

"J � /2�1%& !��� f(g(x))3��& |g′(x)| !�%����& ��/�% ��%% ��� ����H

� �� �55�����% �����% ��!���55 2� !�������%����55 �� �%:55�
M

�./�3

��%������M ���0�%�%: �8/�����: �%��%����.��� 5�����.����,

����	 2�������	����
������&��3�

 ����� G ⊂ Rn ����� ������� g : G → Rn ����������� "�-�	���������#�

���� det g′(x) �= 0 (x ∈ G) ����� 	��*��	��� 
� �'���'�'��� ���
	����,

���

��
�� �� E ⊂ G '��������!� �
	���! 
� ���
��� ������� ���

f : g(E) → R )������������	�����# �����
��� ����	 �� (f ◦ g)| det g′|

�����
�� )������������	�����# �� E �������� 
�

I�N
J

∫
E

(f ◦ g)| det g′| =
∫

g(E)

f .



"� ���
���������
�����-�$ �!�

-��(��!��
���

+, I�N
J . !��$ �

I�N
∗J

∫
g(E)

f(x)dx =
∫
E

f(g(t))| det g′(t)|dt

I�!�% x = (x1, . . . , xn), t = (t1, . . . , tn)J& /��� A = g(E) ��%%���

I�!�% �� �%:�: �� �� �06� *, �2��%� 2� ����� �8/������2��� �����

A = g(E) �2 !��:& ������� 2� 8����01��: ��J

I�N
∗∗J

∫
A

f(x)dx =
∫

g−1(A)

f(g(t))| det g′(t)|dt

�%��5� ��,

', � �2��% ���� �� ����& !� "��� f �������3����� �%!��$����� �����1�

0�%, �%%��/� � ��%%��� "��� E ������������ 2� �2 !��:�2�2� �8/���%�1�

���,

4, ���� �� ����� �%� ����0� ��"�$ �2��%2��� �8/�����: �%���� ��G

#����� G ⊂ Rn ��.%� !�%���& g : G → Rn 0�%�������� ��A� ��3

"��%!��$ G3�& E �%��� F� ���3�2 !��: !�%���& !��� E ⊂ Ē ⊂ G

2� g|E0 ������./, D� f : g(E) → R �������3����� �%!��$& ���� 

∃ ∫
E

(f ◦ g)| det g′| 2� I�N
J ��%���1%,

9, D� f = 1 I2� g3 � �� � �����& /��� � �$���.���� 0�%�2��%�� ��%���1%���J&

���� 

mJg(E) =
∫
E

| det g′| .

), O�$55��� ����� � F� ���3�2 �2� � ����%�"�$ I�%%��/� ������J ��/�3

 ���"�����,

<, � �2��% ����& !��� !� g : Rn → Rn %���� �� %��2���2�& det g′ �= 0 2�

E ⊂ Rn ������� 2� �2 !��: !�%���& ���� g(E) �����2� �������

2� �2 !��:& ��/�55�

mJg(E) = | det g′|mJE .

=, �� ����� �%� ����0� ��"�$ I�!��� /�%$�5�� ��J �� ����� ����� �% �����3

�.������� ��� ����8�� I�$���� �J& ��%����  2/2� ����%��
M

��55M 01��3

/2��� ��%% ����� �%��
M

�%��%����55M g−1(A) = E �� ��������,

�! ���� ��
����#���
���� R
n#,
�

Y%��%���� E��6����� ���"� �  �& !��� ���� ��%��� !�%������.3

�2�� ��%% �%��%�����& �� I�� ���/�%���$� ����!�� !����%$��J �6�6��

M
��������M ����,

*�	����

+, #����� A = g(E) = {(x, y |x, y > 0, x2 + y2 < a2)}, C���.��6� �� �∫∫
A

x2y2dxdy ����� �%�,

������	
� B�%����6� g3� �
g(r, ϕ) = (r cosϕ, r sinϕ)

��%� 3� ����0� ��"�$���,

det g′ =
∣∣∣∣cosϕ −r sinϕ
sinϕ r cosϕ

∣∣∣∣ = r


�/�55� g �� E = {(r, ϕ) | 0 < r < a, 0 < ϕ < π
2 } ��.%� �2�%�%����

�2���� �� A !�%���5� �8%"�8�8��� ���2 ��%�; �$��� 2� det g′ = r >
0 �� ��%���1% E3�,

g(E)

ϕ

x

a

a

g

E

ϕ

x

π
2

a

L�� I� @65���3�2��%� �� 0�%!�����%/�J∫∫
A

x2y2dxdy =
∫∫
E

(r cosϕ)2(r sinϕ)2 · r drdϕ =

=
∫∫

[0,a]×[0,π
2 ]

r3(cosϕ · sinϕ)2drdϕ =
π
2∫
0

[
a∫
0

r3 sin2 2ϕ
4 dr

]
dϕ .

�� 6�$55� ����� �%�� ����� �� ��� �E% ��!2�, ��� ��� �8 "��� �%��E

�� ������ !�%���� ��� �2�%�%���� ��%% ����� �%�� 2� � 01��/2�� ���

5����%$���� �% �6%�������,



"� ���
���������
�����-�$ �!!

', C���.��6� �� �

∫∫
A

sin
√
x2 + y2dxdy ����� �%�& !�

A = g(E) = {(x, y) |π2 ≤ x2 + y2 ≤ 4π2} .

������	
� �%��%����6� ���� �� � g(r, ϕ) = (r sinϕ, r sinϕ) ��%� 3

� ����0� ��"�$�, �� ���� ��

E = {(r, ϕ) |π ≤ r ≤ 2π, 0 ≤ ϕ ≤ 2π}

�� � �2�%�%���� �2���� �� A !�%���5�& det g′ = r > 0 2�
M

�������M

�8%"�8�8��� ���2 ��%�; �$��� I!�% �
M

5��MHJ& �� ���� �� ����& !���∫∫
S

sin
√
x2 + y2dxdy =

∫∫
E

(sin r) · r drdϕ =

=
∫∫

[π,2π]×[0,2π]

r sin r drdϕ =
2π∫
0

(
2π∫
π

r sin r dr
)
dϕ

2� �� 6�$55� ����� �%
M

�$���� ����M ����.�!��$,

���� ��� �8 ��; ; �%��E �� ������ !�%���� �8�� �� ������ ;55 �2�3

%�%�� 2� � 01��/2�� �� ���/��:55 %��� ����6�� �,

-��(��!��
/ D� �� � ����� �� ������ �8 ��; ;"���& ���� �����%3

!��6�� � ��%� 3� ����0� ��"�$ �,

4, C���.��� �� ��

xy = a2 , xy = 2a2 , y = x , y = 2x (x, y > 0)

�8 52���% !��� �%� �� ������ F� ���3�2 �2�2�,

������	
� �� ����� S �� ������ ����G

S

y

x

� ���6%��� ��� ��� mJ(S) =
∫∫
S

1dydy& !� ��

∫
S

1 %2�����, � !��� �%$

�8 52� �����%���� ���
M

�6��%%���Q& !��� �%��� g � ����0� ��"�$ ��%%&

�!" ���� ��
����#���
���� R
n#,
�

��%���� ��/� �2� ��

I∗J t = xy , s =
y

x
(x, y > 0)

��� ��� g−1(x, y) = (xy, y
x) (x, y > 0) ����, g3� � (∗) �����%�� ������ 

���2 ��%�;

x =

√
t

s
, y =

√
ts (t, s > 0)

����%���� ����� ����� �
g(t, s) =

(√
t

s
,
√
ts

)
(t, s > 0)

� ����0� ��"�$ ����,


8����� �%%��: .�!��:& !��� �� ��

E = {(t, s) | a2 ≤ t ≤ 2a2, 1 ≤ s ≤ 2}

�2�%�%���� �2���� S3 � �8%"�8�8��� ���2 ��%�; �$��� 2�

det g′(t, s) =

∣∣∣∣∣∣∣∣
1

2
√
ts

−
√
t

2
√
s3

1
2

√
s

t

1
2

√
t

s

∣∣∣∣∣∣∣∣
=

1
2s

> 0
��%���1% E3�, L��

mJ(S) =
∫∫
S

1 dxdy =
∫∫
E

1 · 1
2s
dtds =

2a2∫
a2

(
2∫
1

1
2sds

)
dt =

2a2∫
a2

ln
√

2 dt = a2 ln
√

2 .

9, #����� S = {(x, y, z) |x, y > 0, x2 + y2 + z2 < a2}, C���.��6� �� �∫∫∫
S

x2z dxdydz

����� �%�,

������	
� �%��%����6� �

g(r, ϕ, ϑ) .= (r sinϕ cosϑ, r sinϕ sinϑ, r cosϕ)



"� ���
���������
�����-�$ �!�

�2 5�%� ��%� � ����0� ��"�$�, ���� det g′ = r2 sinϕ > 0 I�!��� ���

�� �����%�6�J,

g I�!��� �� �8����� 5�%��!��$J ��

E = {(r, ϕ, ϑ) | 0 < r < a, 0 < ϕ < π, 0 < ϑ < π/2}

!�%���� �8%"�8�8��� ���2 ��%�; �$��� �2���� %� S3 �,

E = g(S)

z

x

y

g

S

ϑ

ϕ

π
2

r

π
a

L��∫∫∫
S

x2z dxdydz =
∫∫∫

E

(r sinϕ cosϑ)2(r cosϕ)2r2 sinϕdrdϕdϑ =

=
∫∫∫

(0,a)×(0,π)×(0,π
2 )

r6 sin3 ϕ cos2 ϕ cos2 ϑ drdϕdϑ ,

��� � @65���3�2��%%�% ����.�!��$,



����� �������

'�%	�	�&���	
�	��	�	�

9�	����
�

#����� ����� �� ��������� ����$ ���� v ��5���2�01��/2���& ��%�

0�%������, � t0 ��:��%%����5�� �� �$������� � ���� �� S0 !�%���, D���3

 ���6� ��� � ���� S E�01��/2��2�R

������	
� � ��5���2� ��K�."�$��5$% �8/������� ��

(1) S′(t) = v(t) (t ∈ R)

�����%��& �!�% S �� ���� ��%��& v �� ���� � 01��/2��,

�� �����%��5�� S′ ��� ���% I�� ��!2��2��� ��%���J& �� I+J ��� �6�����&

!��� S � ����./ 01��/2��� v3��� I�� /������ �$J& .��

(∗) S(t) =

t∫
t0

v(τ)dτ + C

��%���1%, O�������� � 0�%���� ��� ��� S(t0) = S0 �� ��%���1%& .�� � � �53

%2�� ��

(2) S′(t) = v(t) (t ∈ R), S(t0) = S0

�%��5�� 0���%���!��$ ���& ���� I+J3�� �� S(t0) = S0 0�%�2��% ��%%��� ��%%

����%����& ��� I∗J ����� ����& !��� C = S0& .�� ��
S(t) = S0 +

t∫
t0

v(τ)dτ (t ∈ R)

��� ��� ����� � 0�%���� ����%����,
�!�

�!% ����� (���
�
�-���
��
��
�
�

������ ����� ���%����� ��� v0 = 100 m/sec ����:��5���2���% 01��:%���3

��� 0�%0�%2 %:��  ��2��H

������	
� @�����5$% ���� ����& !��� �  ��2�� v ��5���2�01��/2��� 2�

�� �/�%��� ���%2�.�� �

(3) v′(t) = −g − k v2(t)

�����%����, ����� � ����%����� ��%% �� ���� � v(0) = 100 0�%�2��% ��%%���

2� ��� ��%% !��� ���� ��� � T ��:��%%������& ����� v(T ) = 0,

� 0�%���� ��!��

(4) v′(t) = −g − k v2(t), v(0) = 100, v(T ) = 0

����%����, #��!��$& !��� ��� � �� ����� v 01��/2�� 2� � v′ �� �/�%�01��3

/2��� �� ��� ���%, � ����%��� ���� ��� ������
M

%������M,

�� I+J 2� I4J& �%%��/� I'J 2� I9J �%��%����.���� �%/���� � ��A� ��"��%�����3

%��& �%%��/� ��6"!�30�%���� 0���%��!��,

�� � &�7����4����������� 
������

F�%8%�8� y � ��/�55���5�� ��� �� ����� 01��/2���& y(x) ����� �

!�%������.�2�� 2 �2�2� x35��, #����� f : D ⊂ R2 → R �����& ���� 

�

(1.1) y′ = f(x, y)
(

�%%��/� y′(x) = f(x, y(x))
)

�����%�� �������$# �������
�� �!������ $�*���������

�������� ���3

��� ��/����,

Y%��%�����55��G

+� ��,�
&��� #����� D ⊂ Rn+1, f : D → R 0�%������ 01��/2�� I�!�%

D �%��%�5�� ��� ��.%� !�%��� /��� �� ������J, ��

(1.2) y(n) = f
(
x, y, y′, . . . , y(n−1)

)

�����%���� n��$���$# �������
�� �!������ $�*���������

��������

��/���1�& ����� ���"��%�� ����� n = 13 � � I+,+J �%�: ���; �8�8��2���

�7�%�"�� ��A� ��"��%�����%��,



�� � (���
�
�-���
��
��
� ������� �!�

�� y : I → R I�!�% I ⊂ R ���� /�%%6�& ��%� %�!�� ��.%�& �� �& 02%�� ��.%�&

��� 02%������� /��� � ����������� ��J 01��/2�� ��
��$��� I+,'J3���

I3�& !�
+J y n3��� ��A� ��"��%!��$&

'J

(
x, y(x), . . . , y(n−1)(x)

) ∈ D, ∀ x ∈ I&

4J y(n)(x) = f
(
x, y(x), . . . , y(n−1)(x)

)
, ∀ x ∈ I ��%���1%,


�/�55� �%��%����.���G

0� ��,�
&��� #����� F : D ⊂ Rn+2 → R ����� 0�%������ 01��/2��, �

(1.3) F
(
x, y, y′, . . . , y(n)

)
= 0

�����%���� �������
�� n��$���$# $�*���������

�������� ��/���1�,

�� y : I → R 01��/2�� ��
��$��� � I+,4J ��A� ��"��%�����%����� �� I

���� /�%%6���& !�

+J y n3��� ��A� ��"��%!��$&

'J

(
x, y(x), . . . , y(n)(x)

) ∈ D, ∀ x ∈ I&

4J F
(
x, y(x), . . . , y(n)(x)

)
= 0 ∀ x ∈ I

��%���1%,

-��(��!��
� D� I+,'J& �%%��/� I+,4J35�� f & �%%��/� F �� y, y′, . . . , y(n−1)&

�%%��/� y, y′, . . . , y(n) /�%���$���� %���� �� 01��/2���& ���� � I+,'J& �%%��/�

I+,4J �������� $�*���������

�����& ���25�2�� �����������,

*�	����

+, �� y′ = 2xy2 − 5 ��A� ��"��%�����%��& ��%��2% f : R2 → R,
f(x, y) = 2xy2 − 5& ��� �%�: ���; �8�8��2��� �7�%�"�� ��A� ��"��%3

�����%��, f ��� %���� �� 01��/2��� y3���& .�� �� �����%�� ���%����3

 ��,

', �� y′′ + 3y′ − 4y − sin(x) = 0 ��A� ��"��%�����%��& �!�% F : R4 → R,
F (x, y, y′, y′′) = y′′ + 3y′ − 4y− sin(x)& ����� ���; �8�8��2��� ���3

%�"�� ��A� ��"��%�����%��, @ %���� �� 01��/2��� y, y′, y′′3���& .�� ��

�����%�� %���� ��,

4, �� y′ = − y
x �%�: ���; �8�8��2��� �7�%�"�� ��A� ��"��%�����%��&

f(x, y) = − y
x , f : D ⊂ R2 → R& �!�% D = {(x, y) ∈ R2 |x �= 0} ��.%�

!�%��� I�� x = 0 ��������:% ���0������� �.�J,

�� y : ]0,+∞[→ R, y = c1
x 01��/2�� 5� ��%� c1 ∈ R3 � � ]0,+∞[ 3

��& �.� �� y : ] −∞, 0[→ R, y = c2
x 01��/2�� 5� ��%� c2 ∈ R3 � �

�"� ����� (���
�
�-���
��
��
�
�

] −∞, 0[ ���� /�%%6��� ����%���� � ��A� ��"��%�����%�����,

�� ��� �%��� �8 5��� ��& ��%���� ����� �8 52�� ��� ������ �� y3

�����%��,


2�:55 5�%���6�& !��� .�� �� 8����� ����%���� ������6�,

1� ��,�
&��� #����� D ⊂ Rn+1& f = (f1, . . . , fn) : D → Rn 0�%������

01��/2��, �

(1.4) y′ = (y′1, . . . , y
′
n) = f(x, y) = f(x, y1, . . . , yn)

�����%�� ������ �& ���%� ��
(1.4′) y′i = fi(x, y1, . . . , yn) (i = 1, . . . , n)

�%��5� �� . !��$& �������$# �������
�� In ���� ��%�� 01��/2��� �� ��%3

���$J �!������ $�*���������

���������$������� ��/���1�,

�� y = (y1, . . . , yn) : I → Rn 01��/2�� I01��/2�� ������ J � I+,9J I�%%��/�

I1.4′JJ $�*���������

���������$���� ��
��$��� I3�& !�

+J y I�%%��/� �� yi3�J ��A� ��"��%!��$I�J&

'J

(
x, y(x)

)
=
(
x, y1(x), . . . , yn(x)

) ∈ D ∀ x ∈ I&

4J y′(x) = f(x, y(x)) I�%%��/� y′i(x) = fi

(
x, y1(x), . . . , yn(x)

)
i = 1, . . . , nJ ∀ x ∈ I

��%���1%,
�� ?��&��� 
��
# -�� �
�� 	��� =�!4���
���&��

+� ��,�
&��� #����� D ⊂ Rn+1& f : D → R 0�%������ 01��/2��&

(x0, y01, . . . , y0n) ∈ D  8��.����, �

(2.1)
y(n) = f(x, y, y′, . . . , y(n−1)), y(i)(x0) = y0i+1 (i = 0, . . . , n− 1)

� �5%2��� ��� n��$���$# �!������ �������
�� $�*���������

���

����� ��������� ���$��� ����� ��� ������� /���&����
�����$�����

��/���1� I�� n = 13 � y′ = f(x, y), y(x0) = y0 �%��EJ,

�� y(i)(x0) = y0i+1 (i = 0, . . . , n − 1) ���8�2����� ������� 0�%�2��%�����

��/���1�,

�� y : I → R 01��/2�� ����%���� I',+J In����J3���& !�

+J y n3��� ��A� ��"��%!��$&

'J

(
x, y(x), . . . , y(n−1)(x)

) ∈ D ∀ x ∈ I&



 � �

(
�� ����� ���,���� ���� -�&-��#�
��(�� �"�

4J y(n)(x) = f
(
x, y(x), . . . , y(n−1)(x)

) ∀ x ∈ I&

9J y(i)(x0) = y0i+1 (i = 0, . . . , n− 1)

��%���1%,

-��(��!��
� D����%$ � !�%���� � ��� �7�%�"�� ����5�� ��&

F : D ⊂ Rn+2 → R 01��/2����%,

*�	��� �� y′ = − y
x , y(1) = 1 ��� �%�: ���; �8�8��2��� �7�%�"�� ��A�3

 ��"��%�����%�� � /�������$ ��6"!�30�%���� I������� 2 �2� � �5%2��J,

�� y′ = − y
x ��A� ��"��%�����%����� �� y(x) = c

x (x > 0) 01��/2�� ���3

�%����& ��%� � y(1) = 1& ��� ����& !��� c = 1 I!����� 1 = y(1) = c
1 = cJ,

y = 1
x (x > 0) /�%$5�� ����%���� � 0�%����6����� ]0,+∞[3��, 
2�:55

����6����6�& !��� ��� ����%��� ���"�, � ����%��� ��!�� �� �%:55�

4, 0�%���� ����%����� %�. $ �8 5��� �� ���� �8 52��& ��%� ��!�%�� ��

(1, 1) ∈ R2 ������,

0� ��,�
&��� #����� D ⊂ Rn+1& f = (f1, . . . , fn) : D → Rn 0�%������

01��/2��& (x0, y0) = (x0, y01, . . . , y0n) ∈ D ����� ����, �

(2.2) y′ = f(x, y), y(x0) = y0 (y = (y1, . . . , yn))

� �5%2��� ��� $�*���������

���������$������ ��������� ���$���

����� ��� ������� /��� &����
�����$����� ��/���1�,

�� y = (y1, . . . , yn) : I → Rn 01��/2�� ����%���� � I','J I�������J3

���& !�
+J y ��A� ��"��%!��$&

'J

(
x, y(x)

)
=
(
x, y1(x), . . . , yn(x)

) ∈ D ∀ x ∈ I&

4J y′(x) = f
(
x, y(x)

) ∀ x ∈ I&

9J y(x0) = y0

��%���1%,

����	 2������	� �	�3�  �����D ⊂ Rn+1� f : D → R ��������� �����
���

(x0, y01 . . . , y0n) = (x0, y0) ∈ D 	'��������

�" ����� (���
�
�-���
��
��
�
�

(� y : I → R �����
�� ����	 
� ���� ����	 �����"��� � �3�1� �n������

��� I��� �� ��

(
y, y′, . . . , y(n−1)

)

�����	�����
�� ������
�� n���� ������

"��� �

(∗)

⎧⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎩

y′1 = y2

���

y′n−1 = yn

y′n = f(x, y1, . . . , yn)

yi(x0) = y0i (i = 1, . . . , n)

������������� I���

-��(��!��
� �� ��/���%� �%/ %�!��:/2 �����& !��� In����J 0�%������ ���3

�%�!��$����� I�������J ����%�!��$���� � /�����1� /�����,

�� ,���� @��� �����&����

&�7����4��������������-!��#

�� (��$�����
�� ��)�������
�
���
�	��

'�,�
&��� #������� f : [a, b] → R, g : [c, d] → R (g �= 0) �����

0�%������ 01��/2����, ��

(�	) y′ = f(x)g(y)

��A� ��"��%�����%���� ������� ���� I��2�/�%����!��$ /�%���$�EJ $�*�����

�����

�������� ��/���1�,

+� ����	� (� y : [a, b] → [c, d] "�-�	���������# �����
�� ����	 
� ����

����	 �����"��� ��	������ ��

(�	
�)

⎛
⎝
⎛
⎝ y∫

y0

1
g(t)

dt

⎞
⎠ ◦ y

⎞
⎠ (x) =

x∫
x0

f(t)dt

(
x, x0 ∈ [a, b]; y, y0 ∈ [c, d]

)

���������



!� 
�
�� /��� �
���(���$ (���
�
�-���
��
��
�#�.�&��� �"!

��������	
� f 2� 1/g 0�%��������& .�� ��

F (x) .=

x∫
x0

f(t)dt+ C1

(
x, x0 ∈ [a, b]

)
,

G(y) .=

y∫
y0

1
g(t)

dt+ C2

(
y, y0 ∈ [c, d]

)

��� ��� ��K���%� F : [a, b] → R, G : [c, d] → R 01��/2���� � F ′ = f,
G′ = 1/g ��%���1%,

�J D� y ��%���.�� I�	
�J3�& ���� 

G
(
y(x)

)
= F (x) + C2 − C1

(
x ∈ [a, b]

)
,

��� y, F, G ��A� ��"��%!��$���� ����� ����& !���

G′(y(x)) · y′(x) = F ′(x)
(
x ∈ [a, b]

)
,

����

y′(x) = f(x)g
(
y(x)

) (
x ∈ [a, b]

)

��%���1%& ��!�� y ����%���� I�	J3���,

5J D� y ����%���� I�	J3���& ���� 

f(x) =
y′(x)
g
(
y(x)

) (x ∈ [a, b])

2� � !�%������.�2��� ����� �%�� �2��%� ����� ∀ x, x0 ∈ [a, b] ����2�

x∫
x0

f(t)dt =

x∫
x0

y′(t)
g
(
y(t)
)dt =

⎛
⎜⎝
⎛
⎜⎝

y∫
y0=y(x0)

1
g(t)

dt

⎞
⎟⎠ ◦ y

⎞
⎟⎠ (x)

�8/�������& ���� I�	
�J ��%���1%, �

-��(��!��
���

+, � �2��% ��� ��� y(x0) = y0 �� ��%���1%& .�� �� y′ = f(x)g(y), y(x0) = y0

������� 2 �2� � �5%2�� ����%����� ����6� ���,

', � �8/�����: 0� ��%�� �$���� � ���� �� !�����%���G

(�	) −→ dy

g(y)
= f(x)dx −→

∫
dy

g(y)
=
∫
f(x)dx (∗),

�"" ����� (���
�
�-���
��
��
�
�

���5:% ����6� I�	J ����%�����,

�� (x0, y0) ������ ��!�%��$ ����%���!�� E�� ��%% ���/�%������� ��

����� �"�$� ������������& !��� � I∗J �����%:�2� ��%���1%�8� x = x0,
y = y0 ��%%���, �� ��%���1%& !�

y∫
y0

dt

g(t)
=

x∫
x0

f(t)dt ,

��� ����& !��� y ��%���.�� I�	
�J3�,

4, B�����%!��$ �%��� ���� ��& ����� /�%���%��� y0 ∈ [c, d]3 � g(y0) = 0

I���� y(x) = y0 ���%/�� ����%���& �� %�!����� ��� ����%����� ��J,

9, I�	J ������!��: f : ]a, b[→ ]c, d[ �.�6�E 01��/2������% ��& �2��%1�� 2�

� ��������2����� ���� �� 2 /2������,

*�	����

+, �� y′ = 2xy ��A� ��"��%�����%�� ����� �5�%��& f(x) = 2x (x ∈ R),
g(y) = y (y ∈ R),

y = 0 ���%/�� ����%��� R3�� I!����� ���� y′ = 0 ����� ��%���1% ��

�����%�� ∀ x ∈ R ����2�J,

D� y �= 0& E�� �������1� �� y > 0 2� �� y < 0 ��������,

y > 0 ����2�& �2��%1�� ��� ��� y : R → R+ ���� 2� "��� ���� 

����%���� �����%��1�����& !�

y∫
y0

1
y
dy =

x∫
x0

2xdx (∀ x, x0 ∈ R; y, y0 ∈ R+),

����

ln
y

y0
= x2 − x2

0 ⇐⇒ y = y0 e
−x2

0 ex2
,

��� ���� �� (x0, y0) ∈ R × R+ ������ ��!�%��$ ����%����,

��/�% 5� ��%� c ∈ R+3!�� %2����� x0, y0& !��� c = y0 e
−x2

0& .�� ���3

�6�& !��� y = c ex2
(x ∈ R) ����%��� 5� ��%� c ∈ R+3 � R3��,

y < 0 ����2� � ����%��� y = y0 e
−x2

0x2 (x, x0 ∈ R; y, y0 ∈ R−)&

�%%��/� y = c ex2
(x ∈ R) �%��E c < 0 ��%%���,

L�� �� �����%�� ������ ����%���� y = c ex2

�%��E R3��,

', �� y′ = − y
x ��A� ��"��%�����%�� ����� �5�%�� f(x) = − 1

x (x �= 0)
g(y) = y (y ∈ R) ��%%���, y = 0 ���%/�� ����%��� R+3�� 2� R−3��,



!� 
�
�� /��� �
���(���$ (���
�
�-���
��
��
�#�.�&��� �"�


2��%1�� I�%%��/� � ', ��������2�J ����& !��� y ���� 2� "��� ���� 

����%���� � ��A� ��"��%�����%�����& !�∫
1
y
dy = −

∫
1
x
dx ⇐⇒ y =

c1
x

(x > 0), y =
c2
x

(x < 0),

�!�% c1, c2 ∈ R,

�� *�
	������ ����
�� ��)�������
�
���
�	��

0� ����	�  ����� f : [c, d] → R �"��� ��������� �����
��� y : [a, b] → R

������ ���� 0 /∈ [a, b] 
� �
����� y′ [a, b]�� 
� y(x)/x ∈ [c, d]�

y ����	 
� ���� ����	 �����"��� [a, b]�� �

(�
) y′ = f
( y
x

)

������� �� ����
�� $�*���������

��������� �� ��

u : [a, b] → R u(x) .=
y(x)
x

�����
�� �����"��� [a, b]�� ��

u′ =
f(u) − u

x

���
�	�$���� "�-�	������������������

��������	
� ���%/��/�%$, �

-��(��!��
� [a, b] 2� [c, d] !�%���� ��.%� ���� /�%%6����� �� ������!��1��,

*�	��� D��� ���6� ��� ��

y′ =
y3 − x3

xy2
, y(1) = 1

������� 2 �2� � �5%2�� ����%�����,

y3 − x3

xy2
=
y

x
−
(
x

y

)2

(x, y �= 0)

����� �� ��/�/�%��� ��

y′ =
y

x
−
(
x

y

)2

, y(1) = 1

�"� ����� (���
�
�-���
��
��
�
�

������� 2 �2� � �5%2��/�%& �!�% � ��A� ��"��%�����%�� ��55�%��%� y
x 01��3

/2���& .�� �� /�%���$5�� !����2�, �� y(1) = 1 ����� 0�%��!���1�&

!��� x, y > 0& ���� y : ]0,+∞[→ R �.�6�E ����%���� �� ��1�� 2�

]c, d[ = ]0,+∞[ ,


2��%1�� ��� ��� y ���� 2� "��� ���� ����%���� � ��A� ��"��%�����%��3

��� ]0,+∞[ 3��& !� �� u : ]0,+∞[→ R+, u(x) = y(x)
x 01��/2�� ����%3

���� ��

u′ = − 1
x

1
u2

����� �5�%�� ��A� ��"��%�����%����� ]0,+∞[3��,

y(1) = 1 2� u(x) = y(x)
x ����& !��� u(1) = 1,

�� �J  2�� ��� ��� u ���� 2� "��� ���� ����%���� ��

u′ = − 1
x

1
u2

, u(1) = 1

������� 2 �2� � �5%2�����& !�

u∫
1

u2 du = −
x∫

1

1
x
dx ,

����

u3 − 1
3

= − lnx ,
��!�� u = 3

√
1 − lnx3 2� ��2 � y = x 3

√
1 − lnx3& !� x ∈ ]0, 3

√
e[,

�� �� y′ = f

(
ax+ by + c

αx+ βy + γ

)

��)�������
�
���
�	

N D� c = γ = 0& ���� � ".�5�� ��� I�
J �.�6�E �����%�� ��� ���%&

�����6� f : R → R �.�6�E ����� 0�%������ 01��/2�� ����2�,

N D� ∣∣∣∣a b
α β

∣∣∣∣ = aβ − bα = 0,

���� !�

a

α
=
b

β
= λ& �%%��/� a = λα, b = λβ& ���� � ".�5�� ��� ��%:

�����%�� ������ ��

y′ = g(αx+ βy + γ)



!� 
�
�� /��� �
���(���$ (���
�
�-���
��
��
�#�.�&��� �"�

�%��5�& ��%��� ��

u(x) = αx+ βy(x) + γ

!�%������.�2���% ��

u′ = α+ βy′ = α+ βg(u)

�%��5� . !��6��& ��� ��� ���"��%�� I�	J �����%��,

N D� ∣∣∣∣a b
α β

∣∣∣∣ �= 0 ,

���� ��

ax+ by + c = 0
αx+ βy + γ = 0

%���� �� �����%�� ������ ��� �������� ��� ξ, η ����%���� /��,

���� 5�%��!��$ I���� ������ ;��J& !��� ��

y : H → R (ξ /∈ H, x ∈ H ⇒ αx+ βy + γ �= 0)

01��/2�� ���� 2� "����� ���� ����%���� H3� �� �%��%���� ��A� ��3

"��%�����%�����& !� �

ψ : H∗ → R, ψ(t) = y(t+ ξ) − η
(
H∗ = {t | t+ ξ ∈ H})

01��/2�� ����%���� ��

ψ′(x) = F

(
ψ(x)
x

)

��A� ��"��%�����%�����& �!�%

F (z) = f

(
a+ bz

α+ βz

)
.

�� +
� ����! 
������� ��)�������
�
���
�	��

'�,�
&��� #������� f, g : [a, b] → R ����� 0�%������ 01��/2����&

y : [a, b] → R ��A� ��"��%!��$ ���� ��%�� 01��/2��, �
(��
) y′ = f(x)y + g(x)

��A� ��"��%�����%���� �������$# �������� ������
��& �.� ��

(�
) y′ = f(x)y

�"% ����� (���
�
�-���
��
��
�
�

��A� ��"��%�����%���� �������$# �������� ����
�� $�*���������

���

������ ��/���1�,

1� ����	� (� y : [a, b] → R �����
�� ����	 
� ���� ����	 �����"���

���
������ �� ∃ c ∈ R� ����

(��

�) y(x) = cyH(x) + yP (x) (x ∈ [a, b]),

���� yH : [a, b] → R �� ��
� "�-�	�������������� ����� �� ��� �,�!�

yP : [a, b] → R 
�"�� ���
� ��� �������������� ��
��$���� .���$$��

�� x0 ∈ [a, b] 	'�������� ����	 ∀ x ∈ [a, b] ����
�

(
) yH(x) = exp

(
x∫

x0

f(t)dt

)
,

(�) yP (x) =

[
exp

(
x∫

x0

f(t)dt

)]
·

x∫
x0

g(τ) exp

(
−

τ∫
x0

f(t)dt

)
dτ .

-��(��!��
���

+, ]a, b[ �� /�%����!��$,

', y = c · yH(x) = c exp

(
x∫

x0

f(t) dt

)
(x, x0 ∈ [a, b])

���%/�� �� I�
J �%��%���� ����%����& ��%� ����� �5�%�� ��A� ��"��%3

�����%��,

4, I�J3� ��� 0����� �����������& ��� � ���������������� �%�55� ��$�

�����/�% ������ 0�%����5�� �������6�G


� ���1� yP 3� I!� �� I�
J ����%����� �� ���� �1�J ��

(∗) yP (x) = c(x) exp

⎡
⎣ x∫

x0

f(t) dt

⎤
⎦ (x, x0 ∈ [a, b])

�%��5��, ���� 

y′P (x) = c′(x) exp

⎡
⎣ x∫

x0

f(t) dt

⎤
⎦+ c(x)f(x) exp

⎡
⎣ x∫

x0

f(t) dt

⎤
⎦



!� 
�
�� /��� �
���(���$ (���
�
�-���
��
��
�#�.�&��� �"�

yP 2� y′P �%����� I��
J35� 5�!�%������.�/�&  �����2� 6��� ��� ����6�&

!��� � (∗) �%��E yP ����%���� I��
J3���& !�

c′(x) = g(x) exp

⎡
⎣−

x∫
x0

f(t) dt

⎤
⎦ (x, x0 ∈ [a, b])

����& !�

c(x) =

x∫
x0

g(τ) exp

⎡
⎣−

τ∫
x0

f(t) dτ

⎤
⎦ ,

��%��� (∗)35� 5�!�%������.�/� ����6� I�J3�,

9, D�����%!��6�� !��� ����%�� ����� �%� ��,

*�	��� �� y′ = −y sinx+sin3 x %���� �� ��A� ��"��%�����%���2% � !���3

�2� �����%��

y′ = −y sinx ,

��%���� �%��%���� ����%���� y = c ecos x (x ∈ R)& �!�% c ∈ R �����:%����

��������,


� ���1� yP 3� I�� ��!����2� �����%�� ��� ����%�����J ��

yP (x) = c(x) ecos x (x ∈ R)

�%��5��& ���� 

y′P (x) = c′(x) ecos x − c(x) sinx ecos x (x ∈ R)

��%��� �� � ����� �����%��5� !�%������.�/� I �����2� 6���J

c′(x) = sin3 x e− cos x ,

�%%��/�

c(x) =
∫

sin3 x e− cos xdx =
∫

sin2 x sinx e− cos xdx =

= sin2 x e− cos x − 2
∫

cosx sinx e− cos xdx =

= sin2 x e− cos x − 2
[
cosx e− cos x +

∫
sinx e− cos xdx

]
=

=
[
sin2 x− 2 cosx+ 2

]
e− cos x

��� ����� (���
�
�-���
��
��
�
�

�8/�������& ��%� ����& !���

yP (x) = sin2 x− 2 cosx+ 2 ,

��2 �

y = sin2(x) − 2 cos(x) + 2 + c ecosx (x ∈ R).

�� +
���	 ��)�������
�
���
�	��

'�,�
&��� #����� D ⊂ R2 �� ������& P,Q : D → R ����� 01��/2����,

��

(�) P (x, y) +Q(x, y)y′ = 0

�

������� �
������� ��/���1�& !� �� f = (P,Q) : D → R2 01��/2��3

��� %2����� � ����./ 01��/2���& ���� %2����� F : D → R ��A� ��"��%!��$

01��/2��& !���
F ′(x, y) = f(x, y),

����

D1F (x, y) = P (x, y) 2� D2F (x, y) = Q(x, y)

��%���1%,

-��(��!��
� I�J3� ������ ��

(�′) P (x, y)dx+Q(x, y)dy = 0
�%��5�� �� . ��,

4� ����	� (� ��� ������ "�-�	����������������� �� y : I → R "����	���

�������# �����
�� �����	� (x, y(x)) ∈ D� �� x ∈ I� ����	 
� ���� ����	

�����"��� I��� �� �
����� C ∈ R� ����

(�
�) F (x, y(x)) = C (x ∈ I),

���� F �� f = (P,Q) �����
�� 
	������ �����
����

��������	
�

�J #����� y I�
�J �%��E& ���� �� 8�������� 01��/2�� ��A� ��"��%���

���5�%�� ��� ���

D1F (x, y(x)) +D2F (x, y(x))y′(x) = 0 (x ∈ I)

�8/�������& ��� D1F = P 2� D2F = Q3/�% ����& !��� y ����%����

I�J3���,



!� 
�
�� /��� �
���(���$ (���
�
�-���
��
��
�#�.�&��� ���

5J D� y ��%���.�� I�J3� I3� 2� I�J ������& ���� 

0 = D1F (x, y(x)) +D2F (x, y(x))y′ =
d

dx
F (x, y(x)) (x ∈ I)

��%���1%& ��� ���� I�
�J3�, �

-��(��!��
���

+, D� f = (P,Q) : D → R2 �%���& !��� D E����/����� "��%%����� ;

�� ������& f 0�%�������� ��A� ��"��%!��$ I���� P 2� Q ��J& ��/�55�

D2P (x, y) = D1Q(x, y) ((x, y) ∈ D) I����2���� Py(x, y) = Qx(x, y)
((x, y) ∈ D)J& ���� %2����� f = (P,Q)3��� � ����./ 01��/2���, D�

(x0, y0) ��� "��%%���8�2����� 2� g : [a, b] → D �%��� ����������2��

���� �8 5�& ��%� �� (x0, y0)3� (x, y)3��% �8�� 8����& ���� �� � � ����./

01��/2�� ��

F (x, y) =
∫
g

f =

(x,y)∫
(x0,y0)

f

����� �%01��/2��,

', �� +, ��������2� 0�%�2��%��� �E% ��%���1%�8�& !��� g(t) .= (x(t), y(t))

0�%�������� ��A� ��"��%!��$ Ig(a) = (x0, y0), g(b) = (x, y)J& ���� �

�8 5������ ����� �% ������.���� � /�������$ ���� � �2��% �%�����& !�

∃ g−1& E��

F (x, y) =

g−1(x,y)∫
a

P (x(t), y(t))x′(t)dt+

g−1(x,y)∫
a

Q(x(t), y(t))y′(t)dt .

4, D� D �2�%�%�� /��� �8 %��& ���� 5� ��%�  8��.���� (x0, y0)35$% 5� 3

��%� (x, y) ∈ D �%2 !��: � �����%�����% �� !6����� �8 8��/���% ���3

�2�& �2%��6%G

(x, y)

(x0, y0)
D

(x, y)

(x0, y0)
D

�� ����� (���
�
�-���
��
��
�
�

� 0�%������ /���% �G

g(t) = g1(t) ∪ g2(t) = (x1(t), y1(t)) ∪ (x2(t), y2(t)) ,

�!�%{
x1(t) = t

y1(t) = y0
t ∈ [x0, x],

{
x2(t) = x

y2(t) = t
t ∈ [y0, y],

.��

F (x, y) =

x∫
x0

P (t, y0)dt+

y∫
y0

Q(x, t)dt .

� ���������� /���% � I!����%$��JG

F (x, y) =

x∫
x0

P (t, y)dt+

y∫
y0

Q(x0, t)dt .

9, F (x, y) 6�$55� �2� �%����5�� ������ �� �%�: ����� �%5�� t → x& �

�������5�� t→ y !�����%��� ��& .��

F (x, y) =
∫ x

x0

P (x, y0)dx+
∫ y

y0

Q(x, y)dy ,
�%%��/�

F (x, y) =
∫ x

x0

P (x, y)dx+
∫ y

y0

Q(x0, y)dy .

), �� I�J ������ �����%�� (x0, y0)3�� ��!�%��$ ����%����� C = 0 ��%%���

����6�,

<, �� y′ = f(x)g(y) (g �= 0) ����� �5�%�� �����%�� ������ ��A� ��"��%3

�����%��,

*�	��� �

(2x+ 3x2y)dx+ (x3 − 3y2)dy = 0

��A� ��"��%�����%���2% 5�%��!��$& !��� �

P (x, y) = 2x+ 3x2y , Q(x, y) = x3 − 3y2 ((x, y) ∈ D = R2)

01��/2���� 0�%�������� ��A� ��"��%!��$� � D = R × R I/2���%��J �2�%�3

%���� I�� "��%%����� ; �� ������J 2�

Py(x, y) = 3x2 = Qx(x, y) ((x, y) ∈ R2),



!� 
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�� /��� �
���(���$ (���
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�-���
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��
�#�.�&��� ��!

��2 � �� �%�: ��������2� ����� � ��A� ��"��%�����%�� ������ 2� � 9, ���3

�����2�� (x0, y0) = (0, 0) ∈ D = R2 ��%%��� �%��%���/�

F (x, y) =

x∫
x0

(2x+ 3x2y0)dx+

y∫
y0

(x3 − 3y2)dy =

=

x∫
0

2xdx+

y∫
0

(x3 − 3y2)dy = x2 + x3 − y3 ((x, y) ∈ R2)

� ����./ 01��/2��� (P,Q)3��� 2� .�� �2��%1�� ��� ��� �� y : I → R 01��3

/2�� ���� 2� "��� ���� ����%���� � ��A� ��"��%�����%�����& !� %2�����

C ∈ R& !���

x2 + x3y − y3 = C ((x, y) ∈ R2).

�� ��� �8 5��� ��& �%%��/� �����%��1�� ���%�"�� �$��� �� ��%����� ��

y : I → R ����%���01��/2����& ��� ����%����/�% Iy3 �J ���!��� ��3

!��$,

F � �8/�����: �$��� �� ���!��� ��!��$G

F � ����./ 01��/2��� �� f = (P,Q) : R2 → R2 01��/2�����& .��

Fx(x, y) = 2x+ 3x2y , Fy(x, y) = x3 − 3y2 ((x, y) ∈ R2).

D� �� �%�: �����%���� Iy3� �%%���$��� ������/�J x3��� ��� ����� �%�6� �83

/�������& !���

F (x, y) =
∫

(2x+ 3x2y)dx = x2 + x3y + c(y) .

��� �� F 3�� y3��� ��� �� "��%���� �� �/�%/� � ������� �����%�� ��� ���
Fy(x, y) = x3 + c′(y) = x3 − 3y2 ((x, y) ∈ R2)

�8/�������& ��� ����& !��� c′(y) = −3y2& �%%��/� c(y) = −y3 + c& .��

c = 03/�% ����6� F �� �55� �%�����,

�� ,�	�
��
� ������ ��������

'�,�
&��� D� y ��%���.�� I�J3� 2� ∃ μ : D → R (μ �= 0) 01��/2��& !��� �

(μP, μQ) 01��/2����� %2����� � ����./ 01��/2���& ���� �

(∗) μ(x, y)P (x, y)dx + μ(x, y)Q(x, y)dy = 0

��" ����� (���
�
�-���
��
��
�
�

��A� ��"��%�����%�� ������& ���� μ3� �� I�J �����%�� ����
���� ������3

����� I�6%� 3�6%���%����� ����J ��/���1�,

-��(��!��
���

+, D� %2����� ����� �%$ ��� �$& E�� II�J 2� I∗J ��/�/�%��"���� �����J I�J

����%���� /�����/����!��: � I∗J ������ ��A� ��"��%�����%�� ����%��3

�� �,

', ����� �%$ ��� �$� �� �%�55� �$��� �� ��!��1��G

D2μP = D1μQ ⇐⇒ Qμx − Pμy = (Py −Qx)μ ,

��%�5:% !� μ = μ(ω(x, y)) I�%, ω(x, y) = x /��� y /��� x+ y . . . J

Q
dμ

dω
ωx − P

dμ

dω
ωy = (Py −Qx)μ ,

�%%��/�

μ′(ω)
μ(ω)

=
Py −Qx

Qωx − Pωy

�8/�������& ��� ����& !���

μ(ω) = exp
∫

Py −Qx

Qωx − Pωy
(ω)dω ,

!� Py−Qx

Qωx−Pωy

�� ω 01��/2���,

D� �2%��6% ω(x, y) = x& E�� μ(x) = exp
∫ Py−Qx

Qωx−Pωy
(x)dx x3�:% 01��:

����� �%$ ��� �$& !� Py−Qx

Q "��� �� x /�%���$ 01��/2���,

*�	����

+, �� y dx+ 2xdy = 0 ��A� ��"��%�����%�� ��� ������,


������1� ��� � D = {(x, y) ∈ R2 |x > 0} �� ��������& ���� �

μ(x, y) = 1√
x

((x, y) ∈ D) 01��/2�� ����� �%$ ��� �$& �� � ��

y√
x
dx+ 2

√
x dy = 0

�����%�� ������D3�& 2� ������ ; �����%�� ����& !��� F (x, y) = 2y
√
x

(x > 0) � ����./ 01��/2���

(
y√
x
, 2
√
x
)

3���& .�� y ���� 2� "��� ���� 

����%���� �����%��1�����& !� %2����� c1 ∈ R& !���

2y
√
x = c1 ((x, y) ∈ D).
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� -�&-��#�
��(������ ���

��2 � �� y = c√
x

(x > 0) ���� � ����%���� �7�%�"�� 0� ��5��,

��%��!��$& !��� μ(x, y) = y ((x, y) ∈ D) �� ����� �%$ ��� �$& �� � ��

y2 dx+ 2xy dy = 0

�����%�� ������, �55:% N  8/�� �����%����% N �8�& !��� � � ����./

01��/2�� F (x, y) = xy2& .�� y ���� 2� "��� ���� ����%���& !�

%2����� c ∈ R (c ≥ 0)& !���

xy2 = c ((x, y) ∈ D),

���5:% 6����"��� ��$��� �� y = c√
x

(x > 0) ����%���,

', �

(2x2 + 2xy2 + 1)y dx+ (3y2 + x) dy = 0

��A� ��"��%�����%�� ��� ������ I�2%��6% � D = {(x, y) |x > 0} 02%�.3

��� ������/�J,

Py(x, y) = 6xy2 + 2x2 + 1 , Qx = 1 ,

.��

Py −Qx

Q
= 2x ,

.�� � ', ��������2� ��� ���

μ(x) = exp
∫

2xdx = ex2
(x > 0)

��� N x3�:% 01��: N ����� �%$ ��� �$ %���,

%� ,��������4����
����# =�!4���
���&���#��

�� +
����	����� �� �����	��� 	�	�
 &�����������

���� 0����� � I�������J � �5%2�� �8/�����: ��0���%������ I/�����3

/����2�� ����� �%�����%��3 ������  �JG

<����� (� y : I → Rn "�-�	���������# �����
�� ����	� 
� ���� ����	

�����"��� ��

(�������) y′ = f(x, y) , y(x0) = y0 (x, y) ∈ D ⊂ Rn+1

��� ����� (���
�
�-���
��
��
�
�


	�$�
������ �� ��������� �����"��� ��

(���) y(x) = y0 +

x∫
x0

f(t, y(t))dt

����
����

���������$�������� �?�� f : D → Rn ��������� �����
����

��������	
�

�J D� y : I → Rn ����%���� I�������J3���& ���� 

y′(x) = f(x, y(x)) (x ∈ I).

f 2� y 0�%���������� ����& !��� f(x, y(x)) 0�%������ I3�& .�� %2�����

��

x∫
x0

f(t, y(t))dt

����� �% 2�

y(x) = y0 +

x∫
x0

f(t, y(t))dt (x ∈ I),
�!�% y(x0) = y0& ���� ��%���1% I���J,

5J D� y : I → Rn 0�%������ ����%���� I���J3��� I3�& ���� f(x, y(x))

0�%���������� �����

x∫
x0

f(t, y(t))dt

��A� ��"��%!��$ 2� �� �/�%��� f(x, y(x))& ��� 2��� I���J ����& !���

y ��A� ��"��%!��$ 2� y′(x) = f(x, y(x)) (x ∈ I)& ��/�55� I���J ���3

 ��� y(x0) = x0 �� ����& �55:% ����� �8/�������& !��� y ����%����

I�������J3���, �

-��(��!��
� � %���� ����� I�������J ����%�!��$���� 2� � ����%���

���2 ��%�;�2�� I���������"�� 2� 6��"����J ����� ��%��� I���J ����%�!��$3

����/�% 2� � ����%��� ���2 ��%�;�2�2/�%,



"� 
�
��
�
�-��#���
�
� -�&-��#�
��(������ ���

����	 2*�&����<����	�� ����
����&�� �
 ���&���
 ����	3�

 ����� G ⊂ Rm ����� ������� I = [a, b] ⊂ R, D = I ×G, f : D → Rn

��������� �����
��� ���� �
����� L > 0� ����

‖f(x, y1) − f(x, y2)‖Rn < L‖y1 − y2‖Rm (∀ (x, y1), (x, y2) ∈ D),

���� f  �
��������*���"������ D���  ����� ����$$� x0 ∈ I 
� y0 ∈ G

	'�������� (���	 �
����� α > 0� ���� ��

(�������) y′ = f(x, y), y(x0) = y0

=�*��������"����� �� I1 = I ∩ [x0 − α, x0 + α] ����	����*��� �
�����

�����"��� 
� �� ���
	����,�

-��(��!��
���

+, � �2��% 0�%�2��%�� ��%%�� � I�������J ����%����� ��

y0(x)
.= y0, yk(x) .= y0 +

x∫
x0

f(t, yk−1(t))dt (k = 1, 2, . . . ;x ∈ I1)

��� ��� ��K���%� 〈yk〉 01��/2���� ���� !��� 01��/2��� ����,

�� �%�� ��� -����$����� ����������� �����!��������� ��/���1�,

', n = 1 ��%%��� �� �%�: ���; �7�%�"�� ��A� ��"��%�����%�� � /�������$

��6"!�30�%���� � /�������$ -�"� �302%� ���������"�� 2� 6��"���� �2��%�

����6�,

*�	����

+, �

(���) y′ = xy, y(0) = 1

��6"!�30�%������� ���0�%�%: ����� �%������%��G

(��) y(x) = 1 +

x∫
0

ty(t)dt

���� 

y0(x) = 1, y1(x) = 1 +

x∫
0

tdt = 1 +
x2

2
, . . .

yk(x) = 1 +
x2

2
+

1
2!

(
x2

2

)2

+ · · · + 1
k!

(
x2

2

)k

, . . . ,

��% ����� (���
�
�-���
��
��
�
�

2� yk(x) → exp(x2/2) �����%������& .�� I���J ����%����G

y(x) = exp
(
x2

2

)
(x ∈ R).

', #����� G = R, I =
[

1
2 ,

3
2

]
, D = I × R, f : D → R, f(x, y) = − y

x ,

f 0�%������ 2�

|f(x, y1) − f(x, y2)| =
∣∣∣∣y1 − y2

x

∣∣∣∣ ≤ 2|y1 − y2| (∀ (x, y1), (x, y2) ∈ D)

����� #���"!���3�6%��������E D3�, ��2 � � �2��% ����� %2����� α ∈
]0, 1[ & !��� ��

y′ = − y
x
, y(1) = 1

��6"!�30�%������� %2����� ����%���� 2� �� ���2 ��%�; ��

I = [1 − α, 1 + α] ∩ [ 12 , 3
2

]

���� /�%%6���,

� ����%��� ��� %�!�� ���& ���� � �� �55�� ������

y : I → R , y(x) =
1
x

01��/2��,

�� &���������� ��
�
���	���
�

#������� gij , ϕi : I → R (i, j = 1, . . . , n) ����� 0�%������ 01��/23

����& ���� 

y′i =
n∑

j=1

gij(x)yj + ϕi(x), yi(x0) = y0i (i = 1, . . . , n)

��� �������� $�*���������

���������$������ ��������� &����
�

����$��& ��%� ��

y =

⎛
⎜⎝
y1

,,,

yn

⎞
⎟⎠ , ϕ =

⎛
⎜⎝
ϕ1

,,,

ϕn

⎞
⎟⎠ , g = (gij)n×n

��%8%2���% ��

(���������) y′ = g(x)y + ϕ(x), y(x0) = y0



"� 
�
��
�
�-��#���
�
� -�&-��#�
��(������ ���

�%��5� �� . !��$,

�� ��/�/�%��� ��

(�����) y(x) = y0 +

x∫
x0

[
g(t) y(t) + ϕ(t)

]
dt

����� �%�����%��3 ������  �%,

#����� D = I × Rn& ���� ��

f : D ⊂ Rn+1 → Rn, f(x, y) .= g(x)y + ϕ(x)

0�%������ 01��/2�� � ∀ (x, y1), (x, y2) ∈ D ����2�∥∥f(x, y1) − f(x, y2)
∥∥ =

∥∥g(x)(y1 − y2)
∥∥ =

=

√√√√ n∑
i=1

[
n∑

j=1

gij(x)(y1
j − y2

j )

]2

≤ nK
∥∥y1 − y2

∥∥ = L
∥∥y1 − y2

∥∥

��%���1%& ���� #���"!���3�6%��������E& .�� �� I���������J ����%�!��$ 2�

� ����%��� ���2 ��%�; I1 ⊂ I3�,

�� &n����� ��
�
���	���
�

����	 2����
����&�� �
 ���&���
 ����	 2n����3���3�

 ����� G ⊂ Rn ����� ������� I = [a, b] ⊂ R, D = I × G, f : D → R

��������� �����
��� ���� �
����� L > 0� ����∣∣f(x, y1) − f(x, y2)
∣∣ < L

∥∥y1 − y2
∥∥ (∀(x, y1), (x, y2) ∈ D),

����  �
��������*���"������ D���  ����� ����$$� x0 ∈ I, y0 ∈ G1 	'��

�������

(���	 ∃ α > 0� ���� ��

(n����) y(n) = f(x, y, . . . , y(n−1)), y(i)(x0) = y0i+1

(i = 0, . . . , n − 1) =�*��������"����� �� I1 = I ∩ [x0 − α, x0 + α] ����	�

����*��� �
����� �����"��� 
� �� ���
	����,�

7����������! 22��n����3 ����	�"���
���3�

#������� a1, . . . , an, b : I → R 0�%������ 01��/2����& x0 ∈ I, y0 ∈ Rn

��� ����� (���
�
�-���
��
��
�
�

 8��.����, ���� ��

(��n����)

{
y(n) = a1(x)y(n−1) + · · · + an(x)y + b(x)

y(i)(x0) = y0i+1 (i = 0, . . . , n)

��6"!�30�%������� ��� 2� "��� ��� ����%���� /�� I3�,

�� +
����	�����	�	�
 &�����������

����	 2A��&"!�*���� ����
����&�� ����	3�  ����� D ⊂ Rn+1 ��	���

���� f : D → Rn ��������� �����
��� (x0, y0) ∈ D� (���	 ��

y′ = f(x, y), y(x0) = y0

=�*��������"����� �
����� �����"����

�A� ��� ����
������ ���
	����,� ���" 

�"�*� �� y′ =
√|y| "�-�	�������

��������	� ��������# =�*��������"������

(� B�����  ���&) �������� &�7����4������������#

�� �� n�������! 
������� ����
�� ��)�������
�
���
�	�� �
	�
����

�
��
�	�

+� ��,�
&��� #������� ai : I → R (i = 1, . . . , n) ����� 0�%������ 01��3

/2����, �

(
n�) y(n) +
n∑

i=1

ai(x)y(n−i) = 0

�����%���� n��$���$# �������� ����
�� $�*���������

�������� ��3

/���1�,
������ ; �����%����% 5�����.�!��$ � �8/�����: �2��%G

+� ����	� �� �� y1, . . . , yk : I → R �����
���� �����"���� �
n������

I��� ����	 ∀ c1, . . . , ck ∈ R ����
� ��

y =
k∑

i=1

ciyi

�����
�� �� �����"�� I���



�� ������,,�
�(' ���
���� (���
�
�-���
��
��
�
� ���

0� ��,�
&�� 2	������
 � ��B
�� �
 � ����	��
��3�

�� y1, . . . , yk : I → R 01��/2���� %���� ���� 01��:�� I3�& !� %2�����

c1, . . . , ck ∈ R (
k∑

i=1

c2i > 0) �������� ������ & !���

(∗)
k∑

i=1

ciyi(x) = 0 (∀x ∈ I).

y1, . . . , yk : I → R %���� ���� 01����%����& !� I∗J "��� E�� ��%���1%& !�

ci = 0 (i = 1, . . . , k),

1� ��,�
&��� �� y1, . . . , yn : I → R n− 13��� ��A� ��"��%!��$ 01��/23

���� .�������$�����������G

W = W (y1, . . . , yn) .=

∣∣∣∣∣∣∣∣∣

y1 y2 . . . yn

y′1 y′2 . . . y′n

,,,

y
(n−1)
1 y

(n−1)
2 . . . y

(n−1)
n

∣∣∣∣∣∣∣∣∣

0� ����	 2<�����		�������	�3� �� �� y1, . . . , yn : I → R �����
����

�����"���� �
n������ I�� 
� x0 ∈ I �"���� ����	

W (x) = W (y1(x), . . . , yn(x)) = W (x0) exp

⎡
⎣−

x∫
x0

a1(t)dt

⎤
⎦ .

7����������!� I
n�J ��� y1, . . . , yn ����%��� ������ 2���

Z �����3���� ������� /��� ≡ 0& /��� ��!�% ��� (,

4� ��,�
&�� 2�	�.����
���3� �� y1, . . . , yn : I → R 01��/2���� I
n�J

�%�� ������ 2� �%������& !� ����%����� ����� 2� %���� ���� 01����%����,

1� ����	� y1, . . . , yn : I → R ����	� 
� ���� ����	 ���
	��"���	� �
n���

���� �� $�	���� yi (i = 1, . . . , n) �����"�� I��� 
� W (x) �= 0�

4� ����	 22�n�3 �	��	���
 ����	��
�3�  ����� y1, . . . , yn : I → R

�
n�� ���
	��"���	� I��� ����	 �
n�� $�	���� y : I → R �����"���

y(x) =
n∑

i=1

ciyi(x) (x ∈ I)

������ ���� c1, . . . , cn ∈ R �����������

�� ����� (���
�
�-���
��
��
�
�

��������	
� D� y1, . . . , yn I
n�J �%�� ������ �& ���� W (x0) �= 0 ∀ x0 ∈
I, D� y : I → R ��� �����:%���� ����%���� I
n�J3���& ���� %�����

c1, . . . , cn �

(◦)
n∑

i=1

ciy
(j)
i (x0) = y(j)(x0) (j = 0, . . . , n− 1)

�����%�� ������ IW (x0) �= 0 ����� %2���:J ����%����& ���� �

ψ(x) .=
n∑

i=1

ciyi(x) (x ∈ I)

01��/2�� �%��� ����%���� I
n�J3��� I3�& ��%� � ��%���1%��� �

ψ(j)(x0) = y(j)(x0) (j = 0, . . . , n− 1)

������� 0�%�2��%�� I◦J �����,

L�� ψ 2� y 6�������� I
n�J3 � /�������$ In����J ����%�����& ��2 �

�����������& ����

y(x) = ψ(x) =
n∑

i=1

ciyi(x) (x ∈ I),

���� 5�����.���� ��%%���, �
-��(��!��
���

+, �� �%��%���� ����%���!�� .�� �%2� �� �%�� ������ � ���!��� ����,

', ��%��!��$& !��� �%�� ������ ������ %2�����,

4, �� �%�� ������ ���!��� ����� � ���"� �%��%���� �$���� ,

*�	��� 
������1� �

(2x+ 1)y′′ + 4xy′ − 4y = 0

����� ���; ��A� ��"��%�����%���� 2x + 1 �= 03 � 2� ���6� ��� �� �%3

��%���� ����%�����, �!!�� ���� �1�� ��%%��� �2� %���� ���� 01����%��

����%����& �� �%�� ������ �,

�� ���1��!��$��� %��/� �%���
M

2 �2�1��M /��& !��� /�%���%��� �%3

��5 �� ��%����& �%%��/� eax �%��E 01��/2�� %�!�� ����%��� I�%��� �%��E

����%���� �%��%�5�� �� �� ��!��1��J,

D� ��� ��"�2�� /�� �� y1(x) = x + b (x �= − 1
2 ) �%��E ����%��� ��

/�� �%��%��� b3/�%,



�� ������,,�
�(' ���
���� (���
�
�-���
��
��
�
� ��!

���� y′1(x) = 1, y′′1 (x) = 0 (x ∈ R), ������ �� �����%��5� !�%�����3

�.�/�

(2x+ 1) · 0 + 4x− 4(x+ b) = 0
(
x �= −1

2

)

��%%& !��� ��%���1%�8�& ��� −4b = 0& ���� b = 0 ����2� ����,

y1(x) = x (x �= − 1
2 ) ��!�� ����%���,

� ����� ����%���� �� ���1� y2(x) = eax (x �= − 1
2 ) �%��5��& ��%�5:%

y′2(x) = aeax, y′′2 (x) = a2eax �8/�������, ������ �� �����%��5� !�%�����3

�.�/�

a2(2x+ 1)eax + 4axeax − 4eax = 0
(
x �= −1

2

)

��%%& !��� ��%���1%�8�& ��� eax �= 0 ����� ��/�/�%��� ����%& !���

a2(2x+ 1) + 4ax− 4 = 0 ,

�%%��/�

2a(a+ 2)x+ a2 − 4 = 0 ,

(x �= − 1
2 ) ��� "��� ���� ����& !� 2a(a + 2) = 0 2� a2 − 4 = 0 ����& ��

����� a = −23 � ��%���1%,

y2(x) = e−2x
(
x �= 1

2

)

�� ����%���,

y1 2� y2 %���� ���� 01����%����& �� �

W (y1, y2) =
∣∣∣∣y1 y2
y′1 y′2

∣∣∣∣ =
∣∣∣∣x e−2x

1 −2e−2x

∣∣∣∣ = −(2x+ 1)e−2x �= 0 .

L�� �� �����%�� �%��%���� ����%����G

y = c1x+ c2e
−2x

(
x �= −1

2

)
.

5� ����	 2'F#	���������	� ����
���&
������B �	(���
3�

 ����� y1 : I → R (y1 �= 0) �����"��� ��

(
2�) y′′ + a1(x)y′ + a2(x)y = 0

"�-�	������������������ (� y : I → R �����
�� ����	� 
� ���� ����	

�����"��� �
2������� �� ��

u : I → R u
.=
(
y

y1

)′

��" ����� (���
�
�-���
��
��
�
�

�����
�� �����"��� ��

(
1�) u′ +
(
a1(x) + 2

y′1(x)
y1(x)

)
u = 0

"�-�	������������������ B�� �
2�� ��������� �����"���

y = cy1

∫
exp
[
−
∫ (

a1(x) + 2
y′1(x)
y1(x)

)
dx

]
dx =

= cy1

∫
1

y2
1(x)

exp
[
−
∫
a1(x)dx

]
dx .

-��(��!��
� �  ������� "�8�����2�2 � �2���%��� �� �%�55� I� #��6/�%%�3

0� �6%�� !�����%$ 2� !����%$ � ���2�� � /����:J �$���� ,

D� I
2�J y1 2� y2 %���� ���� 01����%�� ����%����� �8�1% y1 ���� �& E��

� #��/�%%�30� �6%� ���� y23 � I 8��.���� x03%�%J ��

y1y
′
2 − y′1y2 = W (x0) exp

⎡
⎣−

x∫
x0

a1(t) dt

⎤
⎦

�%�: ���; ��A� ��"��%�����%����& ��%��� %�������� ;55�� E�� �%�!��6��

���& !��� �����2� �%��%� �����6� y2
1 �= 03%�% 2� 2�� �/����1�& !��� �

5�%�%��%�� y2
y1

�� �/�%��� ��� ���%& ���� ��%���1%

(
y2
y1

)′
= W (x0)

1
y2
1

exp

⎡
⎣−

x∫
x0

a1(t) dt

⎤
⎦ .

�55:% ����6�& !���

y2(x) = W (x0) y1(x)
∫

1
y2
1(x)

exp

⎡
⎣−

x∫
x0

a1(t) dt

⎤
⎦ dx .
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� ���

�� -���	����
�.		��	�� 
������� ����
�� ��)�������
�
���
�	��

'�,�
&��� D� I
n�J35��

ai(x) = ai ∈ R (x ∈ I),

���� � ������

(�
n�) y(n) +
n∑

i=1

aiy
(n−i) = 0

�����%���� n��$���$# ���������

	������� �������� ����
�� $�*��

��������

�������� ��/���1�,

I�
n�J ���������������� ���������G

(��) P (λ) .= λn +
n∑

i=1

aiλ
n−i,

�.� ���������������� �

������G

(��) λn +
n∑

i=1

aiλ
n−i = 0.

����	� �� λ1, . . . , λk ∈ R p1, . . . , pk (∈ N)����	�� ����'�$'�!� ��'���

��
n�� ��	����	������*� ��������
���� ���� p1 + · · · + pk = n� ����	

(��)

⎧⎪⎨
⎪⎩
eλ1x, xeλ1x, . . . , xp1−1eλ1x

���

eλkx, xeλkx, . . . , xpk−1eλkx

���
	��"���	� ��
n�������

D� �2%��6% λ1 = α+ iβ, λ2 = α− iβ
(
i
.=
√−1

)

E����/����� ���3

�6��%� ����%�7 ��8��� I��J3���& !��� p1 = p2 = p3��� ����& ���� I��J

�%�: �2� �� � !�%����

eαx cosβx, xeαx cosβx, . . . , xp−1eαx cosβx
eαx sinβx, xeαx sinβx, . . . , xp−1eαx sinβx

��� ���%, ID����%$ � !�%���� � ��/�55� ����%�7 ��8�8� ����2� ��,J

��� ����� (���
�
�-���
��
��
�
�

7����������!� ��

(�
2�) y′′ + a1y
′ + a2y = 0

�� ���� ������6� �����%��� � �����0��E

(��2) λ2 + a1λ+ a2 = 0

�����%��& .�� !� ����� ��8���G

�J λ1, λ2 ∈ R, λ1 �= λ2& ���� I�
2�J �%��%���� ����%����

y = c1e
λ1x + c2e

λ2x;

5J λ1 = λ2 = λ0 ∈ R& ���� I�
2�J �%��%���� ����%����

y = c1e
λ0x + c2 x e

λ0x;

"J λ1 = α + iβ, λ2 = α − iβ (α, β ∈ R)& ���� I�
2�J �%��%����

����%����
y =

[
c1 cosβx+ c2 sinβx

]
eαx.

*�	��� �� y′′′ − y′ = 0 !� ��� ���; �����������1��!��$� %���� �� ��03

0� ��"��%�����%�� �� ���� ������6� �����%���

λ3 − λ = 0 ,

��%���� ����%�����

λ3 − λ = λ(λ2 − λ) = λ(λ − 1)(λ+ 1) = 0
����� λ1 = 0, λ2 = 1, λ3 = −1,


������1� ��

y1(x) = e0x = 1 , y2(x) = ex , y3(x) = e−x (x ∈ R)

01��/2������, ���� ����%����� %������ ��A� ��"��%�����%��1����� I��

������ ; �����%����% ��$���J 2� Z ����� ���� ������6�∣∣∣∣∣∣
y1 y2 y3
y′1 y′2 y′3
y′′1 y′′2 y′′3

∣∣∣∣∣∣ =
∣∣∣∣∣∣
1 ex e−x

0 ex −e−x

0 ex e−x

∣∣∣∣∣∣ = exe−x + exe−x = 2 �= 0 (x ∈ R),

.�� %���� ���� 01����%����& ��!�� � ��A� ��"��%�����%�� �%�� ������ 2� �%3

������,

L�� � 9, �2��% ����� �� �����%�� �%��%���� ����%����

y = c1 + c2e
x + c3e

−x (x ∈ R),

��� :% ��� �� ��:�:�!��1��,



�� ������,,�
�(' ���
���� (���
�
�-���
��
��
�
� ���

�� n�������! 
������� ������
�� ��)�������
�
���
�	��

'�,�
&��� #������� ai, b : [a, b] → R (i = 1, . . . , n) ����� 0�%������

01��/2����& ���� ��

(�
n�) y(n) +
n∑

i=1

ai(x)y(n−i) = b(x)

��A� ��"��%�����%���� n��$���$# �������� ������
�� $�*���������

�

�������� ��/���1�,

+� ����	�  ����� yp 
�	���*��	�� �����"��� ��
n������� (� y ����	� 
�

���� ����	 �����"��� ��
n������� �� ��

yH : I → R, yH(x) = y(x) − yp(x)

���	��� "�/����� �����
�� �����"��� �� ��
n���$!� �

���� �
n�������

��������	
�

�J D� y 2� yp ����%����� I�
n�J3���& ���� �� y3 � 2� yp3 � 0�%. �

I�
n�J3� ��/��/� ������5$%

(y − yp)(n) +
n∑

i=1

ai(x)(y − yp)(n−i) = 0

��$���& ���� y − yp
.= yH /�%$5�� ����%���� I
n�J3���,

5J D� yp ����%���� I�
n�J3��� 2� yH ����%���� I
n�J3���& ���� �

�2� �����%�� 8��������� ����& !��� y
.= yH + yp �� ����%���� I�
n�J3

���, �

7����������!� D� yp I�
n�J ��� ������������ ��
��$���& y1, . . . , yn

����� I
n�J �%�� ������ �& ���� I�
n�J �%��%���� ����%����

y =
n∑

i=1

ciyi + yp .

D����� !��� ��!��$ ��� ypH

0� ����	 2� ���
���
�����	�
 ���
���� 2��n�3���3� �� y1, . . . , yn

�� ��
n���$!� �

���� �
n�� ���
	��"���	� 
� � ci : I → R (i = 1, . . . , n)

�����
���� ����
����� �

(�)
n∑

i=1

c′i(x)y
(j)
i (x) = 0 (j = 0, . . . , n−2),

n∑
i=1

c′i(x)y
(n−1)
i (x) = b(x)

��% ����� (���
�
�-���
��
��
�
�

��������	��"���	� I��� ����	

(�) yp : I → R, yp(x)
.=

n∑
i=1

ci(x)yi(x)

�����"��� ��
n�������

-��(��!��
���

+, I�J c′1, . . . , c′n3 � ��� ��!����2� %���� �� �����%�� ������ & ��%����

���� ������� � Z ������3���� ������& ��%� � W (x) �= 0 II3�J,

', I�
2�J ����2�

(�
2�) y′′ + a1(x)y′ + a2(x)y = b(x),

2� !� y1, y2 �%�� ������ & ���� I�J

(�′)
{

c′1(x)y1(x) + c′2(x)y2(x) = 0
c′1(x)y

′
1(x) + c′2(x)y

′
2(x) = b(x)

�%��E, �55:% �����

c′1(x) =

∣∣∣∣ 0 y2(x)
b(x) y′2(x)

∣∣∣∣
W (x)

= − b(x)y2(x)
W (y1, y2)

; c′2(x) =
b(x)y1(x)
W (y1, y2)

,
�%%��/�

c1(x) =
∫

− b(x)y2(x)
W (y1, y2)

dx; c2(x) =
∫

b(x)y1(x)
W (y1, y2)

dx

�8/�������, 
�/�55� ���� c1 2� c2 01��/2������% � �� ���6%� �� ���3

�%���

yp(x) = c1(x)y1(x) + c2(x)y2(x) (x ∈ I).

*�	��� ��

y′′ − 2y′ − 3y = e4x

I�
2�J3!�� �� ���$ !����2� �����%��G

y′′ − 2y′ − 3y = 0 .

����� �� ���� ������6� �����%���G

λ2 − 2λ− 3 = 0 ,

��%���� ����%���� λ1 = −1, λ2 = 3& .�� �%��%���� ����%����G

yH(x) = c1e
−x + c2e

3x (x ∈ R).
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�
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��
��
�
� ���


2��%1��& �%%��/� � ', ��������2� ��� ���

yP (x) = c1(x)e−x + c2(x)e3x (x ∈ R)

����%���� %��� I�
2�J3���& !� c′1 2� c′2 ��%���.�� �

c′1(x)e
−x + c′2(x)e

3x = 0

c′1(x)(−e−x) + c′2(x)3e
3x = e4x

%���� �� ��!����2� �����%�� ������ ���& ��%���� Z ����� ���� �������

W (x) =
∣∣∣∣ e−x e3x

−e−x 3e3x

∣∣∣∣ = 4e2x �= 0 ,

.�� I�2%��6% � � ��� 3���5�%%��%J ����6�& !���

c′1(x) =

∣∣∣∣ 0 e3x

e4x 3e3x

∣∣∣∣
4e2x

=
−e7x

4e2x
= −1

4
e5x (x ∈ R),

c′2(x) =

∣∣∣∣ e−x 0
−e−x e4x

∣∣∣∣
4e2x

=
e3x

4e2x
=

1
4
ex (x ∈ R).

�55:%

c1(x) = −1
4

∫
e5x dx = − 1

20
e5x ,

c2(x) =
1
4

∫
ex dx =

1
4
ex ,

��!��

yP (x) = − 1
20
e5x e−x +

1
4
ex e3x =

1
5
e4x (x ∈ R),

��� /�%$5�� ����%���� I�
2�J3���,

I�
2�J �%��%���� ����%���� .��

y(x) = c1 e
−x + c2 e

3x +
1
5
e4x (x ∈ R).

��� ����� (���
�
�-���
��
��
�
�

�� /������� ��)�������
�
���
�	�����������

'�,�
&��� #������� gij , ϕi : I → R (i, j = 1, . . . , n) 0�%������ 01��/23

����, �

(��
���) y′i +
n∑

j=1

gijyj = ϕi(x) (i = 1, . . . , n),

�%%��/� �� (y1, . . . , yn)� .= y, (ϕ1, . . . , ϕn)� .= ϕ, (gij)n×n
.= g ��%8%23

�����% �

(��
���′) y′ + g(x)y = ϕ

�����%�� ������ � �������� ������
�� $�*���������

���������$�����

���& �.� ��

(�
���) y′ + g(x)y = 0

�����%�� ������ � �������� ����
�� $�*���������

���������$����3

��� ��/���1�,

-��(��!��
���

+, I��
���J& �%%��/� I�
���J ����%�������� ���!��� ����� /�����/����3

!��: �� n3�� ���; %���� �� ��A� ��"��%�����%���� �%�2%��2 �,

', O�������� 8��%%$ �%�2%�� �� ����%���!��$& ��%� ��� �� ���%$���� �63

��� �� n3�� ���; %���� �� ��A� ��"��%�����%���� �%�2%��2/�%,

*�	��� ��

(�
)
{
y′1 − y1 − y2 = 0
y′2 − y1 − y2 = x

��A� ��"��%�����%��3 ������ �%�: ������%�2� ��A� ��"��%/� I�� �����%����

�����& !��� y1 2� y2 �� �2���� & �:� ��� !������ ��A� ��"��%!��$J

y′′1 − y′1 − y′2 = 0

�8/�������& ��%��� 8����!����%.�/� � ��A� ��"��%�����%��3 ������  �% �%�3

����%!��$ y′2 2� y2& 2� ��

y′′1 − 2y′1 = x

����� ���; �����������1��!��$� %���� �� ��!����2� ��A� ��"��%3

�����%�� ��$��� y13 �,



�� ������,,�
�(' ���
���� (���
�
�-���
��
��
�
� ���

� !����2� �����%�� �� ���� ������6� �����%���G λ2 − 2λ = 0& ��� ���� &

2� "��� ���� ��%���1%& !� λ1 = 0, λ2 = 2& ���5:% ����6�& !���

y1H(x) = c1 + c2e
2x (x ∈ R).


� ���1� y1p3�

y1p(x) = c1(x) + c2(x)e2x

�%��5��& �� ����%���& !� c′1(x) 2� c′2(x) ��%���.�� �

c′1(x) · 1 + c′2(x) · e2x = 0
c′1(x) · 0 + c′2(x) · 2e2x = x

}

�����%�� ������ �& ���5:% �8/�������& !���

c′1(x) =

∣∣∣∣0 e2x

x 2e2x

∣∣∣∣∣∣∣∣1 e2x

0 2e2x

∣∣∣∣
= −xe

2x

2e2x
= −x

2
=⇒ c1(x) = −x

2

4
,

c′2(x) =

∣∣∣∣1 0
0 x

∣∣∣∣
2e2x

=
x

2
e−2x =⇒ c2(x) =

x

4
e−2x − 1

8
e−2x .

L��

y1(x) = −x
2

4
− x

4
− 1

8
+ c1 + c2 e

2x

2�

y2(x) = y′1(x) − y1(x) =
x2

4
− x

4
− 1

8
− c1 + c2 e

2x .
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['\ ���	
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#
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��5 �"��& +**+,

[4\ �	
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�2���& ��5 �"��& '((4,

[9\ �	
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����� ���2���& ��5 �"��& '((4,

[)\ �	
�� ��& <���*�*� ??�& �������� �������& �� ����������� 2� ��3

0� ������� ���2���& ��5 �"��& '((4,

[<\ �	
�� ��& <���*�*� ?& ��5���Y
 �8��/�� & �� ��0� ������� ��3

�2���& ��5 �"��& '((4,& �%%��/� �� ����������� ���2���& ��5 �"��&

'((9,

[=\ ��� �� � ���
�� �� � �
��� ��& (������� ??�& �������� �������&

������� ����8��/����$& �6������& +**4,

[>\ ���
��  �& ( ����������� �������� ���
���& �;����� 
8��/����$&

�6������& +*=>,

��!
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